Course:	ACCT - 2010 001 - Accounting Principles I (Financial Accounting)	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	29 / 34 (85.29%)

_					Patricia '	Wynn		
Coui	se Evaluation Questions			Respor	ıses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	3 10.3%	12 41.4%	14 48.3%	29	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	14 48.3%	15 51.7%	29	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 3.4%	12 41.4%	16 55.2%	29	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	12 41.4%	17 58.6%	29	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 10.3%	11 37.9%	15 51.7%	29	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	5 17.2%	10 34.5%	14 48.3%	29	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 3.4%	11 37.9%	17 58.6%	29	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	9 31%	20 69%	29	4.7
Q9	My instructor encourages me to do my best work.	0	0	3 10.3%	8 27.6%	18 62.1%	29	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 6.9%	7 24.1%	20 69%	29	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 10.3%	9 31%	17 58.6%	29	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	7 24.1%	7 24.1%	15 51.7%	29	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	8 27.6%	7 24.1%	14 48.3%	29	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	7 24.1%	8 27.6%	14 48.3%	29	4.2

	Labs and Online Learning Questions				ACCT - 2	2010 - 001	Survey Comparisons				
Lab				Res	ponses (%	)	C	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	5 62.5%	3 37.5%	8	4.4	2.3K	4.3	49
Q16	The course topics are organized in a coherent fashion.	0	0	0	6 54.5%	5 45.5%	11	4.5	3.3K	4.4	47

Course:	ACCT - 2010 002 - Accounting Principles I (Financial Accounting)	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	25 / 34 (73.53%)

Com	se Evaluation Questions				Patrici	a Wynn		
Cour	se Evaluation Questions		Re	espon	ses (%)		Inc	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 8%	7 28%	16 64%	25	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 28%	18 72%	25	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	7 28%	18 72%	25	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 4%	7 28%	17 68%	25	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	9 36%	16 64%	25	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 4%	7 28%	17 68%	25	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 16%	21 84%	25	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 20%	20 80%	25	4.8
Q9	My instructor encourages me to do my best work.	0	0	2 8%	5 20%	18 72%	25	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 4%	3 12%	21 84%	25	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 20%	20 80%	25	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	7 28%	18 72%	25	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 4%	9 36%	15 60%	25	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 8%	11 44%	12 48%	25	4.4

	Labs and Online Learning Questions				ACCT - 20	Survey Comparisons					
Lal				Respo	nses (%)		C	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	2.3K	4.3	77
Q1	The course topics are organized in a coherent fashion.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6	3.3K	4.4	62

Course:	ACCT - 2010 003 - Accounting Principles I (Financial Accounting)	Department:	516100
Responsible Faculty:	Ernest Robinson	Responses / Expected:	10 / 28 (35.71%)

Com	rse Evaluation Ouestions			Er	nest Robi	nson		
Coui	se Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 10%	3 30%	6 60%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 40%	6 60%	10	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 40%	6 60%	10	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 10%	0	4 40%	5 50%	10	4.3
26	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	3 30%	6 60%	10	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 40%	6 60%	10	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 40%	6 60%	10	4.6
<b>Q</b> 9	My instructor encourages me to do my best work.	0	0	0	5 50%	5 50%	10	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 40%	6 60%	10	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	4 40%	5 50%	10	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	4 40%	5 50%	10	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	0	4 40%	5 50%	10	4.3

				,	ACCT - 2	2010 - 00	3		Survey Comparisons			
Lal	Labs and Online Learning Questions		Re	spo	nses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 75%	1 25%	4	4.3	2.3K	4.3	42	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	3.3K	4.4	51	

Course:	ACCT - 2020 001 - Accounting Principles II (Managerial Accounting)	Department:	516100
Responsible Faculty:	Cathy Scott	Responses / Expected:	15 / 26 (57.69%)

_					Cathy	Scott		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 20%	12 80%	15	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 20%	12 80%	15	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 20%	12 80%	15	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 20%	12 80%	15	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 20%	12 80%	15	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 26.7%	11 73.3%	15	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 28.6%	10 71.4%	14	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 20%	12 80%	15	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	4 26.7%	11 73.3%	15	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 26.7%	11 73.3%	15	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 26.7%	11 73.3%	15	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 26.7%	11 73.3%	15	4.7
214	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 20%	12 80%	15	4.8

				AC	ССТ	- 2020 - 0	01	Survey Comparisons				
Labs and Online Learning Questions			Resp	ons	ses (	(%)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	2.3K	4.3	90	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	3.3K	4.4	91	

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 3110 001 - Intermediate Accounting I	Department:	516100
Responsible Faculty:	Randall Hahn	Responses / Expected:	15 / 29 (51.72%)

۰	se Evaluation Questions			F	Randall Ha	ahn		
Cour	se Evaluation Questions			Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 6.7%	3 20%	11 73.3%	15	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 6.7%	4 26.7%	10 66.7%	15	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 6.7%	4 26.7%	10 66.7%	15	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	1 6.7%	2 13.3%	2 13.3%	10 66.7%	15	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 6.7%	4 26.7%	10 66.7%	15	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 6.7%	1 6.7%	3 20%	10 66.7%	15	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 33.3%	10 66.7%	15	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 6.7%	4 26.7%	10 66.7%	15	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	6 40%	9 60%	15	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 40%	9 60%	15	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	7 46.7%	8 53.3%	15	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ACCT - 3	110 - 001	Survey Comparisons				
Lal	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	2.3K	4.3	68
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	3.3K	4.4	70

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 3110 002 - Intermediate Accounting I	Department:	516100
Responsible Faculty:	Randall Hahn	Responses / Expected:	6 / 14 (42.86%)

_				Ran	dall Hahn	1		
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	2 33.3%	2 33.3%	1 16.7%	6	3.3
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0	2 33.3%	1 16.7%	2 33.3%	6	3.5
Q8	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8
Q9	My instructor encourages me to do my best work.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7
Q10	My instructor provides timely feedback to guide my progress.	2 33.3%	0	2 33.3%	1 16.7%	1 16.7%	6	2.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	1 16.7%	1 16.7%	2 33.3%	1 16.7%	6	3.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	0	2 33.3%	2 33.3%	1 16.7%	6	3.3
Q13	My instructor encourages me to develop new viewpoints.	1 20%	0	0	2 40%	2 40%	5	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	2 33.3%	0	1 16.7%	2 33.3%	1 16.7%	6	3.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ACCT	- 3110 - 0		Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%)					(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7	2.3K	4.3	13
Q10	The course topics are organized in a coherent fashion.	1 25%	0	1 25%	1 25%	1 25%	4	3.3	3.3K	4.4	8

Course:	ACCT - 3270 001 - Cost Accounting	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	20 / 25 (80%)

Cour	se Evaluation Questions				Patricia	Wynn		
Coui	SE LYGIUGION QUESTIONS		R	espons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	6 30%	14 70%	20	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 30%	14 70%	20	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 25%	15 75%	20	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	6 30%	14 70%	20	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5%	6 30%	13 65%	20	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 10%	4 20%	14 70%	20	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 20%	16 80%	20	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 5%	3 15%	16 80%	20	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 5%	6 30%	13 65%	20	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 20%	16 80%	20	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 25%	15 75%	20	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 30%	14 70%	20	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 10%	6 30%	12 60%	20	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 10%	6 30%	12 60%	20	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ACCT - 3	3270 - 001	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 33.3%	6 66.7%	9	4.7	2.3K	4.3	68
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 33.3%	8 66.7%	12	4.7	3.3K	4.4	65

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 3270 002 - Cost Accounting	Department:	516100
Responsible Faculty:	Cathy Scott	Responses / Expected:	9 / 23 (39.13%)

Com	rse Evaluation Questions				Cathy S	cott		
Cou	se Evaluation Questions		Res	pon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				-	ACCT - 3	270 - 00	2		Survey Comparisons				
			Re	spo	nses (%)	)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q15 The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	2.3K	4.3	73		
(	Q16 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.3K	4.4	73		

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 4100 001 - Accounting Systems	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	17 / 23 (73.91%)

				S	tephanie I	Mongiello		
Coui	rse Evaluation Questions			Respo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 17.6%	14 82.4%	17	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 23.5%	13 76.5%	17	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 17.6%	14 82.4%	17	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 17.6%	14 82.4%	17	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 17.6%	14 82.4%	17	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 17.6%	14 82.4%	17	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 18.8%	13 81.3%	16	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 23.5%	13 76.5%	17	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 5.9%	2 11.8%	14 82.4%	17	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 17.6%	14 82.4%	17	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 23.5%	13 76.5%	17	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 23.5%	13 76.5%	17	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 5.9%	4 23.5%	12 70.6%	17	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 29.4%	12 70.6%	17	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions					- 4100 - 0	01	Survey Comparisons			
Lab			Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	2.3K	4.3	90
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	9 100%	9	5.0	3.3K	4.4	91

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 4300 002 - Federal Income Taxation	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	15 / 30 (50%)

C	rse Evaluation Questions			s	tephanie I	Mongiello		
Cou	se Evaluation Questions			Respo	onses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	7 46.7%	8 53.3%	15	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 33.3%	10 66.7%	15	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 33.3%	10 66.7%	15	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	6 40%	9 60%	15	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	6 40%	9 60%	15	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 46.7%	8 53.3%	15	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	8 53.3%	7 46.7%	15	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	7 46.7%	8 53.3%	15	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 40%	9 60%	15	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 6.7%	6 40%	8 53.3%	15	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	7 46.7%	8 53.3%	15	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ACCT - 4	300 - 002	Survey Comparisons				
Labs	Labs and Online Learning Questions			Res	sponses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.3K	4.3	57
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	3.3K	4.4	65

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 4350 001 - Advanced Federal Income Taxation	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	8 / 11 (72.73%)

٥	on Fundantian Overstians				Stephani	e Mongiel	lo	
Cour	se Evaluation Questions			Resp	oonses (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	8 100%	8	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	8 100%	8	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	8 100%	8	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	7 100%	7	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	8 100%	8	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	8 100%	8	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	8 100%	8	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions					- 4350 - 0			Survey Comparisons			
Lab			Res	pons	ses	(%)	١ (	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.3K	4.3	90	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	3.3K	4.4	91	

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 4400 001 - Auditing Professional Responsibilities	Department:	516100
Responsible Faculty:	Randall Hahn	Responses / Expected:	14 / 20 (70%)

Cou	se Evaluation Questions		D.	Rai	ndall Hah	n	lna	lividual
				•	. ,			
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	7.1%	2 14.3%	3 21.4%	8 57.1%	14	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 7.1%	2 14.3%	3 21.4%	8 57.1%	14	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 7.1%	1 7.1%	4 28.6%	8 57.1%	14	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	1 7.1%	2 14.3%	3 21.4%	8 57.1%	14	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 14.3%	0	4 28.6%	8 57.1%	14	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 14.3%	2 14.3%	2 14.3%	8 57.1%	14	4.1
Q7	My instructor establishes a climate of respect for students.	0	1 7.1%	1 7.1%	3 21.4%	9 64.3%	14	4.4
Q8	My instructor is available to me on matters pertaining to the course.	1 7.1%	0	2 14.3%	3 21.4%	8 57.1%	14	4.2
Q9	My instructor encourages me to do my best work.	0	1 7.1%	1 7.1%	4 28.6%	8 57.1%	14	4.4
Q10	My instructor provides timely feedback to guide my progress.	1 7.1%	1 7.1%	1 7.1%	3 21.4%	8 57.1%	14	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 21.4%	3 21.4%	8 57.1%	14	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 7.1%	1 7.1%	4 28.6%	8 57.1%	14	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 23.1%	3 23.1%	7 53.8%	13	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 14.3%	0	4 28.6%	8 57.1%	14	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				A	CCT - 4400	0 - 001			Survey Comparisons					
Labs	Labs and Online Learning Questions		Responses (%)				(	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q15	The section or lab is well integrated into the course structure.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	2.3K	4.3	57			
Q16	The course topics are organized in a coherent fashion.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	3.3K	4.4	56			

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 4900 010 - Special Problems	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	8 / 8 (100%)

Cou	rse Evaluation Questions					ia Wynn		
			_		onses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	8 100%	8	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	8 100%	8	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	8 100%	8	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				A	ССТ	- 4900 - 0	10	Survey Comparisons				
			Res	pons	ses	(%)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	2.3K	4.3	90	
Q10	The course topics are organized in a coherent fashion.	0	0	0	0	8 100%	8	5.0	3.3K	4.4	91	

Course:	ACCT - 5020 010 - Accumulation and Analysis of Accounting Data	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	21 / 26 (80.77%)

				Pat	ricia Wyr	ın		
Cour	se Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	4 19%	3 14.3%	14 66.7%	21	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 4.8%	2 9.5%	6 28.6%	12 57.1%	21	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 9.5%	0	6 28.6%	13 61.9%	21	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	3 14.3%	0	6 28.6%	12 57.1%	21	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 9.5%	5 23.8%	2 9.5%	12 57.1%	21	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 9.5%	3 14.3%	16 76.2%	21	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 33.3%	14 66.7%	21	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	6 28.6%	15 71.4%	21	4.7
Q9	My instructor encourages me to do my best work.	0	1 4.8%	2 9.5%	5 23.8%	13 61.9%	21	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 4.8%	5 23.8%	15 71.4%	21	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 4.8%	2 9.5%	3 14.3%	15 71.4%	21	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 4.8%	4 19%	4 19%	12 57.1%	21	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	1 4.8%	5 23.8%	5 23.8%	10 47.6%	21	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 4.8%	2 9.5%	3 14.3%	4 19%	11 52.4%	21	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ACC	Γ - 5020 -		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 6.7%	1 6.7%	0	4 26.7%	9 60%	15	4.3	2.3K	4.3	43
Q16	The course topics are organized in a coherent fashion.	0	2 11.1%	1 5.6%	2 11.1%	13 72.2%	18	4.4	3.3K	4.4	46

Course:	AGER - 4500 040 - Long-Term Care Case Management with Older Adults	Department:	518000
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	10 / 24 (41.67%)

				Iftel	char Amir	1		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 20%	5 50%	3 30%	10	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	6 60%	3 30%	10	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 10%	5 50%	4 40%	10	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 20%	4 40%	4 40%	10	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 20%	3 30%	5 50%	10	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 20%	5 50%	3 30%	10	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	2 20%	5 50%	3 30%	10	4.1
Q8	My instructor is available to me on matters pertaining to the course.	1 11.1%	0	1 11.1%	6 66.7%	1 11.1%	9	3.7
Q9	My instructor encourages me to do my best work.	0	1 10%	3 30%	3 30%	3 30%	10	3.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 11.1%	3 33.3%	4 44.4%	1 11.1%	9	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	4 40%	3 30%	3 30%	10	3.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 30%	5 50%	2 20%	10	3.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 30%	4 40%	3 30%	10	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 30%	6 60%	1 10%	10	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					GER - 4500 ises (%)	Survey Comparisons All					
	s		D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	2.3K	4.3	31
Q16	The course topics are organized in a coherent fashion.	0	0	1 14.3%	5 71.4%	1 14.3%	7	4.0	3.3K	4.4	22

Course:	AGER - 4550 040 - Sociology of Aging	Department:	518000
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	8 / 20 (40%)

Com	se Evaluation Questions			Iff	tekhar Am	nin		
Coul	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 50%	4 50%	8	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 50%	4 50%	8	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				AGER - 4	550 - 040	Survey Comparisons				
Lab				Res	ponses (%)	Course			All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	2.3K	4.3	68
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	3.3K	4.4	65

Fall 2017 16 Week Survey
University of North Texas at Dallas
6178 - Fall 2017 - 1
UNT-Dallas

Course:	AGER - 4560 040 - Minority Aging	Department:	518000
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	3 / 10 (30%)

				If	tekhar Ar	nin		
Cour	se Evaluation Questions		Resp	ons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 33.3%	0	0	2 66.7%	0	3	3.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q4	My instructor provides material that helps me do well on assignments.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q7	My instructor establishes a climate of respect for students.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q8	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q9	My instructor encourages me to do my best work.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q10	My instructor provides timely feedback to guide my progress.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q13	My instructor encourages me to develop new viewpoints.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0	0	2 66.7%	0	3	3.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				AGE	R - 4	4560 - 040		Survey Comparisons			
Lab	s and Online Learning Questions	Responses (%)						Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.3K	4.3	90
Q1	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	3.3K	4.4	22

Course:	ART - 1300 012 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Leslie Needham	Responses / Expected:	25 / 35 (71.43%)

^	Further Constitute				Leslie Ne	edham		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	11 44%	14 56%	25	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 4%	9 36%	15 60%	25	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	10 40%	15 60%	25	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	13 52%	12 48%	25	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	12 48%	13 52%	25	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	16 64%	9 36%	25	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	1 4%	11 44%	13 52%	25	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 4%	11 44%	13 52%	25	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 4%	10 40%	14 56%	25	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 4.2%	13 54.2%	10 41.7%	24	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	10 40%	15 60%	25	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	13 54.2%	11 45.8%	24	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 4.2%	13 54.2%	10 41.7%	24	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 8%	9 36%	14 56%	25	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				Α	ART - 1300		Survey Comparisons				
L	Labs and Online Learning Questions			Respon	ıses (%)		(	Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	2.3K	4.3	75
q	16 The course topics are organized in a coherent fashion.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	3.3K	4.4	44

University of North Texas at Dallas UNT-Dallas

Course:	ART - 1300 013 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Rafael Molina	Responses / Expected:	12 / 19 (63.16%)

C	se Evaluation Questions				Rafael M	Iolina		
Cour	SE EVALUATION QUESTIONS			Respon	ıses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	6 50%	6 50%	12	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 41.7%	7 58.3%	12	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 8.3%	6 50%	5 41.7%	12	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	6 50%	5 41.7%	12	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	3 25%	9 75%	12	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 16.7%	6 50%	4 33.3%	12	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 8.3%	7 58.3%	4 33.3%	12	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 8.3%	5 41.7%	6 50%	12	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ART - 1	300 - 013			Su	Survey Comparisons			
Lal	Labs and Online Learning Questions		R	espo	nses (%	·)	(	Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.3K	4.3	90		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.3K	4.4	73		

	Course:	ART - 1300 014 - Art Appreciation for Non-Art Majors	Department:	514120
Respo	nsible Faculty:	Ayman Alamoudi	Responses / Expected:	10 / 19 (52.63%)

٠	se Evaluation Questions			Ayn	nan Alan	roudi		
Cour	se Evaluation Questions		Re	sponse	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 10%	2 20%	5 50%	2 20%	10	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	9 90%	1 10%	10	4.1
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	10 100%	0	10	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 30%	5 50%	2 20%	10	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	8 80%	1 10%	10	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 20%	2 20%	6 60%	0	10	3.4
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	7 70%	2 20%	10	4.1
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 20%	6 60%	2 20%	10	4.0
Q9	My instructor encourages me to do my best work.	0	0	2 20%	6 60%	2 20%	10	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 30%	6 60%	1 10%	10	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	6 60%	3 30%	10	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	6 60%	2 20%	10	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	8 80%	1 10%	10	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	1 10%	6 60%	2 20%	10	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ART - 130	0 - 01	4		Survey Comparisons			
Lab	Labs and Online Learning Questions		Re	spo	nses (%)		(	Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	2.3K	4.3	31	
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 100%	0	2	4.0	3.3K	4.4	22	

University of North Texas at Dallas UNT-Dallas

Course:	ART - 1300 015 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Rafael Molina	Responses / Expected:	16 / 32 (50%)

<b>^</b>	Forbusting Occupiers				Rafael M	Iolina		
Coui	se Evaluation Questions			Respon	ıses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 18.8%	13 81.3%	16	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 6.3%	15 93.8%	16	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	2 12.5%	1 6.3%	13 81.3%	16	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 6.3%	2 12.5%	13 81.3%	16	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 12.5%	0	14 87.5%	16	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 6.3%	1 6.3%	14 87.5%	16	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				Α	RT -	1300 - 01	15		Survey Comparisons			
La	s and Online Learning Questions		Res	pons	ses	(%)		Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.3K	4.3	90	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	3.3K	4.4	91	

University of North Texas at Dallas UNT-Dallas

Cours	e: ART - 1300 031 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Facul	r: Pamela Harris	Responses / Expected:	16 / 30 (53.33%)

Cour	se Evaluation Questions		R	Pa esponse	mela Har s (%)	ris	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 6.3%	0	1 6.3%	6 37.5%	8 50%	16	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 6.3%	4 25%	11 68.8%	16	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 6.3%	0	1 6.3%	4 25%	10 62.5%	16	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 6.3%	0	0	4 25%	11 68.8%	16	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.3%	0	2 12.5%	5 31.3%	8 50%	16	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.3%	0	1 6.3%	7 43.8%	7 43.8%	16	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5
Q8	My instructor is available to me on matters pertaining to the course.	1 6.3%	0	1 6.3%	7 43.8%	7 43.8%	16	4.2
Q9	My instructor encourages me to do my best work.	1 6.3%	0	0	6 37.5%	9 56.3%	16	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	1 6.3%	1 6.3%	5 31.3%	9 56.3%	16	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 6.3%	0	0	8 50%	7 43.8%	16	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 6.3%	0	1 6.3%	7 43.8%	7 43.8%	16	4.2
Q13	My instructor encourages me to develop new viewpoints.	1 6.3%	0	2 12.5%	6 37.5%	7 43.8%	16	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 6.3%	0	2 12.5%	5 31.3%	8 50%	16	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ART - 13	00 - 031		Survey Comparisons			
Lal	s and Online Learning Questions	Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 9.1%	0	0	3 27.3%	7 63.6%	11	4.4	2.3K	4.3	48
Q1	The course topics are organized in a coherent fashion.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5	3.3K	4.4	47

University of North Texas at Dallas UNT-Dallas

Course:	ART - 1300 033 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	3 / 11 (27.27%)

Cou	rse Evaluation Questions					la Harris		
				Res	oonses (%	.)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				Α	RT -	1300 - 03	33		Survey Comparisons			
La	bs and Online Learning Questions		Res	pons	ses	(%)		Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.3K	4.3	90	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	3.3K	4.4	91	

Course:	BCIS - 2610 001 - Introduction to Computers in Business	Department:	516100
Responsible Faculty:	Richard Wallace	Responses / Expected:	15 / 30 (50%)

٥				Richa	rd Wallac	e		
Coui	rse Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 6.7%	1 6.7%	1 6.7%	7 46.7%	5 33.3%	15	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 6.7%	0	2 13.3%	6 40%	6 40%	15	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 6.7%	2 13.3%	2 13.3%	7 46.7%	3 20%	15	3.6
Q4	My instructor provides material that helps me do well on assignments.	1 6.7%	1 6.7%	2 13.3%	7 46.7%	4 26.7%	15	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.7%	0	1 6.7%	8 53.3%	5 33.3%	15	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.7%	3 20%	4 26.7%	4 26.7%	3 20%	15	3.3
Q7	My instructor establishes a climate of respect for students.	1 6.7%	0	1 6.7%	4 26.7%	9 60%	15	4.3
Q8	My instructor is available to me on matters pertaining to the course.	3 20%	1 6.7%	2 13.3%	5 33.3%	4 26.7%	15	3.4
Q9	My instructor encourages me to do my best work.	1 6.7%	0	6 40%	3 20%	5 33.3%	15	3.7
Q10	My instructor provides timely feedback to guide my progress.	4 28.6%	1 7.1%	3 21.4%	2 14.3%	4 28.6%	14	3.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 6.7%	0	0	6 40%	8 53.3%	15	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 6.7%	0	0	12 80%	2 13.3%	15	3.9
Q13	My instructor encourages me to develop new viewpoints.	1 6.7%	1 6.7%	4 26.7%	6 40%	3 20%	15	3.6
Q14	My instructor made the subject interesting and motivated me to learn.	2 13.3%	2 13.3%	3 20%	6 40%	2 13.3%	15	3.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			ВС	IS - 261	0 - 001	Survey Comparisons				
Labs			R	esponse	es (%)		C	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	2 25%	0	0	4 50%	2 25%	8	3.5	2.3K	4.3	18
Q16	The course topics are organized in a coherent fashion.	1 10%	0	2 20%	4 40%	3 30%	10	3.8	3.3K	4.4	15

Cour	e: BCIS - 2610 002 - Introduction to Computers in Business	Department:	516100
Responsible Facu	y: Richard Wallace	Responses / Expected:	14 / 26 (53.85%)

٥	Forduction Occasions			Rich	ard Walla	ice		
Cou	se Evaluation Questions		Re	esponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 7.1%	2 14.3%	4 28.6%	7 50%	14	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 7.1%	2 14.3%	2 14.3%	9 64.3%	14	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 7.1%	3 21.4%	4 28.6%	6 42.9%	14	4.1
Q4	My instructor provides material that helps me do well on assignments.	0	1 7.1%	3 21.4%	3 21.4%	7 50%	14	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 21.4%	5 35.7%	6 42.9%	14	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.1%	0	4 28.6%	4 28.6%	5 35.7%	14	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 14.3%	4 28.6%	8 57.1%	14	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 14.3%	5 35.7%	7 50%	14	4.4
Q10	My instructor provides timely feedback to guide my progress.	2 14.3%	1 7.1%	2 14.3%	4 28.6%	5 35.7%	14	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 7.1%	6 42.9%	7 50%	14	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 21.4%	5 35.7%	6 42.9%	14	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 21.4%	5 35.7%	6 42.9%	14	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	2 14.3%	1 7.1%	2 14.3%	3 21.4%	6 42.9%	14	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	CIS - 2610	Survey Comparisons					
La	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0	2.3K	4.3	31
Q1	The course topics are organized in a coherent fashion.	0	0	2 25%	4 50%	2 25%	8	4.0	3.3K	4.4	22

University of North Texas at Dallas UNT-Dallas

Course:	BCIS - 3610 010 - Basic Information Systems	Department:	516100
Responsible Faculty:	Theodore Larson	Responses / Expected:	25 / 41 (60.98%)

Cour	se Evaluation Questions				Theodore	Larson	Inc	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 4%	1 4%	9 36%	14 56%	25	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 12%	7 28%	15 60%	25	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 4%	8 32%	16 64%	25	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 8%	7 28%	16 64%	25	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 12%	6 24%	16 64%	25	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 4%	7 28%	17 68%	25	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 4%	5 20%	19 76%	25	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	8 32%	17 68%	25	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 4%	8 32%	16 64%	25	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 4%	1 4%	7 28%	16 64%	25	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	8 32%	17 68%	25	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 4.2%	6 25%	17 70.8%	24	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 4%	8 32%	16 64%	25	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 8.7%	4 17.4%	17 73.9%	23	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BCIS - 361	0 - 010	Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)					ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	5 29.4%	12 70.6%	17	4.7	2.3K	4.3	71
Q	The course topics are organized in a coherent fashion.	0	0	1 4.8%	6 28.6%	14 66.7%	21	4.6	3.3K	4.4	60

University of North Texas at Dallas UNT-Dallas

Course:	BCIS - 3610 011 - Basic Information Systems	Department:	516100
Responsible Faculty:	Theodore Larson	Responses / Expected:	19 / 35 (54.29%)

Cour	se Evaluation Questions			Th	eodore La	irson		
Cour	se Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 11.1%	0	2 11.1%	6 33.3%	8 44.4%	18	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 10.5%	0	0	8 42.1%	9 47.4%	19	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 10.5%	0	1 5.3%	5 26.3%	11 57.9%	19	4.2
Q4	My instructor provides material that helps me do well on assignments.	2 10.5%	0	1 5.3%	6 31.6%	10 52.6%	19	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 10.5%	0	2 10.5%	6 31.6%	9 47.4%	19	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 10.5%	0	1 5.3%	5 26.3%	11 57.9%	19	4.2
Q7	My instructor establishes a climate of respect for students.	1 5.3%	0	1 5.3%	6 31.6%	11 57.9%	19	4.4
Q8	My instructor is available to me on matters pertaining to the course.	2 11.1%	0	1 5.6%	4 22.2%	11 61.1%	18	4.2
Q9	My instructor encourages me to do my best work.	2 10.5%	0	0	5 26.3%	12 63.2%	19	4.3
Q10	My instructor provides timely feedback to guide my progress.	2 10.5%	0	0	6 31.6%	11 57.9%	19	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5.3%	0	0	6 31.6%	12 63.2%	19	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 10.5%	0	0	5 26.3%	12 63.2%	19	4.3
Q13	My instructor encourages me to develop new viewpoints.	2 10.5%	0	0	5 26.3%	12 63.2%	19	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	2 10.5%	0	1 5.3%	4 21.1%	12 63.2%	19	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	ICIS - 3610		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q.	The section or lab is well integrated into the course structure.	1 6.7%	0	1 6.7%	5 33.3%	8 53.3%	15	4.3	2.3K	4.3	43
Q.	The course topics are organized in a coherent fashion.	1 6.7%	0	1 6.7%	5 33.3%	8 53.3%	15	4.3	3.3K	4.4	37

University of North Texas at Dallas UNT-Dallas

Course:	BCIS - 4660 010 - Introduction to Data Warehousing	Department:	516100
Responsible Faculty:	Theodore Larson	Responses / Expected:	10 / 18 (55.56%)

Cour	rse Evaluation Questions		R	Th espons	eodore L es (%)	arson	Inc	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 10%	0	2 20%	1 10%	6 60%	10	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	0	2 20%	7 70%	10	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	0	3 30%	6 60%	10	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	0	2 20%	7 70%	10	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 40%	6 60%	10	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	2 20%	7 70%	10	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	1 10%	8 80%	10	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 20%	8 80%	10	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	2 20%	7 70%	10	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	2 20%	7 70%	10	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	1 10%	7 70%	10	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	1 10%	1 10%	1 10%	7 70%	10	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					BCIS - 4	660 - 010	Survey Comparisons				
				Res	ponses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	2.3K	4.3	73
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	3.3K	4.4	80

University of North Texas at Dallas UNT-Dallas

Course:	BIOC - 3300 030 - Elementary Biochemistry	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	1 / 7 (14.29%)

Cour	se Evaluation Questions				amn ses	ned Yous		lin dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ВІ	ОС	- 3300 - 0	30		Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	2.3K	4.3	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	3.3K	4.4	91		

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1082 001 - Biology for Educators	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	10 / 23 (43.48%)

C	se Evaluation Questions				Kelly Var	ga		
Cour	se Evaluation Questions		R	espons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 10%	1 10%	8 80%	10	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	1 10%	2 20%	6 60%	10	4.2
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	0	3 30%	6 60%	10	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	1 10%	8 80%	10	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	0	3 30%	6 60%	10	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 30%	7 70%	10	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	3 30%	6 60%	10	4.5
Q9	My instructor encourages me to do my best work.	0	1 10%	0	2 20%	7 70%	10	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	0	4 40%	5 50%	10	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 40%	6 60%	10	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	3 30%	6 60%	10	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	3 30%	6 60%	10	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	2 20%	7 70%	10	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	IOL - 1082	Survey Comparisons					
La	Labs and Online Learning Questions		Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	3 37.5%	4 50%	1 12.5%	8	3.8	2.3K	4.3	23
Q1	The course topics are organized in a coherent fashion.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2	3.3K	4.4	33

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1082 301 - Biology for Educators	Department:	514140
Responsible Faculty:	Jessica Chiou	Responses / Expected:	10 / 23 (43.48%)

Cour	es Evaluation Questions			Je	ssica C	hiou		
Course Evaluation Questions  Responses (%)  SD D N A SA								
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 20%	1 10%	5 50%	2 20%	10	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 10%	1 10%	6 60%	2 20%	10	3.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	7 70%	3 30%	10	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	2 20%	4 40%	3 30%	10	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	4 40%	3 30%	3 30%	10	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	2 20%	4 40%	3 30%	10	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	3 30%	6 60%	10	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 20%	4 40%	4 40%	10	4.2
Q9	My instructor encourages me to do my best work.	0	0	3 30%	3 30%	4 40%	10	4.1
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	1 10%	6 60%	2 20%	10	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	5 50%	4 40%	10	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	4 40%	4 40%	10	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 30%	3 30%	4 40%	10	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	3 30%	2 20%	4 40%	10	3.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BIOL	- 1082		Survey Comparisons				
Labs	s and Online Learning Questions	Responses (%)					С	ourse		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	2 20%	3 30%	3 30%	2 20%	10	3.5	2.3K	4.3	18
Q16	The course topics are organized in a coherent fashion.	1 10%	1 10%	3 30%	3 30%	2 20%	10	3.4	3.3K	4.4	10

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1132 001 - Environmental Science	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	19 / 45 (42.22%)

C	Traduction Organisms			ı	Kelly Varg	ja		
Coui	se Evaluation Questions		Re	esponse	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 5.3%	0	0	3 15.8%	15 78.9%	19	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.3%	0	0	3 15.8%	15 78.9%	19	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 5.3%	1 5.3%	0	4 21.1%	13 68.4%	19	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 5.6%	1 5.6%	0	4 22.2%	12 66.7%	18	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.3%	0	0	3 15.8%	15 78.9%	19	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5.3%	0	0	5 26.3%	13 68.4%	19	4.5
Q7	My instructor establishes a climate of respect for students.	1 5.3%	0	0	5 26.3%	13 68.4%	19	4.5
Q8	My instructor is available to me on matters pertaining to the course.	1 5.3%	0	0	4 21.1%	14 73.7%	19	4.6
Q9	My instructor encourages me to do my best work.	1 5.3%	0	0	4 21.1%	14 73.7%	19	4.6
Q10	My instructor provides timely feedback to guide my progress.	1 5.3%	0	1 5.3%	4 21.1%	13 68.4%	19	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5.3%	0	0	3 15.8%	15 78.9%	19	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5.3%	0	0	4 21.1%	14 73.7%	19	4.6
Q13	My instructor encourages me to develop new viewpoints.	1 5.3%	0	0	4 21.1%	14 73.7%	19	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.6%	0	0	3 16.7%	14 77.8%	18	4.6

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \$ 

				BIOL -		Survey Comparisons					
La	bs and Online Learning Questions	Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	1 11.1%	1 11.1%	0	2 22.2%	5 55.6%	9	4.0	2.3K	4.3	31
Q	The course topics are organized in a coherent fashion.	1 11.1%	0	1 11.1%	3 33.3%	4 44.4%	9	4.0	3.3K	4.4	22

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1132 002 - Environmental Science	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	9 / 23 (39.13%)

<b>^</b>	Further the Constitute			Iren	e Rodrigu	ez Virger	1	
Coui	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 66.7%	3 33.3%	9	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 50%	4 50%	8	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					BIOL - 1	132 - 002	Survey Comparisons				
				Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	4 50%	4 50%	8	4.5	2.3K	4.3	57
Q16	The course topics are organized in a coherent fashion.	0	0	0	5 62.5%	3 37.5%	8	4.4	3.3K	4.4	43

Course:	BIOL - 1132 030 - Environmental Science	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	8 / 29 (27.59%)

Cour	se Evaluation Questions				nna Hami	lton		
			I	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 50%	4 50%	8	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 50%	4 50%	8	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 25%	2 25%	4 50%	8	4.3
Q9	My instructor encourages me to do my best work.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	3 42.9%	1 14.3%	2 28.6%	7	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 50%	4 50%	8	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BIOL - 1	132 - 030	Survey Comparisons				
La	Labs and Online Learning Questions			Res	esponses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 28.6%	5 71.4%	7	4.7	2.3K	4.3	71
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	3.3K	4.4	70

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1132 301 - Environmental Science	Department:	514140
Responsible Faculty:	Jessica Chiou	Responses / Expected:	13 / 23 (56.52%)

Cou	rse Evaluation Questions		Re	Jes esponses	sica Chic	ou	Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 7.7%	1 7.7%	2 15.4%	2 15.4%	7 53.8%	13	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.7%	0	3 23.1%	2 15.4%	7 53.8%	13	4.1
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 15.4%	4 30.8%	7 53.8%	13	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 15.4%	4 30.8%	7 53.8%	13	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.7%	1 7.7%	2 15.4%	2 15.4%	7 53.8%	13	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 15.4%	2 15.4%	2 15.4%	7 53.8%	13	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	1 7.7%	6 46.2%	6 46.2%	13	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	1 7.7%	1 7.7%	3 23.1%	8 61.5%	13	4.4
Q9	My instructor encourages me to do my best work.	0	0	3 23.1%	3 23.1%	7 53.8%	13	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 23.1%	4 30.8%	6 46.2%	13	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 7.7%	2 15.4%	3 23.1%	7 53.8%	13	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	4 30.8%	2 15.4%	7 53.8%	13	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	1 7.7%	4 30.8%	1 7.7%	7 53.8%	13	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 7.7%	2 15.4%	3 23.1%	7 53.8%	13	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				BIC	)L - 1132 -		Survey Comparisons				
		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	2 15.4%	0	3 23.1%	8 61.5%	13	4.3	2.3K	4.3	44
Q	The course topics are organized in a coherent fashion.	0	1 7.7%	1 7.7%	5 38.5%	6 46.2%	13	4.2	3.3K	4.4	34

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1132 302 - Environmental Science	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	9 / 23 (39.13%)

_				Iren	ne Rodrigu	ıez Virger	1	
Coui	se Evaluation Questions			Respor	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	6 66.7%	3 33.3%	9	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q9	My instructor encourages me to do my best work.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 50%	4 50%	8	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BIOL - 1	132 - 302	Survey Comparisons				
La	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 37.5%	5 62.5%	8	4.6	2.3K	4.3	65
Q1	The course topics are organized in a coherent fashion.	0	0	0	4 50%	4 50%	8	4.5	3.3K	4.4	51

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1132 303 - Environmental Science	Department:	514140
Responsible Faculty:	Jessica Chiou	Responses / Expected:	7 / 22 (31.82%)

<b>^</b>	Further the Constitute				Jessica (	Chiou		
Coui	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions		BIOL - 1132 - 303							Survey Comparisons				
		Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	2.3K	4.3	90		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	3.3K	4.4	91		

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1132 330 - Environmental Science	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	9 / 29 (31.03%)

Cour	se Evaluation Questions			Do	nna Ham	ilton		
Cour	se Evaluation Questions			Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 33.3%	2 22.2%	4 44.4%	9	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q9	My instructor encourages me to do my best work.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 11.1%	0	3 33.3%	3 33.3%	2 22.2%	9	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BIOL - 1	132 - 330	Survey Comparisons				
Labs and Online Learning Questions				Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 25%	6 75%	8	4.8	2.3K	4.3	73
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	3.3K	4.4	80

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1710 009 - Biology for Science Majors I	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	28 / 43 (65.12%)

	Forduction Occasions			Ke	elly Varga	1		
Cour	se Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	3 10.7%	1 3.6%	1 3.6%	11 39.3%	12 42.9%	28	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 7.1%	0	1 3.6%	8 28.6%	17 60.7%	28	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	5 18.5%	2 7.4%	3 11.1%	6 22.2%	11 40.7%	27	3.6
Q4	My instructor provides material that helps me do well on assignments.	3 10.7%	1 3.6%	6 21.4%	7 25%	11 39.3%	28	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 7.1%	2 7.1%	1 3.6%	6 21.4%	17 60.7%	28	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 11.1%	2 7.4%	3 11.1%	10 37%	9 33.3%	27	3.7
Q7	My instructor establishes a climate of respect for students.	2 7.1%	0	0	8 28.6%	18 64.3%	28	4.4
Q8	My instructor is available to me on matters pertaining to the course.	2 7.1%	1 3.6%	1 3.6%	6 21.4%	18 64.3%	28	4.3
Q9	My instructor encourages me to do my best work.	2 7.1%	0	0	7 25%	19 67.9%	28	4.5
Q10	My instructor provides timely feedback to guide my progress.	2 7.1%	2 7.1%	0	10 35.7%	14 50%	28	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 7.1%	0	1 3.6%	8 28.6%	17 60.7%	28	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 7.1%	0	1 3.6%	7 25%	18 64.3%	28	4.4
Q13	My instructor encourages me to develop new viewpoints.	2 7.1%	0	1 3.6%	8 28.6%	17 60.7%	28	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	2 7.1%	0	3 10.7%	8 28.6%	15 53.6%	28	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				BI	OL - 1710		Survey Comparisons				
		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	2 20%	0	0	5 50%	3 30%	10	3.7	2.3K	4.3	22
Q1	The course topics are organized in a coherent fashion.	2 16.7%	0	1 8.3%	4 33.3%	5 41.7%	12	3.8	3.3K	4.4	16

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1710 010 - Biology for Science Majors I	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	20 / 44 (45.45%)

٥	Forbutton Occations			Donna	a Hamilto	on		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	4 20%	4 20%	4 20%	5 25%	3 15%	20	3.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	3 15%	2 10%	3 15%	9 45%	3 15%	20	3.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 5%	0	4 20%	12 60%	3 15%	20	3.8
Q4	My instructor provides material that helps me do well on assignments.	2 10%	1 5%	6 30%	8 40%	3 15%	20	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 10%	4 20%	4 20%	7 35%	3 15%	20	3.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 15.8%	4 21.1%	3 15.8%	6 31.6%	3 15.8%	19	3.1
Q7	My instructor establishes a climate of respect for students.	1 5%	1 5%	2 10%	10 50%	6 30%	20	4.0
Q8	My instructor is available to me on matters pertaining to the course.	1 5%	0	2 10%	12 60%	5 25%	20	4.0
Q9	My instructor encourages me to do my best work.	1 5%	1 5%	4 20%	8 40%	6 30%	20	3.9
Q10	My instructor provides timely feedback to guide my progress.	2 10%	0	5 25%	9 45%	4 20%	20	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 10%	0	4 20%	10 50%	4 20%	20	3.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5%	5 25%	1 5%	8 40%	5 25%	20	3.6
Q13	My instructor encourages me to develop new viewpoints.	2 10%	2 10%	3 15%	8 40%	5 25%	20	3.6
Q14	My instructor made the subject interesting and motivated me to learn.	4 20%	2 10%	5 25%	6 30%	3 15%	20	3.1

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				BIOL	- 1710 -		Survey Comparisons				
		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 9.1%	3 27.3%	6 54.5%	1 9.1%	11	3.6	2.3K	4.3	20
Q1	The course topics are organized in a coherent fashion.	1 7.7%	1 7.7%	3 23.1%	6 46.2%	2 15.4%	13	3.5	3.3K	4.4	11

Course:	BIOL - 1730 004 - Biology for Science Majors I Laboratory	Department:	514140
Responsible Faculty:	Kito Barrow	Responses / Expected:	11 / 21 (52.38%)

٠	se Evaluation Questions				Kito Barro	w		
Cour	se evaluation questions			Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 45.5%	6 54.5%	11	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 45.5%	6 54.5%	11	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 9.1%	2 18.2%	1 9.1%	7 63.6%	11	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 27.3%	1 9.1%	7 63.6%	11	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 36.4%	7 63.6%	11	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

University of North Texas at Dallas UNT-Dallas

					BIOL - 1	730 - 004	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 11.1%	8 88.9%	9	4.9	2.3K	4.3	79
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 33.3%	6 66.7%	9	4.7	3.3K	4.4	65

Course:	BIOL - 1730 009 - Biology for Science Majors I Laboratory	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	12 / 20 (60%)

C	on Fundation Questions			Irene R	odriguez	Virgen		
Coui	se Evaluation Questions		R	esponse	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 8.3%	0	2 16.7%	6 50%	3 25%	12	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	1 8.3%	6 50%	4 33.3%	12	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 8.3%	1 8.3%	2 16.7%	4 33.3%	4 33.3%	12	3.8
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	1 8.3%	4 33.3%	3 25%	3 25%	12	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	0	3 25%	4 33.3%	4 33.3%	12	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 8.3%	0	0	7 58.3%	4 33.3%	12	4.1
Q7	My instructor establishes a climate of respect for students.	1 8.3%	0	0	5 41.7%	6 50%	12	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 8.3%	0	0	5 41.7%	6 50%	12	4.3
Q9	My instructor encourages me to do my best work.	1 8.3%	0	0	7 58.3%	4 33.3%	12	4.1
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	1 8.3%	2 16.7%	5 41.7%	3 25%	12	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 8.3%	0	1 8.3%	5 41.7%	5 41.7%	12	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 8.3%	0	2 16.7%	5 41.7%	4 33.3%	12	3.9
Q13	My instructor encourages me to develop new viewpoints.	1 8.3%	0	2 16.7%	5 41.7%	4 33.3%	12	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	1 8.3%	2 16.7%	4 33.3%	4 33.3%	12	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BIOL	- 1730 -	Survey Comparisons					
Lal	Labs and Online Learning Questions		Responses (%)							All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 9.1%	2 18.2%	0	4 36.4%	4 36.4%	11	3.7	2.3K	4.3	22
Q1	The course topics are organized in a coherent fashion.	1 9.1%	0	1 9.1%	6 54.5%	3 27.3%	11	3.9	3.3K	4.4	18

Course:	BIOL - 1730 010 - Biology for Science Majors I Laboratory	Department:	514140
Responsible Faculty:	Kito Barrow	Responses / Expected:	7 / 22 (31.82%)

Com	se Evaluation Questions			K	(ito Barro	w		
Coul	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			BIOL -	- 1730 - 01		Survey Comparisons				
La			Responses (%)							All	
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0	2.3K	4.3	31
Q1	The course topics are organized in a coherent fashion.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	3.3K	4.4	41

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 1730 011 - Biology for Science Majors I Laboratory	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	16 / 22 (72.73%)

C	rse Evaluation Questions			Irene R	odriguez	Virgen		
Coul	se Evaluation Questions		R	esponse	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 6.3%	1 6.3%	0	10 62.5%	4 25%	16	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 6.3%	0	1 6.3%	9 56.3%	5 31.3%	16	4.1
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 6.3%	0	1 6.3%	10 62.5%	4 25%	16	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 6.3%	0	1 6.3%	12 75%	2 12.5%	16	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.7%	1 6.7%	1 6.7%	9 60%	3 20%	15	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.3%	0	2 12.5%	11 68.8%	2 12.5%	16	3.8
Q7	My instructor establishes a climate of respect for students.	0	1 6.3%	1 6.3%	8 50%	6 37.5%	16	4.2
Q8	My instructor is available to me on matters pertaining to the course.	1 6.3%	0	1 6.3%	8 50%	6 37.5%	16	4.1
Q9	My instructor encourages me to do my best work.	1 6.3%	0	0	9 56.3%	6 37.5%	16	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 6.7%	1 6.7%	1 6.7%	8 53.3%	4 26.7%	15	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 6.3%	0	0	8 50%	7 43.8%	16	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 6.3%	0	1 6.3%	9 56.3%	5 31.3%	16	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 6.3%	1 6.3%	0	11 68.8%	3 18.8%	16	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	1 6.3%	0	1 6.3%	9 56.3%	5 31.3%	16	4.1

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BIOL	- 1730 -		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)							All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 7.7%	1 7.7%	1 7.7%	3 23.1%	7 53.8%	13	4.1	2.3K	4.3	36
Q10	The course topics are organized in a coherent fashion.	1 6.7%	0	2 13.3%	5 33.3%	7 46.7%	15	4.1	3.3K	4.4	29

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 2041 030 - Microbiology	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	7 / 27 (25.93%)

Cou	se Evaluation Questions				ıbrey Fran	ntz		
				Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 14.3%	1 14.3%	3 42.9%	2 28.6%	7	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 28.6%	1 14.3%	2 28.6%	2 28.6%	7	3.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	3 42.9%	1 14.3%	3 42.9%	7	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	1 14.3%	3 42.9%	2 28.6%	7	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 28.6%	1 14.3%	2 28.6%	2 28.6%	7	3.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q9	My instructor encourages me to do my best work.	0	0	4 57.1%	0	3 42.9%	7	3.9
Q10	My instructor provides timely feedback to guide my progress.	0	2 28.6%	1 14.3%	1 14.3%	3 42.9%	7	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 42.9%	1 14.3%	3 42.9%	7	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BIOL	2041 - (		Survey Comparisons				
Lal	s and Online Learning Questions		Responses (%)				Responses (%) Course				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8	2.3K	4.3	25
Q1	The course topics are organized in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3	3.3K	4.4	41

Course:	BIOL - 2042 001 - Microbiology Laboratory	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	8 / 24 (33.33%)

_				Donn	a Hamilto	n		
Cou	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 25%	1 12.5%	3 37.5%	2 25%	0	8	2.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 25%	0	2 25%	3 37.5%	1 12.5%	8	3.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 25%	0	2 25%	4 50%	0	8	3.0
Q4	My instructor provides material that helps me do well on assignments.	2 25%	1 12.5%	1 12.5%	4 50%	0	8	2.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 25%	0	2 25%	4 50%	0	8	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 25%	0	3 37.5%	2 25%	1 12.5%	8	3.0
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	3 37.5%	2 25%	2 25%	8	3.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	3 37.5%	3 37.5%	2 25%	8	3.9
Q9	My instructor encourages me to do my best work.	0	2 25%	2 25%	2 25%	2 25%	8	3.5
Q10	My instructor provides timely feedback to guide my progress.	1 12.5%	1 12.5%	2 25%	2 25%	2 25%	8	3.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	1 12.5%	2 25%	2 25%	2 25%	8	3.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 25%	0	2 25%	2 25%	2 25%	8	3.3
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	1 12.5%	2 25%	2 25%	2 25%	8	3.4
Q14	My instructor made the subject interesting and motivated me to learn.	3 37.5%	1 12.5%	1 12.5%	1 12.5%	2 25%	8	2.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Lob	s and Online Learning Questions			BIOL -	Survey Comparisons							
Lab	s and Online Learning Questions		Re	sponses	(%)		Course			All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	2 25%	1 12.5%	2 25%	2 25%	1 12.5%	8	2.9	2.3K	4.3	13	
Q16	The course topics are organized in a coherent fashion.	1 14.3%	2 28.6%	1 14.3%	3 42.9%	0	7	2.9	3.3K	4.4	6	

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 2301 030 - Human Anatomy and Physiology I	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	11 / 24 (45.83%)

Cou	se Evaluation Questions		_		rey Fran	tz		
			Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 9.1%	0	2 18.2%	8 72.7%	0	11	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 63.6%	4 36.4%	11	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	0	0	7 63.6%	3 27.3%	11	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 9.1%	0	1 9.1%	7 63.6%	2 18.2%	11	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 18.2%	6 54.5%	3 27.3%	11	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	2 18.2%	0	7 63.6%	1 9.1%	11	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	7 63.6%	3 27.3%	11	4.2
Q8	My instructor is available to me on matters pertaining to the course.	1 9.1%	0	0	10 90.9%	0	11	3.7
Q9	My instructor encourages me to do my best work.	0	1 9.1%	2 18.2%	7 63.6%	1 9.1%	11	3.7
Q10	My instructor provides timely feedback to guide my progress.	1 9.1%	1 9.1%	3 27.3%	5 45.5%	1 9.1%	11	3.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	9 81.8%	1 9.1%	11	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 18.2%	7 63.6%	2 18.2%	11	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 27.3%	7 63.6%	1 9.1%	11	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 9.1%	2 18.2%	7 63.6%	1 9.1%	11	3.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				В	IOL - 2301	Survey Comparisons					
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
<b>Q15</b> The	e section or lab is well integrated into the course structure.	0	0	0	5 55.6%	4 44.4%	9	4.4	2.3K	4.3	52
<b>Q16</b> The	e course topics are organized in a coherent fashion.	0	1 11.1%	0	5 55.6%	3 33.3%	9	4.1	3.3K	4.4	28

Course:	BIOL - 2311 001 - Human Anatomy and Physiology I Laboratory	Department:	514140
Responsible Faculty:	Kito Barrow	Responses / Expected:	11 / 22 (50%)

٥	Further the Constitute				Kito Barro	ow		
Cour	se Evaluation Questions			Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 9.1%	1 9.1%	5 45.5%	4 36.4%	11	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 18.2%	6 54.5%	3 27.3%	11	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 9.1%	3 27.3%	4 36.4%	3 27.3%	11	3.8
Q7	My instructor establishes a climate of respect for students.	0	1 9.1%	0	6 54.5%	4 36.4%	11	4.2
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	8 72.7%	3 27.3%	11	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	7 63.6%	4 36.4%	11	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	1 9.1%	2 18.2%	5 45.5%	3 27.3%	11	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 18.2%	6 54.5%	3 27.3%	11	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 9.1%	7 63.6%	3 27.3%	11	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					BIOL - 231	1 - 001	Survey Comparisons				
		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	6 54.5%	5 45.5%	11	4.5	2.3K	4.3	53
Q	The course topics are organized in a coherent fashion.	0	1 9.1%	0	5 45.5%	5 45.5%	11	4.3	3.3K	4.4	37

Course:	BIOL - 3090 001 - Mentored Undergraduate Research	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	2 / 2 (100%)

Cour	se Evaluation Questions				amn ses	ned Yous		lin dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	IOL	- 3090 - 00	01	Survey Comparisons					
Labs	and Online Learning Questions	Responses (%)					(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.3K	4.3	90		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	3.3K	4.4	91		

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 3510 001 - Cell Biology	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	10 / 29 (34.48%)

Ca	se Evaluation Questions			A	ubrey Fra	ntz		
Coul	se Evaluation Questions			Response	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 20%	0	4 40%	4 40%	10	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 20%	0	4 40%	4 40%	10	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 20%	1 10%	0	3 30%	4 40%	10	3.6
Q4	My instructor provides material that helps me do well on assignments.	1 10%	2 20%	2 20%	1 10%	4 40%	10	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 10%	1 10%	2 20%	1 10%	5 50%	10	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	1 10%	2 20%	1 10%	5 50%	10	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 22.2%	1 11.1%	6 66.7%	9	4.4
Q10	My instructor provides timely feedback to guide my progress.	1 10%	0	3 30%	1 10%	5 50%	10	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	2 20%	6 60%	10	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 20%	4 40%	4 40%	10	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	0	5 50%	4 40%	10	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				rvey Comparisor	ıs						
Lab	s and Online Learning Questions		F	Response	s (%)		(	Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	2.3K	4.3	15
Q1	The course topics are organized in a coherent fashion.	0	0	1 50%	1 50%	0	2	3.5	3.3K	4.4	11

Course:	BIOL - 4260 030 - Principles of Evolution	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	2 / 13 (15.38%)

Com	se Evaluation Questions				Donna H	lamilton		
Coul	se Evaluation Questions		ı	Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	0	1 50%	2	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	0	1 50%	2	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	0	1 50%	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	OL-	- 4260 - 03	30	Survey Comparisons			
Lab	and Online Learning Questions		Res	pons	ses	(%)	(	Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.3K	4.3	90
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	3.3K	4.4	91

University of North Texas at Dallas UNT-Dallas

Course:	BIOL - 4930 001 - Special Problems	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	3 / 13 (23.08%)

Com	se Evaluation Questions			ı	rene Rodr	iguez Virg	jen	
Coul	se Evaluation Questions			Res	ponses (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	IOL	- 4930 - 00	01	Survey Comparisons				
Lab	s and Online Learning Questions	Responses				(%)		Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.3K	4.3	90	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	3.3K	4.4	91	

Course:	BLAW - 3430 001 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	22 / 29 (75.86%)

0	Further Constitute				Sharon F	jordbak		
Cour	se Evaluation Questions		Re	espo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	3 13.6%	0	0	2 9.1%	17 77.3%	22	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	3 13.6%	0	0	1 4.5%	18 81.8%	22	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	3 13.6%	0	0	3 13.6%	16 72.7%	22	4.3
Q4	My instructor provides material that helps me do well on assignments.	3 14.3%	0	0	2 9.5%	16 76.2%	21	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 13.6%	0	0	2 9.1%	17 77.3%	22	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 13.6%	0	0	3 13.6%	16 72.7%	22	4.3
Q7	My instructor establishes a climate of respect for students.	3 13.6%	0	0	1 4.5%	18 81.8%	22	4.4
Q8	My instructor is available to me on matters pertaining to the course.	3 13.6%	0	0	2 9.1%	17 77.3%	22	4.4
Q9	My instructor encourages me to do my best work.	3 13.6%	0	0	2 9.1%	17 77.3%	22	4.4
Q10	My instructor provides timely feedback to guide my progress.	3 13.6%	0	0	2 9.1%	17 77.3%	22	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	3 13.6%	0	0	0	19 86.4%	22	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	3 13.6%	0	0	2 9.1%	17 77.3%	22	4.4
Q13	My instructor encourages me to develop new viewpoints.	3 13.6%	0	0	2 9.1%	17 77.3%	22	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	3 13.6%	0	0	3 13.6%	16 72.7%	22	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions			Re		LAW - 343 nses (%)	80 - 001	Course	Survey Comparisons All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 20%	0	0	1 20%	3 60%	5	4.0	2.3K	4.3	31
Q16	The course topics are organized in a coherent fashion.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2	3.3K	4.4	31

Course:	BLAW - 3430 002 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	20 / 28 (71.43%)

٥	se Evaluation Questions			Sh	aron Fj	ordbak		
Cour	se evaluation questions		Re	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 10%	5 25%	13 65%	20	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 25%	15 75%	20	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	3 15%	4 20%	13 65%	20	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 10%	4 20%	14 70%	20	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5%	5 25%	14 70%	20	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 5%	3 15%	5 25%	11 55%	20	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 25%	15 75%	20	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 5%	5 25%	14 70%	20	4.7
Q9	My instructor encourages me to do my best work.	0	0	3 15%	4 20%	13 65%	20	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 5%	0	6 30%	13 65%	20	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 15%	1 5%	16 80%	20	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5%	6 30%	13 65%	20	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 15%	5 25%	12 60%	20	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 15%	5 25%	12 60%	20	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			BL	.AW	- 3430 - 0	002	Survey Comparisons			
Labs			Responses				(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	2.3K	4.3	90
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	7 100%	7	5.0	3.3K	4.4	91

Course:	BLAW - 3430 003 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	25 / 30 (83.33%)

Cour	se Evaluation Questions			;	Sharon	Fjordba	k	
Cour	se Evaluation Questions		Re	espon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 12%	22 88%	25	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 12%	22 88%	25	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 4%	4 16%	20 80%	25	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 12%	22 88%	25	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 16%	21 84%	25	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4%	0	0	3 12%	21 84%	25	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 8%	23 92%	25	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 8%	23 92%	25	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	2 8%	23 92%	25	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 16%	21 84%	25	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 8%	23 92%	25	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 20%	20 80%	25	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	6 24%	19 76%	25	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 16%	21 84%	25	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			E	BLAW - 34	30 - 003	Survey Comparisons				
Lab			Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1	2.3K	4.3	38
Q1	The course topics are organized in a coherent fashion.	1 9.1%	0	0	1 9.1%	9 81.8%	11	4.5	3.3K	4.4	56

Course:	BLAW - 3430 004 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Phillip Umphres	Responses / Expected:	8 / 17 (47.06%)

Cour	se Evaluation Questions			Ph Response	nillip Ump	hres	l In	dividual
		SD	D	N	es (%)	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	8 100%	8	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	1 12.5%	0	6 75%	8	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	8 100%	8	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	8 100%	8	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				BL	.AW	- 3430 - 0	04		Survey Comparisons				
Lal	Labs and Online Learning Questions		Res	Responses (%)				Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.3K	4.3	90		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	3.3K	4.4	91		

University of North Texas at Dallas UNT-Dallas

Course:	BUSI - 4940 010 - Business Policy	Department:	516100
Responsible Faculty:	Isaura Flores	Responses / Expected:	26 / 31 (83.87%)

٥	Further Overston				Isaura F	lores		
Cour	se Evaluation Questions			Respo	nses (%)		lividual	
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	3 12%	6 24%	16 64%	25	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 26.9%	19 73.1%	26	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	9 34.6%	17 65.4%	26	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	9 34.6%	17 65.4%	26	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	9 36%	16 64%	25	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	8 30.8%	18 69.2%	26	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	2 7.7%	3 11.5%	21 80.8%	26	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 20%	20 80%	25	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 3.8%	5 19.2%	20 76.9%	26	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 4%	6 24%	18 72%	25	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 8%	5 20%	18 72%	25	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 4%	5 20%	19 76%	25	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 3.8%	6 23.1%	19 73.1%	26	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	8 30.8%	18 69.2%	26	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					BUSI - 4	940 - 010		Survey Comparisons				
Lab	s and Online Learning Questions			Res	ponses (%)	)	C	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 27.3%	8 72.7%	11	4.7	2.3K	4.3	72	
Q16	The course topics are organized in a coherent fashion.	0	0	0	6 30%	14 70%	20	4.7	3.3K	4.4	69	

University of North Texas at Dallas UNT-Dallas

Course:	BUSI - 4940 011 - Business Policy	Department:	516100
Responsible Faculty:	Isaura Flores	Responses / Expected:	8 / 10 (80%)

					Isaura F	lores		
Cou	rse Evaluation Questions		Re	espo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q7	My instructor establishes a climate of respect for students.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q8	My instructor is available to me on matters pertaining to the course.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q9	My instructor encourages me to do my best work.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				BUS	SI - 4940	0 - 011	Survey Comparisons				
			R	esponse	es (%)		(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15 The section or lab is	well integrated into the course structure.	1 25%	0	0	1 25%	2 50%	4	3.8	2.3K	4.3	23
Q16 The course topics ar	e organized in a coherent fashion.	1 20%	0	1 20%	1 20%	2 40%	5	3.6	3.3K	4.4	12

University of North Texas at Dallas UNT-Dallas

Course:	CDFS - 1013 040 - Human Development	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	7 / 9 (77.78%)

Cour	se Evaluation Questions			Ned	ra Washir	igton		
Cour	se Evaluation Questions		ı	Response	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	1 14.3%	1 14.3%	0	5 71.4%	7	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	1 14.3%	0	5 71.4%	7	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				CD	FS - 101	13 - 040		Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%)					(	Course				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	2.3K	4.3	46	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.3K	4.4	73	

Course:	CDFS - 3113 040 - Infant and Toddler Development	Department:	518000
Responsible Faculty:	Akhtari Chowdhury	Responses / Expected:	6 / 26 (23.08%)

Cour	se Evaluation Questions			Akht	ari Chowo	lhury		
Coui	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				(	CDFS - 3	113 - 04	0		Survey Comparisons			
			Re	spo	nses (%)	)	(	Course	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.3K	4.3	57	
(	Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	3.3K	4.4	51	

Course:	CDFS - 3123 040 - Child Development	Department:	518000
Responsible Faculty:	Janice Moore	Responses / Expected:	10 / 22 (45.45%)

Cou	se Evaluation Questions				nice M	oore		
			Re	sponse	s (%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 10%	1 10%	2 20%	6 60%	10	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	3 30%	6 60%	10	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 20%	1 10%	7 70%	10	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	1 10%	1 10%	2 20%	6 60%	10	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 20%	2 20%	6 60%	10	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	1 10%	1 10%	7 70%	10	4.4
Q7	My instructor establishes a climate of respect for students.	0	1 10%	0	1 10%	8 80%	10	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	3 30%	7 70%	10	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	2 20%	7 70%	10	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	1 10%	8 80%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 10%	1 10%	2 20%	6 60%	10	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	2 20%	7 70%	10	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	1 10%	2 20%	6 60%	10	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				CDFS - 3	123 - 040	Survey Comparisons				
La				Res	ponses (%)	)	Course				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	2.3K	4.3	68
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	3.3K	4.4	59

University of North Texas at Dallas UNT-Dallas

Course:	CDFS - 3300 040 - Family Theories	Department:	518000
Responsible Faculty:	Janice Moore	Responses / Expected:	12 / 28 (42.86%)

٥	se Evaluation Questions				Janice M	loore		
Cour	se Evaluation Questions			Respor	ıses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 16.7%	5 41.7%	5 41.7%	12	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	4 33.3%	3 25%	5 41.7%	12	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 16.7%	4 33.3%	6 50%	12	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 25%	4 33.3%	5 41.7%	12	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 16.7%	1 8.3%	9 75%	12	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 25%	9 75%	12	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 25%	2 16.7%	7 58.3%	12	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CDFS - 330	00 - 040	Survey Comparisons				
Lal	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 42.9%	4 57.1%	7	4.6	2.3K	4.3	62
Q1	The course topics are organized in a coherent fashion.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7	3.3K	4.4	65

Course:	CDFS - 3305 040 - Family Development	Department:	518000
Responsible Faculty:	Janice Moore	Responses / Expected:	3 / 7 (42.86%)

Cour	se Evaluation Questions					e Moore		
Ooui	Se Evaluation (4003)1013			Resp	ponses (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CDFS - 3	3305 - 040		Survey Comparisons			
La	Labs and Online Learning Questions		R	espo	onses (%	5)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.3K	4.3	57
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	3.3K	4.4	91

University of North Texas at Dallas UNT-Dallas

Course:	CDFS - 3310 040 - Family Crisis	Department:	518000
Responsible Faculty:	Shelia Lumar	Responses / Expected:	6 / 17 (35.29%)

Cour	rse Evaluation Questions				helia Lum	ar		
oou.	SE PLANEAU A PERSONAL		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	6 100%	6	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	2 33.3%	0	1 16.7%	3 50%	6	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			С	DFS - 3310		Survey Comparisons				
La				Responses (%)				Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.3K	4.3	90
Q1	The course topics are organized in a coherent fashion.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	3.3K	4.4	22

Course:	CDFS - 4133 040 - Adolescent Development	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	8 / 21 (38.10%)

Cour	se Evaluation Questions		Res		edra Was ises (%)	hington	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 25%	6 75%	8	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	8 100%	8	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	8 100%	8	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					CDFS - 4	133 - 040	Survey Comparisons				
		Responses (%)					Course			All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q.	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	2.3K	4.3	64
Q.	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	3.3K	4.4	78

Course:	CDFS - 4333 040 - Family Resource Management	Department:	518000
Responsible Faculty:	Janice Moore	Responses / Expected:	5 / 15 (33.33%)

Cour	se Evaluation Questions				Janice I	Moore		
	· · · · · · · · · · · · · · · · · · ·			espons	es (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 40%	2 40%	1 20%	5	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 80%	1 20%	5	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 80%	1 20%	5	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	3 60%	1 20%	5	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	3 60%	1 20%	5	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	2 40%	2 40%	5	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	1 20%	2 40%	2 40%	5	4.2
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 80%	1 20%	5	4.2
Q9	My instructor encourages me to do my best work.	0	0	0	4 80%	1 20%	5	4.2
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	3 60%	1 20%	5	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 60%	2 40%	5	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	3 60%	1 20%	5	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	3 60%	1 20%	5	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	3 60%	1 20%	5	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			CDFS	- 4333 - 0	Survey Comparisons					
Lal			Responses (%)						All		
		SD	D	N	A	SA N Mean		Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 33.3%	2 66.7%	0	3	3.7	2.3K	4.3	21
Q1	The course topics are organized in a coherent fashion.	0	1 25%	0	3 75%	0	4	3.5	3.3K	4.4	11

Course:	CDFS - 4340 040 - Occupational and Ethical Issues	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	4 / 6 (66.67%)

Cour	se Evaluation Questions				dra Wa	shingto		
			F	Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	1 25%	2 50%	4	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 50%	0	2 50%	4	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				CDF	S - 434	0 - 040		Survey Comparisons				
Labs	s and Online Learning Questions	Responses (%)					(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	2.3K	4.3	15	
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 75%	1 25%	4	4.3	3.3K	4.4	35	

Fall 2017 16 Week Survey	University of North Texas at Dallas
6178 - Fall 2017 - 1	UNT-Dallas

Course:	CDFS - 4350 040 - Child Development Seminar: Current Trends and Issues	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	2 / 4 (50%)

Cour	se Evaluation Questions				Nedra \	Washingt	on	
Cour	se evaluation questions		R	espo	onses (9	6)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				CI	DFS	- 4350 - 0	40		Su	ırvey Comparison	ıs
La	s and Online Learning Questions		Res	pons	ses	(%)		Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.3K	4.3	90
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	3.3K	4.4	91

Fall 2017 16 Week Survey

University of North Texas at Dallas
6178 - Fall 2017 - 1

UNT-Dallas

Course:	CDFS - 4413 040 - Family Life Education	Department:	518000
Responsible Faculty:	Shelia Lumar	Responses / Expected:	2 / 8 (25%)

Cour	se Evaluation Questions				Shelia Lu	ımar		
Cour	se Evaluation Questions		R	espons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 50%	1 50%	0	2	3.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 50%	1 50%	0	2	3.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 50%	1 50%	0	2	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 50%	1 50%	0	2	3.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	1 50%	0	2	3.5
Q9	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	1 50%	0	2	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 50%	1 50%	0	2	3.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	1 50%	0	2	3.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				CDFS -	- 44 <sup>-</sup>	13 - 04	10		Sı	ırvey Comparison	ıs
Labs and Online Learning Questions		Responses (%)					(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	2.3K	4.3	-
Q16	The course topics are organized in a coherent fashion.	0	0	1 100%	0	0	1	3.0	3.3K	4.4	7

University of North Texas at Dallas UNT-Dallas

Course:	CHEM - 1360 030 - Context of Chemistry	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	7 / 24 (29.17%)

Cour	rse Evaluation Questions				luhamme ponses (%	d Yousufu		dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 42.9%	4 57.1%	7	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C	HEM - 1	1360 - 03	30		Su	rvey Comparison	s
L	abs and Online Learning Questions	Responses (%)					(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	2.3K	4.3	73
q	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	3.3K	4.4	59

University of North Texas at Dallas UNT-Dallas

Course:	CHEM - 1360 330 - Context of Chemistry	Department:	514140
Responsible Faculty:	Scott Grimes	Responses / Expected:	8 / 24 (33.33%)

<b>^</b>	Full star Occation				Scott Gr	imes		
Coui	se Evaluation Questions			Respon	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	6 75%	2 25%	8	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 50%	4 50%	8	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 25%	2 25%	4 50%	8	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 25%	2 25%	4 50%	8	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		CHEM - 1360 - 330							Survey Comparisons			
Lab	s and Online Learning Questions	Responses (%)			) Course			All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 12.5%	7 87.5%	8	4.9	2.3K	4.3	78	
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	3.3K	4.4	61	

Course:	CHEM - 1410 001 - General Chemistry for Science Majors	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	16 / 41 (39.02%)

٥	Forbutton Occations		N	/luhamm	ed Yousu	fuddin		
Coui	se Evaluation Questions		Re	sponses		Inc	lividual	
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 6.3%	3 18.8%	3 18.8%	9 56.3%	16	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	1 6.7%	1 6.7%	4 26.7%	9 60%	15	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.3%	0	0	8 50%	7 43.8%	16	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 12.5%	2 12.5%	4 25%	8 50%	16	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	0	6 37.5%	10 62.5%	16	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 43.8%	9 56.3%	16	4.6
Q9	My instructor encourages me to do my best work.	0	2 12.5%	0	6 37.5%	8 50%	16	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 6.3%	7 43.8%	8 50%	16	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 18.8%	6 37.5%	7 43.8%	16	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	1 6.3%	3 18.8%	5 31.3%	7 43.8%	16	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	2 13.3%	0	0	4 26.7%	9 60%	15	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		CHEM - 1410 - 001							Survey Comparisons		
Lab	abs and Online Learning Questions		Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	5 55.6%	4 44.4%	9	4.4	2.3K	4.3	52
Q16	The course topics are organized in a coherent fashion.	0	1 11.1%	0	4 44.4%	4 44.4%	9	4.2	3.3K	4.4	33

University of North Texas at Dallas UNT-Dallas

Course:	CHEM - 1410 201 - General Chemistry for Science Majors	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	17 / 41 (41.46%)

C	rse Evaluation Ouestions			Muhamr	ned Yous	ufuddin		
Cou	'se Evaluation Questions		R	esponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	5 31.3%	1 6.3%	10 62.5%	16	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.9%	0	2 11.8%	4 23.5%	10 58.8%	17	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 5.9%	0	2 11.8%	4 23.5%	10 58.8%	17	4.3
Q4	My instructor provides material that helps me do well on assignments.	1 6.3%	0	0	4 25%	11 68.8%	16	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.3%	0	0	6 37.5%	9 56.3%	16	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.3%	1 6.3%	2 12.5%	2 12.5%	10 62.5%	16	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	2 11.8%	3 17.6%	12 70.6%	17	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 5.9%	0	1 5.9%	5 29.4%	10 58.8%	17	4.4
Q9	My instructor encourages me to do my best work.	1 5.9%	0	1 5.9%	3 17.6%	12 70.6%	17	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 5.9%	0	1 5.9%	6 35.3%	9 52.9%	17	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 11.8%	5 29.4%	10 58.8%	17	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 11.8%	6 35.3%	9 52.9%	17	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 23.5%	4 23.5%	9 52.9%	17	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 5.9%	2 11.8%	4 23.5%	10 58.8%	17	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				CHE	M - 1410 -		Survey Comparisons				
		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 8.3%	1 8.3%	4 33.3%	6 50%	12	4.3	2.3K	4.3	42
Q16	The course topics are organized in a coherent fashion.	1 8.3%	1 8.3%	1 8.3%	2 16.7%	7 58.3%	12	4.1	3.3K	4.4	26

Course:	CHEM - 1430 001 - Laboratory Sequence for General Chemistry	Department:	514140
Responsible Faculty:	Scott Grimes	Responses / Expected:	12 / 27 (44.44%)

٥	Fordunting Overstions			Sco	ott Grime	s		
Cour	se Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 8.3%	1 8.3%	3 25%	2 16.7%	5 41.7%	12	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	1 8.3%	1 8.3%	4 33.3%	5 41.7%	12	3.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 16.7%	0	5 41.7%	5 41.7%	12	4.1
Q4	My instructor provides material that helps me do well on assignments.	0	2 16.7%	2 16.7%	2 16.7%	6 50%	12	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	3 25%	2 16.7%	2 16.7%	5 41.7%	12	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 16.7%	2 16.7%	3 25%	5 41.7%	12	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 8.3%	5 41.7%	6 50%	12	4.4
Q9	My instructor encourages me to do my best work.	0	0	2 16.7%	3 25%	7 58.3%	12	4.4
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	1 8.3%	1 8.3%	3 25%	6 50%	12	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	4 33.3%	1 8.3%	7 58.3%	12	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 8.3%	4 33.3%	2 16.7%	5 41.7%	12	3.9
Q13	My instructor encourages me to develop new viewpoints.	0	1 8.3%	4 33.3%	2 16.7%	5 41.7%	12	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	1 8.3%	2 16.7%	3 25%	5 41.7%	12	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				CHE	EM - 1430		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q <sup>2</sup>	5 The section or lab is well integrated into the course structure.	1 8.3%	2 16.7%	0	5 41.7%	4 33.3%	12	3.8	2.3K	4.3	23
Q1	6 The course topics are organized in a coherent fashion.	2 16.7%	0	0	5 41.7%	5 41.7%	12	3.9	3.3K	4.4	18

Course:	CHEM - 1430 002 - Laboratory Sequence for General Chemistry	Department:	514140
Responsible Faculty:	Scott Grimes	Responses / Expected:	8 / 15 (53.33%)

Corr	se Evaluation Questions			Sc	cott Grim	es		
Cou	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 25%	6 75%	8	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					CHEM - 1	1430 - 002	Survey Comparisons					
				Res	esponses (%)			Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15 The se	ction or lab is well integrated into the course structure.	0	0	0	3 42.9%	4 57.1%	7	4.6	2.3K	4.3	62	
Q16 The co	urse topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	3.3K	4.4	65	

University of North Texas at Dallas UNT-Dallas

Course:	CHEM - 2370 001 - Organic Chemistry I	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	7 / 22 (31.82%)

C	- Fusiontian Overtices		N	/luha	ammed Y	ousufudd	in	
Coui	se Evaluation Questions		Res	pon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 42.9%	4 57.1%	7	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				CI	HEM - 237		Survey Comparisons				
			Res	spor	nses (%)		(	Course	All		
		SD D N A SA		SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	2 33.3%	0	1 16.7%	3 50%	6	3.8	2.3K	4.3	25
Q16	The course topics are organized in a coherent fashion.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0	3.3K	4.4	22

University of North Texas at Dallas UNT-Dallas

Course:	CHEM - 2370 201 - Organic Chemistry I	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	7 / 22 (31.82%)

C	se Evaluation Questions			Muham	med You	sufuddin		
Coul	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 28.6%	0	1 14.3%	4 57.1%	7	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	1 14.3%	1 14.3%	4 57.1%	7	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				СНІ	EM - 237	70 - 201		Survey Comparisons			
Lab	Labs and Online Learning Questions		Resp	ons	es (%)		(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 20%	0	1 20%	3 60%	5	4.2	2.3K	4.3	40
Q16	The course topics are organized in a coherent fashion.	0	1 20%	0	1 20%	3 60%	5	4.2	3.3K	4.4	32

Course:	CHEM - 3210 001 - Organic Chemistry I Laboratory	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	8 / 21 (38.10%)

Com	rse Evaluation Questions			Muham	med You	sufuddin		
Coul	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 25%	0	2 25%	4 50%	8	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 25%	0	2 25%	4 50%	8	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 50%	4 50%	8	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				СНЕМ	- 3210 - 0	Survey Comparisons					
Lal	Labs and Online Learning Questions		R	esponses	(%)	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	3 37.5%	0	1 12.5%	4 50%	8	3.8	2.3K	4.3	23
Q1	The course topics are organized in a coherent fashion.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1	3.3K	4.4	29

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 2100 001 - Crime and Justice in the United States	Department:	514100
Responsible Faculty:	Joe Herrera	Responses / Expected:	11 / 17 (64.71%)

C	se Evaluation Questions				Joe Her	rera		
Cour	SE EVALUATION QUESTIONS			Respor	ıses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 9.1%	2 18.2%	8 72.7%	11	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 20%	2 20%	6 60%	10	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 45.5%	6 54.5%	11	4.5
Q9	My instructor encourages me to do my best work.	0	0	2 18.2%	3 27.3%	6 54.5%	11	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 9.1%	1 9.1%	9 81.8%	11	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 2	100 - 00	1		Survey Comparisons			
	Labs and Online Learning Questions		Re	spo	nses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
1	The section or lab is well integrated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	2.3K	4.3	57	
1	Q16 The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	3.3K	4.4	51	

Course:	CJUS - 2100 030 - Crime and Justice in the United States	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	13 / 30 (43.33%)

Cour	se Evaluation Questions			N	ahid Sidd	ique		
Cour	se Evaluation Questions			Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	3 23.1%	6 46.2%	4 30.8%	13	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.7%	7 53.8%	5 38.5%	13	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 15.4%	4 30.8%	7 53.8%	13	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 23.1%	4 30.8%	6 46.2%	13	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 7.7%	4 30.8%	5 38.5%	3 23.1%	13	3.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 7.7%	4 30.8%	5 38.5%	3 23.1%	13	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	2 15.4%	8 61.5%	3 23.1%	13	4.1
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 15.4%	8 61.5%	3 23.1%	13	4.1
Q9	My instructor encourages me to do my best work.	0	0	3 25%	4 33.3%	5 41.7%	12	4.2
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 25%	5 41.7%	4 33.3%	12	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	4 30.8%	5 38.5%	4 30.8%	13	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	5 38.5%	4 30.8%	4 30.8%	13	3.9
Q13	My instructor encourages me to develop new viewpoints.	0	1 7.7%	4 30.8%	5 38.5%	3 23.1%	13	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 23.1%	6 46.2%	4 30.8%	13	4.1

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				CJUS - 2	100 - 030	Survey Comparisons				
Lab			Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	2.3K	4.3	46
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	3.3K	4.4	51

Fall 2017 16 Week Survey	University of North Texas at Dallas
6178 - Fall 2017 - 1	UNT-Dallas

Course:	CJUS - 2300 001 - Fundamentals in Criminal Law	Department:	514100
Responsible Faculty:	Erleigh Wiley	Responses / Expected:	4 / 14 (28.57%)

C	se Evaluation Questions				Erl	eigh Wile	еу		
Cour	se Evaluation Questions		Res	spon	ses	(%)	In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	ee=3	[ <b>A</b> ]	Agre	e=4 [ <b>SA</b> ]	Stron	gly Agree=5	

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 2300 030 - Fundamentals in Criminal Law	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	7 / 18 (38.89%)

C	se Evaluation Questions			Gre	tchen Ha	ckard		
Cour	se Evaluation Questions			Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	2 28.6%	2 28.6%	2 28.6%	7	3.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	2 28.6%	1 14.3%	3 42.9%	7	3.7
Q7	My instructor establishes a climate of respect for students.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0
Q9	My instructor encourages me to do my best work.	1 14.3%	0	2 28.6%	2 28.6%	2 28.6%	7	3.6
Q10	My instructor provides timely feedback to guide my progress.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q13	My instructor encourages me to develop new viewpoints.	1 14.3%	0	1 14.3%	3 42.9%	2 28.6%	7	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	1 14.3%	4 57.1%	1 14.3%	7	3.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CJUS - 2	300 - 030		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	2.3K	4.3	68	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.3K	4.4	73	

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 2301 001 - Correctional Systems and Practices	Department:	514100
Responsible Faculty:	Ryan Garman	Responses / Expected:	3 / 8 (37.50%)

Com	se Evaluation Questions				Ryan Ga	rman	an			
Coul	se evaluation questions			Respon	ıses (%)		In	dividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3		
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7		
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0		
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				CJUS - 23	01 - 001	ı		Survey Comparisons				
Lab			Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	2.3K	4.3	31		
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	3.3K	4.4	51		

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 2301 030 - Correctional Systems and Practices	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	8 / 22 (36.36%)

	Further the Occasion				Ralph Y	ates		
Cour	se Evaluation Questions			Respon	ıses (%)		ln	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 25%	6 75%	8	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 25%	6 75%	8	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 25%	6 75%	8	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 25%	6 75%	8	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 25%	6 75%	8	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				CJUS - :	2301 - 030	)		Survey Comparisons				
Lab			R	espo	onses (%	6)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	2.3K	4.3	90		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3.3K	4.4	76		

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 2302 001 - Police Systems and Practices	Department:	514100
Responsible Faculty:	Paul Reynolds	Responses / Expected:	6 / 7 (85.71%)

^	Furbration Occasions				Paul Rey	nolds		
Cour	se Evaluation Questions			Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 50%	3 50%	6	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 50%	3 50%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					C	CJUS - 230	2 - 00	1		Survey Comparisons				
	Labs and Online Learning Questions			Re	spoi	nses (%)		(	Course	All				
			SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q15	The section or lab is well integrated into the course structure.	0	0	0	3 100%	0	3	4.0	2.3K	4.3	31		
	Q16	The course topics are organized in a coherent fashion.	0	0	0	3 100%	0	3	4.0	3.3K	4.4	22		

Course:	CJUS - 2302 030 - Police Systems and Practices	Department:	514100
Responsible Faculty:	Joe Herrera	Responses / Expected:	3 / 15 (20%)

Cour	rse Evaluation Questions					Herrera		
				Res	ponses (%	<b>b)</b>	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				C	JUS	- 2302 - 0	30		Survey Comparisons			
			Res	pons	ses	(%)		Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q.	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.3K	4.3	90	
Q.	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	3.3K	4.4	91	

Fall 2017 16 Week Survey

University of North Texas at Dallas
6178 - Fall 2017 - 1

UNT-Dallas

Course:	CJUS - 2302 031 - Police Systems and Practices	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	2 / 11 (18.18%)

٠	se Evaluation Questions				Ralp	h Yates		
Cour	se Evaluation Questions		R	espo	onses (9	6)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C.	JUS	- 2302 - 0	31		Survey Comparisons				
Lab	s and Online Learning Questions	Responses (%)					(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	2.3K	4.3	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	3.3K	4.4	91		

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 2600 001 - Diversity Issues in Criminal Justice	Department:	514100
Responsible Faculty:	James Williams	Responses / Expected:	6 / 24 (25%)

	Forbutton Occations			Ja	mes Will	iams		
Cour	se Evaluation Questions		R	espons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	0	4 80%	5	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 2	600 - 00	1		Survey Comparisons			
Labs and Online Learning Questions			Re	spo	nses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	2.3K	4.3	-	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	3.3K	4.4	51	

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 2600 030 - Diversity Issues in Criminal Justice	Department:	514100
Responsible Faculty:	Mark Stallo	Responses / Expected:	14 / 32 (43.75%)

۰	se Evaluation Questions				Mark S	tallo		
Cour	se Evaluation Questions			Respon	ıses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 42.9%	8 57.1%	14	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 38.5%	8 61.5%	13	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	6 42.9%	8 57.1%	14	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.7%	5 38.5%	7 53.8%	13	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 7.1%	6 42.9%	7 50%	14	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	6 42.9%	8 57.1%	14	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 7.1%	6 42.9%	7 50%	14	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 7.1%	6 42.9%	7 50%	14	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	7 50%	7 50%	14	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 14.3%	5 35.7%	7 50%	14	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 14.3%	5 35.7%	7 50%	14	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			С	JUS - 260		Survey Comparisons				
Lal			Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7	2.3K	4.3	68
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 27.3%	8 72.7%	11	4.7	3.3K	4.4	71

Course:	CJUS - 2600 031 - Diversity Issues in Criminal Justice	Department:	514100
Responsible Faculty:	John Coleman	Responses / Expected:	10 / 34 (29 41%)

Cou	rse Evaluation Questions			Jo	hn Colem	an		
Cou	se Evaluation Questions		1	Response	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	2 20%	3 30%	5 50%	10	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 20%	3 30%	5 50%	10	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 20%	1 10%	7 70%	10	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 20%	3 30%	5 50%	10	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	1 11.1%	2 22.2%	0	6 66.7%	9	4.2
Q9	My instructor encourages me to do my best work.	0	0	2 20%	3 30%	5 50%	10	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 30%	0	7 70%	10	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 20%	1 10%	7 70%	10	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	3 30%	6 60%	10	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	4 40%	5 50%	10	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	3 30%	6 60%	10	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

University of North Texas at Dallas UNT-Dallas

Labs and Online Learning Questions					CJUS - 2	600 - 031	Survey Comparisons				
		Resp			sponses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	2.3K	4.3	46
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	3.3K	4.4	78

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 3330 030 - Introduction to Criminalistics	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	18 / 36 (50%)

_				Ra	lph Yates	3		
Cou	se Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 11.1%	0	1 5.6%	4 22.2%	11 61.1%	18	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 11.1%	0	1 5.6%	3 16.7%	12 66.7%	18	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 11.1%	0	1 5.6%	2 11.1%	13 72.2%	18	4.3
Q4	My instructor provides material that helps me do well on assignments.	2 11.1%	1 5.6%	0	4 22.2%	11 61.1%	18	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 12.5%	0	2 12.5%	2 12.5%	10 62.5%	16	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 11.1%	0	1 5.6%	4 22.2%	11 61.1%	18	4.2
Q7	My instructor establishes a climate of respect for students.	2 11.1%	0	1 5.6%	3 16.7%	12 66.7%	18	4.3
Q8	My instructor is available to me on matters pertaining to the course.	2 11.1%	0	1 5.6%	4 22.2%	11 61.1%	18	4.2
Q9	My instructor encourages me to do my best work.	2 11.1%	0	1 5.6%	5 27.8%	10 55.6%	18	4.2
Q10	My instructor provides timely feedback to guide my progress.	2 11.1%	0	0	6 33.3%	10 55.6%	18	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 11.1%	0	1 5.6%	4 22.2%	11 61.1%	18	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 11.1%	0	1 5.6%	4 22.2%	11 61.1%	18	4.2
Q13	My instructor encourages me to develop new viewpoints.	2 11.1%	0	2 11.1%	3 16.7%	11 61.1%	18	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	2 11.8%	0	1 5.9%	3 17.6%	11 64.7%	17	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 33:	30 - 030		Survey Comparisons			
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3	2.3K	4.3	44
Q16	The course topics are organized in a coherent fashion.	2 15.4%	0	0	2 15.4%	9 69.2%	13	4.2	3.3K	4.4	34

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 3350 030 - Statistics in Criminal Justice	Department:	514100
Responsible Faculty:	Aaron Bartula	Responses / Expected:	14 / 32 (43.75%)

Cour	se Evaluation Questions			Α	aron Bart	ula		
Coul	se evaluation questions			Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 7.1%	1 7.1%	3 21.4%	9 64.3%	14	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 14.3%	3 21.4%	9 64.3%	14	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 7.1%	1 7.1%	4 28.6%	8 57.1%	14	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 14.3%	4 28.6%	8 57.1%	14	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 42.9%	8 57.1%	14	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	6 42.9%	8 57.1%	14	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 33	50 - 030		Survey Comparisons			
Labs and Online Learning Questions		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3	2.3K	4.3	46
Q16	The course topics are organized in a coherent fashion.	1 9.1%	0	0	2 18.2%	8 72.7%	11	4.5	3.3K	4.4	47

Course:	CJUS - 3360 001 - Anthropological Criminalistics	Department:	514100
Responsible Faculty:	Jonesta Nolan	Responses / Expected:	12 / 32 (37.50%)

Ca	rse Evaluation Questions			Jone	sta Nola	n		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 8.3%	1 8.3%	1 8.3%	4 33.3%	5 41.7%	12	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	2 16.7%	3 25%	6 50%	12	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 16.7%	1 8.3%	3 25%	6 50%	12	4.1
Q4	My instructor provides material that helps me do well on assignments.	2 16.7%	0	2 16.7%	3 25%	5 41.7%	12	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 8.3%	1 8.3%	6 50%	4 33.3%	12	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 16.7%	0	3 25%	2 16.7%	5 41.7%	12	3.7
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q8	My instructor is available to me on matters pertaining to the course.	1 8.3%	1 8.3%	1 8.3%	4 33.3%	5 41.7%	12	3.9
Q9	My instructor encourages me to do my best work.	0	1 8.3%	1 8.3%	5 41.7%	5 41.7%	12	4.2
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	0	2 16.7%	5 41.7%	4 33.3%	12	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 8.3%	2 16.7%	3 25%	6 50%	12	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 8.3%	2 16.7%	5 41.7%	4 33.3%	12	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	1 8.3%	2 16.7%	4 33.3%	5 41.7%	12	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	0	2 16.7%	4 33.3%	5 41.7%	12	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					3360 - 00	)1			Sur	vey Compariso	ns	
Lab	s and Online Learning Questions		Re	sponses	(%)			Course	e All			
			D	N	A	SA	N Mean		N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	1 11.1%	0	5 55.6%	1 11.1%	2 22.2%	9	3.3	2.3K	4.3	17	
Q16	The course topics are organized in a coherent fashion.	1 11.1%	1 11.1%	4 44.4%	1 11.1%	2 22.2%	9	3.2	3.3K	4.4	8	

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 3600 001 - Criminology	Department:	514100
Responsible Faculty:	Ryan Garman	Responses / Expected:	12 / 23 (52.17%)

Cour	se Evaluation Questions			Respon	Ryan Gar ses (%)	man	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	0	1 8.3%	10 83.3%	12	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 8.3%	0	1 8.3%	2 16.7%	8 66.7%	12	4.3
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q7	My instructor establishes a climate of respect for students.	1 8.3%	0	0	1 8.3%	10 83.3%	12	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 8.3%	0	1 8.3%	3 25%	7 58.3%	12	4.3
Q9	My instructor encourages me to do my best work.	1 8.3%	0	1 8.3%	2 16.7%	8 66.7%	12	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	0	1 8.3%	3 25%	7 58.3%	12	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5
Q13	My instructor encourages me to develop new viewpoints.	1 8.3%	0	1 8.3%	2 16.7%	8 66.7%	12	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CJUS - 3	600 - 001	Survey Comparisons								
Labs	s and Online Learning Questions	Responses (%)						Responses (%) Course						All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk				
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	2.3K	4.3	90				
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	3.3K	4.4	79				

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 3600 030 - Criminology	Department:	514100
Responsible Faculty:	Aaron Bartula	Responses / Expected:	10 / 31 (32.26%)

Cour	se Evaluation Questions					Bartula		
				Respon	ses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 10%	9 90%	10	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	10 100%	10	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	10 100%	10	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	10 100%	10	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	0	9 90%	10	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 10%	9 90%	10	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	10 100%	10	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 10%	9 90%	10	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	0	9 90%	10	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 10%	9 90%	10	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	2 20%	7 70%	10	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	10 100%	10	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C.	JUS	- 3600 - 0	30		Survey Comparisons			
Labs	and Online Learning Questions	Responses (%) Cou							All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	2.3K	4.3	90	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	8 100%	8	5.0	3.3K	4.4	91	

Course:	CJUS - 3610 001 - Juvenile Justice	Department:	514100
Responsible Faculty:	Michael Santiago	Responses / Expected:	10 / 22 (45.45%)

Cour	se Evaluation Questions			N	/lichael	Santiago		
Cour	se Evaluation Questions			Respon	ses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 20%	8 80%	10	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	10 100%	10	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	10 100%	10	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	10 100%	10	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	10 100%	10	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	10 100%	10	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	10 100%	10	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	10 100%	10	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 10%	0	9 90%	10	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	10 100%	10	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	10 100%	10	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	10 100%	10	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	10 100%	10	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 3	610 - 00	1		Survey Comparisons				
La	Labs and Online Learning Questions		Re	spo	nses (%)	)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.3K	4.3	57		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3.3K	4.4	76		

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 3610 030 - Juvenile Justice	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	11 / 34 (32.35%)

Cour	se Evaluation Questions				Ralph	Yates		
Cour	SE EVALUATION QUESTIONS		R	espo	onses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 9.1%	0	0	3 27.3%	7 63.6%	11	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 20%	8 80%	10	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 9.1%	10 90.9%	11	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 9.1%	10 90.9%	11	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 9.1%	10 90.9%	11	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 18.2%	9 81.8%	11	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 27.3%	8 72.7%	11	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					CJUS - 3	610 - 030	Survey Comparisons					
				Responses (%)				Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q <sup>2</sup>	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	2.3K	4.3	90	
Q	The course topics are organized in a coherent fashion.	0	0	0	1 11.1%	8 88.9%	9	4.9	3.3K	4.4	80	

Course:	CJUS - 3630 001 - Drugs, Crime and Society	Department:	514100
Responsible Faculty:	Stephen Bishopp	Responses / Expected:	20 / 51 (39.22%)

Cour	rse Evaluation Questions			St	ephen	Bishop	р	
Coul	se Evaluation Questions		Res	ponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 5%	1 5%	0	0	18 90%	20	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5%	0	0	1 5%	18 90%	20	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 5%	1 5%	0	0	18 90%	20	4.7
Q4	My instructor provides material that helps me do well on assignments.	1 5%	0	0	1 5%	18 90%	20	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5%	1 5%	0	0	18 90%	20	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5%	1 5%	0	0	18 90%	20	4.7
Q7	My instructor establishes a climate of respect for students.	1 5%	0	0	1 5%	18 90%	20	4.8
Q8	My instructor is available to me on matters pertaining to the course.	1 5%	0	0	1 5%	18 90%	20	4.8
Q9	My instructor encourages me to do my best work.	1 5%	0	0	0	19 95%	20	4.8
Q10	My instructor provides timely feedback to guide my progress.	1 5%	0	1 5%	0	18 90%	20	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5%	0	0	1 5%	18 90%	20	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5%	1 5%	0	0	18 90%	20	4.7
Q13	My instructor encourages me to develop new viewpoints.	1 5%	0	1 5%	0	18 90%	20	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	1 5%	0	1 5%	0	18 90%	20	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions		CJI	US -	363	0 - 001			Survey Comparisons			
		Respons	es (	%)		(	Course		All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15 The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	2.3K	4.3	90	
Q16 The course topics are organized in a coherent fashion.	1 11.1%	1 11.1%	0	0	7 77.8%	9	4.2	3.3K	4.4	33	

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 3700 001 - Ethical Issues in Criminal Justice	Department:	514100
Responsible Faculty:	James Williams	Responses / Expected:	7 / 18 (38.89%)

Cou	se Evaluation Questions					es Williams			
oou.	Se Litability questions		Res	pon	ses	(%)	In	dividual	
		SD	D	N	A	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	0	7 100%	7	5.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	7 100%	7	5.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	7 100%	7	5.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	7 100%	7	5.0	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	7 100%	7	5.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	7 100%	7	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	7 100%	7	5.0	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				C	JUS	- 3700 - 0	01	Survey Comparisons				
		Response				(%)	(	Course	All			
		SD	D	N	A	SA	N	N Mean N		Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.3K	4.3	90	
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	3.3K	4.4	91	

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 3700 030 - Ethical Issues in Criminal Justice	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	12 / 32 (37.50%)

C	na Fusiustian Quastiana			Grete	chen Hac	kard		
Cour	se Evaluation Questions		R	esponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 16.7%	1 8.3%	9 75%	12	4.6
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	0	0	3 25%	8 66.7%	12	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 8.3%	0	1 8.3%	2 16.7%	8 66.7%	12	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	1 9.1%	1 9.1%	1 9.1%	8 72.7%	11	4.5
Q9	My instructor encourages me to do my best work.	0	0	2 16.7%	3 25%	7 58.3%	12	4.4
Q10	My instructor provides timely feedback to guide my progress.	1 8.3%	1 8.3%	1 8.3%	4 33.3%	5 41.7%	12	3.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 16.7%	2 16.7%	8 66.7%	12	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 16.7%	0	10 83.3%	12	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				(	CJUS - 370	00 - 030	Survey Comparisons					
				Respo	onses (%)			Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	1 20%	3 60%	1 20%	5	4.0	2.3K	4.3	31	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 33.3%	6 66.7%	9	4.7	3.3K	4.4	65	

Course:	LAW - 7108 501 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Bailey Eagin	Responses / Expected:	4 / 9 (44.44%)

Cou	rse Evaluation Questions					Eagin		
				Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions		LAW - 7108 - 501								Survey Comparisons			
		Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2	4.0	83		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	9	2.6	67		

Course:	LAW - 7123 001 - Bankruptcy I	Department:	LawSchool
Responsible Faculty:	Howard Spector	Responses / Expected:	25 / 53 (47.17%)

C	Traduction Organisms			Howa	rd Spect	or		
Coui	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 4.2%	4 16.7%	4 16.7%	10 41.7%	5 20.8%	24	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	3 12.5%	3 12.5%	11 45.8%	7 29.2%	24	3.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	4 16.7%	8 33.3%	7 29.2%	3 12.5%	2 8.3%	24	2.6
Q4	My instructor provides material that helps me do well on assignments.	3 12.5%	6 25%	10 41.7%	2 8.3%	3 12.5%	24	2.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 8.3%	5 20.8%	10 41.7%	7 29.2%	24	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 12.5%	4 16.7%	14 58.3%	0	3 12.5%	24	2.8
Q7	My instructor establishes a climate of respect for students.	0	0	1 4%	9 36%	15 60%	25	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 4%	1 4%	11 44%	6 24%	6 24%	25	3.6
Q9	My instructor encourages me to do my best work.	1 4%	1 4%	14 56%	6 24%	3 12%	25	3.4
Q10	My instructor provides timely feedback to guide my progress.	2 8%	2 8%	16 64%	3 12%	2 8%	25	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 12%	10 40%	12 48%	25	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 4%	1 4%	6 24%	10 40%	7 28%	25	3.8
Q13	My instructor encourages me to develop new viewpoints.	1 4%	2 8%	5 20%	13 52%	4 16%	25	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	1 4%	4 16%	7 28%	7 28%	6 24%	25	3.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				LAW - 71		Survey Comparisons							
Labs	Labs and Online Learning Questions		Responses (%)							All			
		SD	D	N	A SA		N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	2	4.0	50		
Q16	The course topics are organized in a coherent fashion.	4 57.1%	2 28.6%	0	0	1 14.3%	7	1.9	9	2.6	17		

Course:	LAW - 7134 001 - Employment Law I	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	12 / 20 (60%)

C	rse Evaluation Questions			Mich	ael Masl	anka		
Cour	se Evaluation Questions		R	esponse	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 8.3%	3 25%	4 33.3%	4 33.3%	12	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 16.7%	5 41.7%	5 41.7%	12	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 8.3%	3 25%	4 33.3%	4 33.3%	12	3.9
Q4	My instructor provides material that helps me do well on assignments.	0	1 8.3%	4 33.3%	2 16.7%	5 41.7%	12	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 16.7%	4 33.3%	6 50%	12	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 8.3%	0	3 25%	3 25%	5 41.7%	12	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q9	My instructor encourages me to do my best work.	0	0	2 16.7%	4 33.3%	6 50%	12	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 8.3%	6 50%	5 41.7%	12	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 16.7%	3 25%	7 58.3%	12	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				L	AW -	- 7134 - 00	)1		Survey Comparisons				
Lab	Labs and Online Learning Questions		Res	pons	ses	(%)	-	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	2	4.0	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	9	2.6	67		

	Course:	ACCT - 5150 010 - The Development of Accounting Theory	Department:	516100
Respons	ible Faculty:	Randall Hahn	Responses / Expected:	4 / 9 (44.44%)

Col	se Evaluation Questions				Randall	Hahn		
Cour	se Evaluation Questions		F	Respons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	0	3 75%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	0	3 75%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	0	3 75%	4	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ACC1	Γ - 5	5150 - 01	0		Survey Comparisons			
La	Labs and Online Learning Questions		Respo	nses	(%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	1 25%	0	0	3 75%	4	4.3	71	4.4	38	
Q	The course topics are organized in a coherent fashion.	0	1 25%	0	0	3 75%	4	4.3	120	4.4	29	

Course:	ACCT - 5200 011 - Professional Ethics and Corporate Governance	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	12 / 41 (29.27%)

C	se Evaluation Questions			Ste	ohanie Mo	ongiello		
Cour	se Evaluation Questions		I	Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 25%	9 75%	12	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 33.3%	8 66.7%	12	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 25%	9 75%	12	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 8.3%	0	2 16.7%	9 75%	12	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 16.7%	10 83.3%	12	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 33.3%	8 66.7%	12	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					ACCT - 5	200 - 011	Survey Comparisons				
				Responses (%)			(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	71	4.4	69
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	120	4.4	85

Course:	AEAH - 1750 001 - Visual Arts Integration	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	10 / 19 (52.63%)

0				Ru	th Guev	ara		
Cour	rse Evaluation Questions		Res	ponses	(%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 10%	0	2 20%	7 70%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	1 10%	8 80%	10	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 10%	1 10%	8 80%	10	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 10%	3 30%	6 60%	10	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 20%	8 80%	10	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	0	1 10%	8 80%	10	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 20%	8 80%	10	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 40%	6 60%	10	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	3 30%	7 70%	10	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	1 10%	1 10%	7 70%	10	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	2 20%	7 70%	10	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	3 30%	6 60%	10	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	0	3 30%	6 60%	10	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					AEAH - 1	1750 - 001	l		Survey Comparisons			
Labs and Online Learning Questions			R	espo	nses (%	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	71	4.4	90	
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	120	4.4	79	

Course:	AEAH - 1750 002 - Visual Arts Integration	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	4 / 11 (36.36%)

Cour	se Evaluation Questions				Ruth	Guevara	-	
Cour	SE LYAIUATION QUESTIONS		Re	spo	nses (%	)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					AEAH - 1	750 - 002	Survey Comparisons				
				Res	sponses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	71	4.4	54
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	120	4.4	69

Course:	ART - 1300 030 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	12 / 35 (34.29%)

Cou	se Evaluation Questions					la Harris		
oou.	or a random questions			Res	ponses (%	)	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 25%	9 75%	12	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 25%	9 75%	12	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 25%	9 75%	12	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 25%	9 75%	12	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 25%	9 75%	12	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					ART - 1	1300 - 030	Survey Comparisons				
			R	espo	nses (%	.)	C	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	71	4.4	90
Q	The course topics are organized in a coherent fashion.	0	0	0	1 10%	9 90%	10	4.9	120	4.4	90

Course:	CJUS - 5000 030 - Criminal Justice Policy	Department:	514100
Responsible Faculty:	Richard Holden	Responses / Expected:	6 / 15 (40%)

<b>^</b>	Forbusting Occupiers				lolden			
Coui	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CJUS - 5	000 - 030	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	71	4.4	69
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	120	4.4	37

Course:	CJUS - 5200 030 - Legal Aspects of the Criminal Justice System	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	2 / 9 (22.22%)

	Further the Constitution			Gr	etchen H	ackard		
Cour	se Evaluation Questions		R	espons	ses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 50%	0	1 50%	2	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 50%	0	1 50%	0	2	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 5	200 - 03	80	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	71	4.4	54	
C	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	120	4.4	46	

Course:	CJUS - 5620 030 - Seminar in Victimology	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	6 / 10 (60%)

	Furthering Occasion			Na	hid Siddio	que		
Cour	se Evaluation Questions		ı	Response	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 50%	3 50%	6	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 66.7%	2 33.3%	6	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 5	620 - 03	80	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q15 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	71	4.4	54	
(	Q16 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	120	4.4	46	

Fall 2017 8W1 Survey	University of North Texas at Dallas
6178 - Fall 2017 - 8W1	UNT-Dallas

Course:	CJUS - 5800 031 - Topics in Criminal Justice	Department:	514100
Responsible Faculty:	John Coleman	Responses / Expected:	2 / 4 (50%)

C	se Evaluation Questions				Joh	n Colema	ın	
Cour	se evaluation questions			÷	ses	` ,		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[ <b>A</b> ]	Agre	e=4 [ <b>SA</b> ]	Stron	gly Agree=5

Course:	ECON - 5140 010 - Managerial Economics	Department:	516100
Responsible Faculty:	Daniel Friesen	Responses / Expected:	14 / 38 (36.84%)

Cour	se Evaluation Questions				niel Fries	en		
			R	esponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 7.1%	0	0	8 57.1%	5 35.7%	14	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.1%	6 42.9%	7 50%	14	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 7.1%	1 7.1%	5 35.7%	7 50%	14	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 7.1%	1 7.1%	5 35.7%	7 50%	14	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 14.3%	6 42.9%	6 42.9%	14	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	4 28.6%	4 28.6%	6 42.9%	14	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 50%	7 50%	14	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	6 42.9%	8 57.1%	14	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 7.1%	1 7.1%	6 42.9%	6 42.9%	14	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 42.9%	8 57.1%	14	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 21.4%	5 35.7%	6 42.9%	14	4.2
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 21.4%	5 35.7%	6 42.9%	14	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 7.1%	1 7.1%	5 35.7%	7 50%	14	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ECON	N - 5140		Survey Comparisons				
La	Labs and Online Learning Questions		Re	sponses	(%)		C	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	71	4.4	44
Q1	The course topics are organized in a coherent fashion.	0	0	1 8.3%	6 50%	5 41.7%	12	4.3	120	4.4	33

Course:	HSML - 4100 040 - Chemical Addictions	Department:	518000
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	2 / 12 (16.67%)

Corr	se Evaluation Questions				Phillip	Ortiz		
Cour	se Evaluation Questions			Respo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	1 50%	0	2	3.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					HSML -	4100 - 040		Survey Comparisons			
Labs and Online Learning Questions			R	espo	onses (%	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	71	4.4	90
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	120	4.4	46

Course:	HSML - 4350 041 - Community Organizing, Development and Collaboration	Department:	518000
Responsible Faculty:	Joy Patton	Responses / Expected:	5 / 15 (33.33%)

Cour	se Evaluation Questions				Joy Pa	atton		
Cour	se Evaluation Questions		F	Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	2 40%	2 40%	5	4.2
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 60%	2 40%	5	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	3 60%	2 40%	5	4.4
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 80%	1 20%	5	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	2 40%	2 40%	5	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 60%	2 40%	5	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 40%	2 40%	1 20%	5	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 60%	2 40%	5	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				ŀ	ISML - 43	50 - 041	Survey Comparisons				
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	71	4.4	69
Q16	The course topics are organized in a coherent fashion.	0	0	1 25%	2 50%	1 25%	4	4.0	120	4.4	23

Course:	HSML - 4700 040 - Program Planning and Evaluation	Department:	518000
Responsible Faculty:	Joy Patton	Responses / Expected:	6 / 15 (40%)

C	se Evaluation Questions				Joy Pa	tton		
Cour	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 83.3%	1 16.7%	6	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					HSML - 4	700 - 040			Survey Comparisons					
Lal	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 100%	0	3	4.0	71	4.4	31			
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	120	4.4	69			

Fall 2017 8W1 Survey	University of North Texas at Dallas
6178 - Fall 2017 - 8W1	UNT-Dallas

Course:	LAW - 7108 501 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Bailey Eagin	Responses / Expected:	2 / 9 (22.22%)

Cour	se Evaluation Questions	Bailey Eagin										
Cour	SE EVALUATION QUESTIONS		R	espo	nses (S	%)	In	dividual				
		SD	D	N	Α	SA	N	Mean				
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0				
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0				
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0				
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0				
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0				
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0				
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0				
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0				
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0				
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0				
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0				
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0				
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5				
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0				

Course:	LAW - 7123 001 - Bankruptcy I	Department:	LawSchool
Responsible Faculty:	Howard Spector	Responses / Expected:	22 / 53 (41.51%)

^	Forbutton Occations			Howa	rd Spect	or		
Cour	se Evaluation Questions		Responses (%)					lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	5 22.7%	4 18.2%	5 22.7%	6 27.3%	2 9.1%	22	2.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 4.5%	5 22.7%	5 22.7%	9 40.9%	2 9.1%	22	3.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	7 31.8%	7 31.8%	6 27.3%	1 4.5%	1 4.5%	22	2.2
Q4	My instructor provides material that helps me do well on assignments.	6 27.3%	4 18.2%	10 45.5%	1 4.5%	1 4.5%	22	2.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 9.1%	5 22.7%	7 31.8%	6 27.3%	2 9.1%	22	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	8 38.1%	4 19%	8 38.1%	1 4.8%	0	21	2.1
Q7	My instructor establishes a climate of respect for students.	0	1 4.5%	3 13.6%	10 45.5%	8 36.4%	22	4.1
Q8	My instructor is available to me on matters pertaining to the course.	2 9.1%	3 13.6%	8 36.4%	7 31.8%	2 9.1%	22	3.2
Q9	My instructor encourages me to do my best work.	3 13.6%	1 4.5%	7 31.8%	8 36.4%	3 13.6%	22	3.3
Q10	My instructor provides timely feedback to guide my progress.	6 27.3%	1 4.5%	9 40.9%	5 22.7%	1 4.5%	22	2.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 4.5%	4 18.2%	11 50%	6 27.3%	22	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	4 19%	3 14.3%	6 28.6%	6 28.6%	2 9.5%	21	3.0
Q13	My instructor encourages me to develop new viewpoints.	3 13.6%	5 22.7%	8 36.4%	5 22.7%	1 4.5%	22	2.8
Q14	My instructor made the subject interesting and motivated me to learn.	4 19%	6 28.6%	7 33.3%	2 9.5%	2 9.5%	21	2.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Lab	Labs and Online Learning Questions		LAW - 7123 - 001  Responses (%)  Course							Survey Comparisons All			
		SD	D	N N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	2 100%	0	0	2	3.0	71	4.4	17		
Q16	The course topics are organized in a coherent fashion.	1 20%	0	4 80%	0	0	5	2.6	120	4.4	13		

Fall 2017 8W1 Survey
University of North Texas at Dallas
6178 - Fall 2017 - 8W1
UNT-Dallas

Course:	LAW - 7134 001 - Employment Law I	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	8 / 20 (40%)

C	na Fusivation Ovastions			Michael Maslanka					
Coul	se Evaluation Questions		ı	Response	esponses (%)			dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	4 50%	4 50%	8	4.5	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 50%	4 50%	8	4.5	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	1 12.5%	1 12.5%	5 62.5%	8	4.3	
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	8 100%	8	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0	
Q10	My instructor provides timely feedback to guide my progress.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 14.3%	6 85.7%	7	4.9	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 25%	6 75%	8	4.8	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				LAW - 7	134 - 001	Survey Comparisons				
Lab				Res	ponses (%)	)	(	Course	All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	71	4.4	-
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	120	4.4	69

Course:	MGMT - 3340 011 - Introduction to the Global Auto Industry	Department:	516100
Responsible Faculty:	Cathy Scott	Responses / Expected:	10 / 35 (28.57%)

	Production Occupion			(	Cathy Sco	tt		
Cour	se Evaluation Questions			Response	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 10%	3 30%	6 60%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	0	4 40%	5 50%	10	4.2
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	1 10%	1 10%	7 70%	10	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	2 20%	7 70%	10	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 30%	7 70%	10	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 50%	5 50%	10	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 10%	3 30%	6 60%	10	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	2 20%	2 20%	5 50%	10	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	3 30%	6 60%	10	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	3 30%	6 60%	10	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				MGMT - 3	3340 - 011		Survey Comparisons			
La				Res	ponses (%)	)	(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	71	4.4	69
Q1	The course topics are organized in a coherent fashion.	0	0	0	4 44.4%	5 55.6%	9	4.6	120	4.4	56

Course:	MGMT - 4300 010 - Recruitment, Selection and Placement	Department:	516100
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	10 / 30 (33.33%)

_				Eli	zabeth	Muniz		
Cour	se Evaluation Questions		R	esponse	es (%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 30%	7 70%	10	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 30%	7 70%	10	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 40%	6 60%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 20%	8 80%	10	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 20%	0	8 80%	10	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 20%	2 20%	6 60%	10	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 20%	8 80%	10	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	2 20%	7 70%	10	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	3 30%	7 70%	10	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	0	2 20%	7 70%	10	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	3 30%	6 60%	10	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 40%	6 60%	10	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	10 100%	10	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				М	ЭМТ	- 4300 - (	010		Survey Comparisons				
			Res	pons	ses	(%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	71	4.4	90		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	120	4.4	96		

Course:	MGMT - 4300 011 - Recruitment, Selection and Placement	Department:	516100
Responsible Faculty:	Angela Boston	Responses / Expected:	4 / 15 (26.67%)

Cour	se Evaluation Questions			Ar	ngela Bos	ton		
Cour	se evaluation questions		Re	sponse	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 25%	1 25%	1 25%	0	1 25%	4	2.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	0	1 25%	2 50%	4	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	2 50%	1 25%	4	3.5
Q4	My instructor provides material that helps me do well on assignments.	0	2 50%	0	1 25%	1 25%	4	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 25%	1 25%	1 25%	1 25%	4	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 50%	0	1 25%	0	1 25%	4	2.5
Q7	My instructor establishes a climate of respect for students.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	1 25%	2 50%	4	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	2 50%	1 25%	4	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 50%	1 25%	1 25%	4	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 75%	1 25%	4	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				MG	MT - 4300		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3	71	4.4	21
Q1	The course topics are organized in a coherent fashion.	2 50%	0	1 25%	0	1 25%	4	2.5	120	4.4	10

Course:	MGMT - 5140 010 - Organizational Behavior and Analysis	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	7 / 24 (29.17%)

C	on Fusionation Aventions				Frances (	Conner		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				N	IGMT - 51	40 - 010	Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 25%	1 25%	2 50%	4	4.3	71	4.4	38
Q10	The course topics are organized in a coherent fashion.	0	0	0	3 42.9%	4 57.1%	7	4.6	120	4.4	60

Course:	MKTG - 3650 010 - Foundations of Marketing Practice	Department:	516100
Responsible Faculty:	Gary Holmes	Responses / Expected:	7 / 28 (25%)

Com	se Evaluation Questions				Gary	Holmes		
Cour	se evaluation questions			Res	ponses (%	·)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	7 100%	7	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	7 100%	7	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	7 100%	7	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	7 100%	7	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MKTG - 3	650 - 010	Survey Comparisons					
Labs and Online Learning Questions				Res	ponses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	71	4.4	79	
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	120	4.4	85	

Course:	MKTG - 3650 011 - Foundations of Marketing Practice	Department:	516100
Responsible Faculty:	Gary Holmes	Responses / Expected:	6 / 29 (20.69%)

C	na Fualuation Overstions			0	ary Holn	ies		
Cour	se Evaluation Questions			Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	0	0	0	4 80%	5	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 60%	2 40%	5	4.4
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 50%	3 50%	6	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				ı	иктс -	3650 - 01°	1		Survey Comparisons			
Lab	Labs and Online Learning Questions		R	espo	nses (%	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	71	4.4	90	
Q10	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	120	4.4	46	

Fall 2017 8W1 Survey
University of North Texas at Dallas
6178 - Fall 2017 - 8W1
UNT-Dallas

Course:	MUED - 1130 001 - Foundations in Music	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	9 / 19 (47.37%)

Cou	se Evaluation Questions				uth Gueva	ıra		
oou.	SE PRIMITION QUESTIONS		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 11.1%	1 11.1%	2 22.2%	5 55.6%	9	4.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				М	UED	- 1130 - 0	01		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)						All				
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	71	4.4	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	120	4.4	96		

Course:	MUED - 1130 002 - Foundations in Music	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	4 / 11 (36.36%)

٥	se Evaluation Questions				Ruth	Guevara	3	
Cour	se evaluation questions		Re	spo	nses (%	)	ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MUED - 1	130 - 002		Survey Comparisons					
Lab	Labs and Online Learning Questions			Res	ponses (%)	)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	71	4.4	54		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	120	4.4	69		

Course:	PADM - 5030 030 - Managing Human Resources	Department:	514240
Responsible Faculty:	Karen Jarrell	Responses / Expected:	15 / 24 (62.50%)

<b>^</b>	Forderston Occasions			Kar	en Jarrell			
Coui	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 6.7%	2 13.3%	1 6.7%	4 26.7%	7 46.7%	15	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 6.7%	1 6.7%	1 6.7%	5 33.3%	7 46.7%	15	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 6.7%	4 26.7%	10 66.7%	15	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 6.7%	4 26.7%	10 66.7%	15	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.7%	1 6.7%	1 6.7%	4 26.7%	8 53.3%	15	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 13.3%	2 13.3%	1 6.7%	3 20%	7 46.7%	15	3.7
Q7	My instructor establishes a climate of respect for students.	0	0	2 13.3%	3 20%	10 66.7%	15	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 6.7%	7 46.7%	7 46.7%	15	4.4
Q9	My instructor encourages me to do my best work.	1 6.7%	0	3 20%	2 13.3%	9 60%	15	4.2
Q10	My instructor provides timely feedback to guide my progress.	0	2 14.3%	1 7.1%	5 35.7%	6 42.9%	14	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 13.3%	3 20%	10 66.7%	15	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.1%	4 28.6%	9 64.3%	14	4.6
Q13	My instructor encourages me to develop new viewpoints.	1 6.7%	0	2 13.3%	4 26.7%	8 53.3%	15	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.1%	1 7.1%	1 7.1%	2 14.3%	9 64.3%	14	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				PADI		Survey Comparisons						
Labs and Online Learning Questions		Responses (%) Co								All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	2 25%	0	3 37.5%	3 37.5%	8	3.9	71	4.4	25	
Q16	The course topics are organized in a coherent fashion.	1 8.3%	2 16.7%	1 8.3%	3 25%	5 41.7%	12	3.8	120	4.4	17	

Course:	PADM - 5900 032 - Special Problems	Department:	514240
Responsible Faculty:	Janiece Upshaw	Responses / Expected:	2 / 4 (50%)

Cover	se Evaluation Questions				Jani	ece Upsh	aw	
Cour	se evaluation questions		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				PADI	M - 5	5900 - 03	32	Survey Comparisons				
Labs	s and Online Learning Questions	Responses (%) Course								All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	71	4.4	31	
Q16	The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	120	4.4	23	

Course:	LAW - 7V30 503 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Loren Jacobson	Responses / Expected:	13 / 18 (72.22%)

٥	rse Evaluation Questions			Lor	en Jacob	son		
Coul	se Evaluation Questions		R	esponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.7%	0	0	2 15.4%	10 76.9%	13	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 7.7%	1 7.7%	2 15.4%	1 7.7%	8 61.5%	13	4.1
Q4	My instructor provides material that helps me do well on assignments.	1 7.7%	0	2 15.4%	1 7.7%	9 69.2%	13	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.7%	0	2 15.4%	2 15.4%	8 61.5%	13	4.2
Q7	My instructor establishes a climate of respect for students.	1 7.7%	0	0	1 7.7%	11 84.6%	13	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q9	My instructor encourages me to do my best work.	1 7.7%	0	1 7.7%	2 15.4%	9 69.2%	13	4.4
Q10	My instructor provides timely feedback to guide my progress.	1 7.7%	0	0	5 38.5%	7 53.8%	13	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8
Q13	My instructor encourages me to develop new viewpoints.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.7%	0	1 7.7%	1 7.7%	10 76.9%	13	4.5

Labs and Online Learning Questions				LAW	- 7	V30 - 50	3	Survey Comparisons				
			Re	sponses	s (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	6	4.5	38	
Q16	The course topics are organized in a coherent fashion.	0	0	1 20%	0	4 80%	5	4.6	11	4.5	63	

Course:	LAW - 7108 001 - ADVANCED LEGAL RESEARCH	Department:	LawSchool
Responsible Faculty:	Edward Hart	Responses / Expected:	8 / 17 (47.06%)

٥	Furbration Occasions				Edward	Hart		
Coui	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	6 75%	2 25%	8	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	6 75%	1 12.5%	8	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	6 75%	1 12.5%	8	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 12.5%	6 75%	1 12.5%	8	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 87.5%	1 12.5%	8	4.1
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 87.5%	1 12.5%	8	4.1
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	7 87.5%	1 12.5%	8	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 75%	2 25%	8	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	5 71.4%	1 14.3%	7	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1

	Lake and Online Learning Operations					108 - 001	Survey Comparisons				
-	Labs and Online Learning Questions			Res	sponses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
C	Q15 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	6	4.5	63
C	Q16 The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	11	4.5	38

Course:	LAW - 7110 001 - Criminal Law Topics	Department:	LawSchool
Responsible Faculty:	Mike Howard	Responses / Expected:	6 / 14 (42.86%)

٥	rse Evaluation Questions			Mik	e Howard			
Coul	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	6 100%	6	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	0	5 83.3%	6	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	0	0	5 83.3%	6	4.3
Q7	My instructor establishes a climate of respect for students.	1 16.7%	0	0	0	5 83.3%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q9	My instructor encourages me to do my best work.	1 16.7%	0	0	0	5 83.3%	6	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	0	5 83.3%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	0	0	5 83.3%	6	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	0	0	5 83.3%	6	4.3

Labs	and Online Learning Questions		Res			- 7110 - 00 (%)		Course	Survey Comparisons All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	6	4.5	88	
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	11	4.5	88	

COL 8W2 Fall 2017 Student Survey	University of North Texas at Dallas
6178 - Fall 2017 - 8W2	UNT-Dallas

Course:	LAW - 7123 501 - Bankruptcy I	Department:	LawSchool
Responsible Faculty:	Howard Spector	Responses / Expected:	4 / 10 (40%)

Com	se Evaluation Questions				Howard	Spector			
Coui	25 Evaluation Questions			Respon	ses (%)		In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Ag	ree or l	Disag	gree=3 [	A] Agree	=4 [SA] S	Strong	Jly Agree=	

Course:	ART - 1300 032 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	7 / 28 (25%)

^-	Full stire Occation				Pamela I	larris		
Cou	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 42.9%	0	4 57.1%	7	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ART - 13	00 - 032		Survey Comparisons				
La	s and Online Learning Questions	Responses (%)						Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	57	4.5	40	
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	104	4.6	40	

Course:	BUSI - 5190 010 - Administrative Strategy	Department:	516100
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	1 / 10 (10%)

Com	se Evaluation Questions			lhan				
Cou	Se Evaluation Questions		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				В	USI -	- 5190 - 01	10		Survey Comparisons				
L	bs and Online Learning Questions		Res	pons	ses (	(%)	(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	57	4.5	79		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	104	4.6	86		

Course:	CJUS - 5100 030 - Information Warfare, Security and Risk Analysis	Department:	514100
Responsible Faculty:	Richard Holden	Responses / Expected:	5 / 16 (31.25%)

Col	urse Evaluation Questions							Richard Holden									
Cour	se Evaluation Questions		Re	spo	nses (%	)	ln	dividual									
		SD	D	N	Α	SA	N	Mean									
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8									
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8									
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8									
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8									
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8									
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8									
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8									
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8									
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8									
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8									
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8									
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8									
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8									
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8									

				C	JUS	- 5100 - 0	30		Survey Comparisons				
Labs and Online Learning Questions			Res	oons	ses (	(%)	(	Course	All				
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	57	4.5	79		
Q1	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	104	4.6	86		

Course:	CJUS - 5600 030 - Advanced Criminological Theory	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	3 / 13 (23.08%)

<b>^</b>	Full state Occasion				Nahid Si	ddique		
Cour	se Evaluation Questions		Re	espo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0	0	0	2 66.7%	3	3.7
Q7	My instructor establishes a climate of respect for students.	1 33.3%	0	0	0	2 66.7%	3	3.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 33.3%	0	0	0	2 66.7%	3	3.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					CJUS -	5600 - 030	)		Survey Comparisons			
Lab	Labs and Online Learning Questions		R	espo	onses (%	·)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	57	4.5	79	
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	104	4.6	19	

Course:	CJUS - 5700 030 - Evaluation and Research Methodologies	Department:	514100
Responsible Faculty:	Paul Reynolds	Responses / Expected:	1 / 4 (25%)

Cour	se Evaluation Questions		Pacr		Paul Reyies (%)	nolds	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 100%	0	0	0	0	1	1.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 100%	0	0	0	0	1	1.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 100%	0	0	0	0	1	1.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 100%	0	0	0	0	1	1.0
Q7	My instructor establishes a climate of respect for students.	1 100%	0	0	0	0	1	1.0
Q8	My instructor is available to me on matters pertaining to the course.	1 100%	0	0	0	0	1	1.0
Q9	My instructor encourages me to do my best work.	1 100%	0	0	0	0	1	1.0
Q10	My instructor provides timely feedback to guide my progress.	1 100%	0	0	0	0	1	1.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 100%	0	0	0	0	1	1.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 100%	0	0	0	0	1	1.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				(	CJUS - 57(	00 - 03	0		Survey Comparisons				
Lab	Labs and Online Learning Questions		Re	espo	nses (%)		(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	57	4.5	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	104	4.6	7		

Course:	CJUS - 5900 030 - Special Problems	Department:	514100
Responsible Faculty:	Paul Reynolds	Responses / Expected:	5 / 5 (100%)

Cou	rse Evaluation Questions		_		ul Reyr	nolds	l <u>.</u>	
				sponse	. ,	ı		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	0	4 80%	5	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	1 20%	1 20%	0	3 60%	5	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C.	JUS	- 5900 - 0	30	Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	57	4.5	79	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	104	4.6	86	

Course:	ENGL - 1323 030 - Computer Assisted College Writing II	Department:	514120
Responsible Faculty:	Robert Harris	Responses / Expected:	5 / 18 (27.78%)

Cour	se Evaluation Questions			Ro	bert Ha	rris		
Coui	se Lyaluation Questions		Res	ponses	(%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 20%	1 20%	1 20%	2 40%	5	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	1 20%	3 60%	5	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 20%	1 20%	2 40%	1 20%	5	3.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 20%	0	2 40%	2 40%	5	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	2 40%	2 40%	5	4.0
Q7	My instructor establishes a climate of respect for students.	0	1 25%	1 25%	0	2 50%	4	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	1 20%	3 60%	5	4.4
Q9	My instructor encourages me to do my best work.	0	1 20%	1 20%	1 20%	2 40%	5	3.8
Q10	My instructor provides timely feedback to guide my progress.	1 20%	0	0	2 40%	2 40%	5	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	1 20%	3 60%	5	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 20%	1 20%	2 40%	1 20%	5	3.6
Q13	My instructor encourages me to develop new viewpoints.	0	1 20%	0	2 40%	2 40%	5	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 20%	0	1 20%	1 20%	2 40%	5	3.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			EN	NGL - 13	23 - 030		Survey Comparisons			
Lal			Res	spon	ses (%)		(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	57	4.5	17
Q1	The course topics are organized in a coherent fashion.	1 25%	0	0	1 25%	2 50%	4	3.8	104	4.6	2

Course:	HSML - 4200 040 - Grant Proposal Research and Writing	Department:	518000
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	8 / 23 (34.78%)

٥	Furbustion Occasions				Iftekhar	Amin		
Cour	se Evaluation Questions			Respor	ıses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q7	My instructor establishes a climate of respect for students.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q9	My instructor encourages me to do my best work.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 62.5%	3 37.5%	8	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				Н	SML - 420	Survey Comparisons					
Lab	Labs and Online Learning Questions			Respoi	nses (%)		(	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 100%	0	0	1	3.0	57	4.5	12
Q16	The course topics are organized in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3	104	4.6	12

Course:	HSML - 4650 040 - Assessment of Behavioral and Chemical Addictions	Department:	518000
Responsible Faculty:	Shelia Lumar	Responses / Expected:	1 / 6 (16.67%)

Cour	se Evaluation Questions						ia Lumar			
			_	·	ses	, ,		dividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	0	0	100%	1	5.0		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0		
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0		
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				н	SML	- 4650 - 0	40		Survey Comparisons				
Lab	and Online Learning Questions	Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	57	4.5	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	104	4.6	86		

Course:	MGMT - 4180 010 - Workplace Health and Safety	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	16 / 35 (45.71%)

Cour	se Evaluation Questions					s Conner		
oou.	5 Hadden (4-5-10-10-10-10-10-10-10-10-10-10-10-10-10-			Resp	onses (%	)	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 25%	12 75%	16	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 25%	12 75%	16	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 25%	12 75%	16	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 25%	12 75%	16	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 25%	12 75%	16	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 25%	12 75%	16	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 25%	12 75%	16	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 25%	12 75%	16	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	4 25%	12 75%	16	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 25%	12 75%	16	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 25%	12 75%	16	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 26.7%	11 73.3%	15	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 25%	12 75%	16	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 25%	12 75%	16	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					мсмт -	4180 - 01	Survey Comparisons				
Lab	Labs and Online Learning Questions		Respo			.)	C	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	57	4.5	79
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 10%	9 90%	10	4.9	104	4.6	69

Course:	MGMT - 4180 011 - Workplace Health and Safety	Department:	516100
Responsible Faculty:	Steve Tidwell	Responses / Expected:	17 / 34 (50%)

<b>^</b>	Productive Occasions				Steve T	idwell		
Cour	se Evaluation Questions			Respo	nses (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 5.9%	5 29.4%	11 64.7%	17	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	8 47.1%	9 52.9%	17	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	8 47.1%	9 52.9%	17	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	6 35.3%	11 64.7%	17	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5.9%	9 52.9%	7 41.2%	17	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	11 64.7%	6 35.3%	17	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	1 5.9%	7 41.2%	9 52.9%	17	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 5.9%	6 35.3%	10 58.8%	17	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 5.9%	7 41.2%	9 52.9%	17	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	5 29.4%	12 70.6%	17	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 35.3%	11 64.7%	17	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	7 41.2%	10 58.8%	17	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 5.9%	7 41.2%	9 52.9%	17	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 6.3%	6 37.5%	9 56.3%	16	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				М	GMT - 418	0 - 011	Survey Comparisons				
Lab	Labs and Online Learning Questions			Respons	ses (%)		С	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	3 30%	7 70%	10	4.7	57	4.5	55
Q16	The course topics are organized in a coherent fashion.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5	104	4.6	26

Course:	MGMT - 4340 010 - Dealership Variable Operations	Department:	516100
Responsible Faculty:	David Spaulding	Responses / Expected:	5 / 25 (20%)

Cou	se Evaluation Questions				David S	•	•	
			_	·	nses (%	,		dividual
		D	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				MGMT -	4340 - 010	Survey Comparisons				
La				Res	esponses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q <sup>2</sup>	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	57	4.5	50
Q	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	104	4.6	64

Course:	MGMT - 5310 011 - Employment, Placement and Personnel Planning	Department:	516100
Responsible Faculty:	Christopher DeClerk	Responses / Expected:	6 / 13 (46.15%)

۰	as Fusivation Avestions			Cł	ristopher	DeClerk		
Cour	se Evaluation Questions			Respor	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions			M	IGMT -	5310 - 0	11		Survey Comparisons			
Lab			Re	spo	nses (%)	)	(	Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 75%	1 25%	4	4.3	57	4.5	36	
Q10	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	104	4.6	40	

Course:	MGMT - 5660 010 - International Management	Department:	516100
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	6 / 27 (22.22%)

Cour	se Evaluation Questions			Ayse	Goktan E	Bilhan		
Cour	se evaluation questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				MGN	/T -	5660 - 01	Survey Comparisons					
			R	Responses (%)				Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	57	4.5	79	
Q16	The course topics are organized in a coherent fashion.	0	0	1 20%	0	4 80%	5	4.6	104	4.6	40	

Course:	MGMT - 5870 010 - Leadership Research and Development	Department:	516100
Responsible Faculty:	Chemene Crawford	Responses / Expected:	10 / 30 (33.33%)

Cour	se Evaluation Questions			Che	emene Cra	awford		
Cour	se Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 10%	3 30%	6 60%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 10%	3 30%	6 60%	10	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 40%	6 60%	10	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	3 30%	6 60%	10	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 30%	7 70%	10	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 30%	7 70%	10	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 30%	7 70%	10	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	3 30%	7 70%	10	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	0	4 40%	5 50%	10	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	3 30%	6 60%	10	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

	Labs and Online Learning Questions				MGMT - 5	5870 - 010	Survey Comparisons				
Lal				Res	ponses (%)	)	(	Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	57	4.5	45
Q1	The course topics are organized in a coherent fashion.	0	0	0	4 44.4%	5 55.6%	9	4.6	104	4.6	31

Course:	MKTG - 5150 011 - Marketing Management	Department:	516100
Responsible Faculty:	Gary Holmes	Responses / Expected:	10 / 39 (25.64%)

Col	se Evaluation Questions				Gary Hol	mes		
Cour	se Evaluation Questions		F	Respon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 30%	7 70%	10	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 30%	7 70%	10	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 10%	2 20%	7 70%	10	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 20%	1 10%	7 70%	10	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 20%	8 80%	10	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	1 10%	2 20%	6 60%	10	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 30%	7 70%	10	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8
Q9	My instructor encourages me to do my best work.	0	0	1 10%	2 20%	7 70%	10	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 20%	8 80%	10	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 20%	8 80%	10	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 30%	7 70%	10	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				М	KTG - 515		Survey Comparisons				
Labs	s and Online Learning Questions			Respon	ıses (%)		(	Course	e All an N Mean 2 57 4.5		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	57	4.5	26
Q16	The course topics are organized in a coherent fashion.	0	0	0	3 33.3%	6 66.7%	9	4.7	104	4.6	55

Course:	MKTG - 5150 012 - Marketing Management	Department:	516100
Responsible Faculty:	Gary Holmes	Responses / Expected:	7 / 18 (38.89%)

Com	se Evaluation Questions				Gary	Holmes		
Cour	SE EVALUATION QUESTIONS			Res	ponses (%	·)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 28.6%	5 71.4%	7	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	7 100%	7	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MKTG - 5	150 - 012	S	Survey Comparisons			
Lab	Labs and Online Learning Questions		Responses (%)							All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	57	4.5	79
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	104	4.6	55

Course:	PLDR - 5330 030 - Organization Theory and Managing Change in Public Service	Department:	514240
Responsible Faculty:	Larry Terry	Responses / Expected:	2 / 15 (13.33%)

٥	on Fusionation Quanting				Ları	ry Terry		
Cour	se Evaluation Questions		R	espo	onses (9	%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions			F	Resp	PLDR - 5		Course	S	Survey Comparisons All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
q	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	57	4.5	21	
q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	104	4.6	86	

Course:	TECM - 2700 031 - Technical Writing	Department:	514120
Responsible Faculty:	Roberto Tinajero II	Responses / Expected:	10 / 23 (43.48%)

٥	Traduction Organisms			Ro	berto Tin	ajero II		
Cou	se Evaluation Questions		ı	Respon	ses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	5 50%	5 50%	10	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 50%	5 50%	10	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 50%	5 50%	10	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 10%	4 40%	5 50%	10	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	0	4 40%	5 50%	10	4.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 50%	5 50%	10	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	5 50%	5 50%	10	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	5 50%	5 50%	10	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	0	4 40%	5 50%	10	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	4 40%	5 50%	10	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 50%	5 50%	10	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	4 40%	5 50%	10	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 10%	0	3 30%	6 60%	10	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				1	ГЕСМ - 2	2700 - 03	31		s	Survey Comparisons			
	Labs and Online Learning Questions		Re	spo	nses (%)	)	(	Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
1	The section or lab is well integrated into the course structure.	0	0	0	4 80%	1 20%	5	4.2	57	4.5	31		
1	Q16 The course topics are organized in a coherent fashion.	0	0	0	4 50%	4 50%	8	4.5	104	4.6	19		

	Course:	THEA - 1130 001 - Introduction to Creative Drama in the Elementary School	Department:	518200
Responsible	e Faculty:	Ruth Guevara	Responses / Expected:	12 / 19 (63.16%)

٥	Furthering Occasions			Ruth Guevara						
Cour	se Evaluation Questions			Respon	ıses (%)		Inc	lividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	3 25%	4 33.3%	5 41.7%	12	4.2		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 41.7%	7 58.3%	12	4.6		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	6 50%	6 50%	12	4.5		
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 16.7%	3 25%	7 58.3%	12	4.4		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 8.3%	6 50%	5 41.7%	12	4.3		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	4 33.3%	2 16.7%	6 50%	12	4.2		
Q7	My instructor establishes a climate of respect for students.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 16.7%	6 50%	4 33.3%	12	4.2		
Q9	My instructor encourages me to do my best work.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6		
Q10	My instructor provides timely feedback to guide my progress.	0	0	4 33.3%	3 25%	5 41.7%	12	4.1		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 25%	9 75%	12	4.8		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 50%	6 50%	12	4.5		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	4 33.3%	8 66.7%	12	4.7		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5		

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		THEA - 1130 - 001							Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)				(	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1!	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	57	4.5	79		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	104	4.6	55		

Course:	THEA - 1130 002 - Introduction to Creative Drama in the Elementary School	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	5 / 11 (45.45%)

Cour	se Evaluation Questions					Guevara		
			_		onses (9	• •		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		THEA - 1130 - 002							Survey Comparisons			
Labs and Online Learning Questions			Res	pons	ses	(%)		Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	57	4.5	79	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	104	4.6	86	

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7V02 001 - Independent Study In Legal Education	Department:	LawSchool
Responsible Faculty:	Jessica Haseltine	Responses / Expected:	2 / 11 (18.18%)

Com	se Evaluation Questions			J	essi	ssica Haseltine			
Coul	SE EVALUATION QUESTIONS		Res	pon	ses	(%)	In	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0	
<b>Q7</b>	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0	

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7V02 002 - Independent Study In Legal Education	Department:	LawSchool
Responsible Faculty:	Jessica Haseltine	Responses / Expected:	4 / 9 (44.44%)

Cours	e Evaluation Questions				Jessic			
oouic	c Enduation Questions		_		onses (S		-	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

COL LW1	6178 Fall 2017	7 Survey
6178 - Fa	ll 2017 - LW1	

Course:	LAW - 7V30 501 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Everett Chambers	Responses / Expected:	10 / 14 (71.43%)

Com	rse Evaluation Questions			Εν	erett Cha	mbers		
Cou	Se Evaluation Questions		l	Respon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 30%	7 70%	10	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 30%	7 70%	10	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 20%	8 80%	10	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 20%	8 80%	10	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 20%	8 80%	10	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	3 30%	7 70%	10	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	1 10%	9 90%	10	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	0	2 20%	7 70%	10	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 10%	9 90%	10	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	2 20%	7 70%	10	4.6
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 20%	8 80%	10	4.8

COL LW1 6178 Fall 2017 Survey
6178 - Fall 2017 - LW1

Course:	LAW - 7V30 502 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Craig Haynes	Responses / Expected:	2 / 4 (50%)

Com	rse Evaluation Questions				Cra	ig Hayne		
Oou	se Evaluation Questions		Res	pon	ses	(%)	Individual	
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7V91 001 - Practicum	Department:	LawSchool
Responsible Faculty:	David Radunsky	Responses / Expected:	12 / 20 (60%)

Com	rse Evaluation Questions			Da	vid Radur	sky		
Cou	se Evaluation Questions		1 8.3% 0 1 1 2 9 0 0 1 2 9 16.7% 759 0 1 8.3% 0 16.7% 759 1 8.3% 0 0 1 1 10 8.3% 0 0 2 9 16.7% 759 0 0 1 3 3 8.3% 255 66.7 0 0 0 0 2 10			Inc	dividual	
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 8.3%	0			9 75%	12	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0			9 75%	12	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0		0		9 75%	12	4.6
Q4	My instructor provides material that helps me do well on assignments.	1 8.3%	0	0		10 83.3%	12	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 8.3%	0	0		9 75%	12	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0			8 66.7%	12	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0		9 75%	12	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0		10 83.3%	12	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	3 25%	9 75%	12	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	3 25%	9 75%	12	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 25%	9 75%	12	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 8.3%	3 25%	8 66.7%	12	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	1 8.3%	0	0	2 16.7%	9 75%	12	4.5

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{S$ 

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7V91 002 - Practicum	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	6 / 9 (66.67%)

aluation Questions  Instructor explains difficult material clearly.  Instructor provides facts, examples, and references that helped me learn the material.  Instructor gives assignments that contribute to my understanding of the subject.	SD 0	0	Respor N	1 1 16.7%	<b>SA</b> 5	N	dividual Mean
nstructor provides facts, examples, and references that helped me learn the material.	0			1			Mean
nstructor provides facts, examples, and references that helped me learn the material.		0	0		5		
	0			10.7%	83.3%	6	4.8
nstructor gives assignments that contribute to my understanding of the subject		0	0	2 33.3%	4 66.7%	6	4.7
ionactor gives assignments that contribute to my unacrotaliany or the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
nstructor provides material that helps me do well on assignments.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
nstructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8
nstructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
nstructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
nstructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
nstructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
nstructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
nstructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
nstructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
nstructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
nstructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
ns	structor evaluates my work in ways that are helpful to my ability to learn.  structor establishes a climate of respect for students.  structor is available to me on matters pertaining to the course.  structor encourages me to do my best work.  structor provides timely feedback to guide my progress.  structor creates an atmosphere in which ideas can be exchanged freely.  structor encourages me to connect course topics to a wider understanding of the subject.  structor encourages me to develop new viewpoints.  structor made the subject interesting and motivated me to learn.	structor evaluates my work in ways that are helpful to my ability to learn.  0 structor establishes a climate of respect for students.  0 structor is available to me on matters pertaining to the course.  0 structor encourages me to do my best work.  0 structor provides timely feedback to guide my progress.  0 structor creates an atmosphere in which ideas can be exchanged freely.  0 structor encourages me to connect course topics to a wider understanding of the subject.  0 structor encourages me to develop new viewpoints.  0 structor made the subject interesting and motivated me to learn.  0 or	structor evaluates my work in ways that are helpful to my ability to learn.  0 0 structor establishes a climate of respect for students.  0 0 structor is available to me on matters pertaining to the course.  0 0 structor encourages me to do my best work.  0 0 structor provides timely feedback to guide my progress.  0 0 structor creates an atmosphere in which ideas can be exchanged freely.  0 0 structor encourages me to connect course topics to a wider understanding of the subject.  0 0 structor encourages me to develop new viewpoints.  0 0	structor evaluates my work in ways that are helpful to my ability to learn.  0 0 0  structor establishes a climate of respect for students.  0 0 0  structor is available to me on matters pertaining to the course.  0 0 0  structor encourages me to do my best work.  0 0 0  structor provides timely feedback to guide my progress.  0 0 0  structor creates an atmosphere in which ideas can be exchanged freely.  0 0 0  structor encourages me to connect course topics to a wider understanding of the subject.  0 0 0  structor encourages me to develop new viewpoints.  0 0 0  structor made the subject interesting and motivated me to learn.  0 0 0	structor explains new ideas by relating them to familiar concepts.  5	structor explains new ideas by relating them to ramiliar concepts.  10 0 0 16.7% 83.3% structor evaluates my work in ways that are helpful to my ability to learn.  10 0 0 0 1 1 5 16.7% 83.3% structor establishes a climate of respect for students.  10 0 0 0 1 1 5 16.7% 83.3% structor is available to me on matters pertaining to the course.  10 0 0 0 1 1 5 83.3% structor encourages me to do my best work.  10 0 0 0 1 1 5 83.3% structor encourages me to do my best work.  10 0 0 0 1 1 5 83.3% structor provides timely feedback to guide my progress.  10 0 0 0 2 4 4 66.7% structor creates an atmosphere in which ideas can be exchanged freely.  10 0 0 0 1 16.7% 83.3% structor encourages me to connect course topics to a wider understanding of the subject.  10 0 0 0 1 1 5 83.3% structor encourages me to develop new viewpoints.  10 0 0 0 1 1 5 83.3% structor encourages me to develop new viewpoints.  10 0 0 0 1 1 5 83.3% structor made the subject interesting and motivated me to learn.	structor explains new ideas by relating them to familiar concepts.  10 0 0 16.7% 83.3% 6 structor evaluates my work in ways that are helpful to my ability to learn.  10 0 0 0 1 1 5 83.3% 6 structor establishes a climate of respect for students.  10 0 0 0 1 1 5 83.3% 6 structor is available to me on matters pertaining to the course.  10 0 0 0 1 1 5 83.3% 6 structor encourages me to do my best work.  10 0 0 0 1 1 5 83.3% 6 structor provides timely feedback to guide my progress.  10 0 0 0 1 1 5 83.3% 6 structor provides timely feedback to guide my progress.  10 0 0 0 1 1 5 83.3% 6 structor creates an atmosphere in which ideas can be exchanged freely.  10 0 0 0 1 1 5 83.3% 6 structor encourages me to connect course topics to a wider understanding of the subject.  10 0 0 0 1 1 5 83.3% 6 66.7% 6 structor encourages me to develop new viewpoints.  10 0 0 0 1 1 5 5 6 structor encourages me to develop new viewpoints.  10 0 0 0 1 1 5 5 6 structor made the subject interesting and motivated me to learn.

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7V91 003 - Practicum	Department:	LawSchool
Responsible Faculty:	Sadaf Abdullah	Responses / Expected:	6 / 9 (66.67%)

٥	as Fusivation Avestions			Sada	f Abdulla	h		
Cour	se Evaluation Questions			In	dividual			
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 33.3%	0	3 50%	1 16.7%	6	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 33.3%	4 66.7%	0	6	3.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	1 16.7%	1 16.7%	3 50%	0	6	3.0
Q4	My instructor provides material that helps me do well on assignments.	1 16.7%	0	2 33.3%	3 50%	0	6	3.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	3 50%	2 33.3%	0	6	3.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	1 16.7%	1 16.7%	4 66.7%	0	6	3.5
Q9	My instructor encourages me to do my best work.	0	0	1 16.7%	5 83.3%	0	6	3.8
Q10	My instructor provides timely feedback to guide my progress.	0	2 33.3%	1 16.7%	3 50%	0	6	3.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 50%	3 50%	6	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 33.3%	3 50%	1 16.7%	6	3.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 33.3%	4 66.7%	0	6	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	1 16.7%	4 66.7%	0	6	3.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	] Neither A				4 [ <b>SA</b> ] St	rong	y Agree

COL LW1 6178 Fall 2017 Survey 6178 - Fall 2017 - LW1

Course:	LAW - 7V91 502 - Practicum	Department:	LawSchool
Responsible Faculty:	Clarence Cole	Responses / Expected:	9 / 19 (47.37%)

۰	on Fundamian Oversions				Clarence	Cole			
Cour	se Evaluation Questions			Respor		Individual			
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	0	9 100%	9	5.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	9 100%	9	5.0	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	0	8 88.9%	9	4.8	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	9 100%	9	5.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	0	8 88.9%	9	4.8	
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	9 100%	9	5.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	9 100%	9	5.0	
Q9	My instructor encourages me to do my best work.	0	0	0	0	9 100%	9	5.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	9 100%	9	5.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	9 100%	9	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	9 100%	9	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	9 100%	9	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2	2 [ <b>N</b> ] Neither Agr	ee or	Disagree=3			Strong	ly Agre	

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7V93 001 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	2 / 6 (33.33%)

Instructor explains difficult material clearly.  Instructor provides facts, examples, and references that helped me learn the material.  Instructor gives assignments that contribute to my understanding of the subject.  Instructor provides material that helps me do well on assignments.  Instructor explains new ideas by relating them to familiar concepts.	0 0 0 0	0 0 0	0 0	0 0	SA 2 100% 2 100% 2 100%	N 2 2 2	Mean 5.0 5.0
Instructor provides facts, examples, and references that helped me learn the material.  Instructor gives assignments that contribute to my understanding of the subject.  Instructor provides material that helps me do well on assignments.	0 0	0 0	0	0	2 100% 2 100% 2	2	5.0
astructor gives assignments that contribute to my understanding of the subject.	0	0			100%		
astructor provides material that helps me do well on assignments.			0	0		2	5.0
<u> </u>	0	0					
nstructor explains new ideas by relating them to familiar concepts.			0	0	2 100%	2	5.0
	0	0	0	0	2 100%	2	5.0
astructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
astructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
astructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
astructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
astructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
nstructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
nstructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
astructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
nstructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0
ns ns	structor establishes a climate of respect for students.  structor is available to me on matters pertaining to the course.  structor encourages me to do my best work.  structor provides timely feedback to guide my progress.  structor creates an atmosphere in which ideas can be exchanged freely.  structor encourages me to connect course topics to a wider understanding of the subject.  structor encourages me to develop new viewpoints.  structor made the subject interesting and motivated me to learn.	structor establishes a climate of respect for students.  ostructor is available to me on matters pertaining to the course.  ostructor encourages me to do my best work.  ostructor provides timely feedback to guide my progress.  ostructor creates an atmosphere in which ideas can be exchanged freely.  ostructor encourages me to connect course topics to a wider understanding of the subject.  ostructor encourages me to develop new viewpoints.  ostructor made the subject interesting and motivated me to learn.	structor establishes a climate of respect for students.  0 0 structor is available to me on matters pertaining to the course.  0 0 structor encourages me to do my best work.  0 0 structor provides timely feedback to guide my progress.  0 0 structor creates an atmosphere in which ideas can be exchanged freely.  0 0 structor encourages me to connect course topics to a wider understanding of the subject.  0 0 structor encourages me to develop new viewpoints.  0 0 0 structor made the subject interesting and motivated me to learn.	structor establishes a climate of respect for students.  0 0 0  structor is available to me on matters pertaining to the course.  0 0 0  structor encourages me to do my best work.  0 0 0  structor provides timely feedback to guide my progress.  0 0 0  structor creates an atmosphere in which ideas can be exchanged freely.  0 0 0  structor encourages me to connect course topics to a wider understanding of the subject.  0 0 0  structor encourages me to develop new viewpoints.  0 0 0  structor made the subject interesting and motivated me to learn.	structor establishes a climate of respect for students.  0 0 0 0 0 structor is available to me on matters pertaining to the course.  0 0 0 0 0 structor encourages me to do my best work.  0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	structor evaluates my work in ways that are neighble to my ability to learn.  0 0 0 0 0 2 100%  structor establishes a climate of respect for students.  0 0 0 0 0 2 100%  structor is available to me on matters pertaining to the course.  0 0 0 0 0 2 100%  structor encourages me to do my best work.  0 0 0 0 0 2 100%  structor provides timely feedback to guide my progress.  0 0 0 0 0 2 100%  structor creates an atmosphere in which ideas can be exchanged freely.  0 0 0 0 0 2 100%  structor encourages me to connect course topics to a wider understanding of the subject.  0 0 0 0 0 2 100%  structor encourages me to develop new viewpoints.	structor evaluates my work in ways that are neighborhood problem.  0 0 0 0 0 0 0 100% 2 structor establishes a climate of respect for students.  0 0 0 0 0 0 0 2 100% 2 structor is available to me on matters pertaining to the course.  0 0 0 0 0 0 2 100% 2 structor encourages me to do my best work.  0 0 0 0 0 0 0 2 100% 2 structor provides timely feedback to guide my progress.  0 0 0 0 0 0 0 2 100% 2 structor creates an atmosphere in which ideas can be exchanged freely.  0 0 0 0 0 0 2 100% 2 structor encourages me to connect course topics to a wider understanding of the subject.  0 0 0 0 0 0 2 100% 2 structor encourages me to develop new viewpoints.  0 0 0 0 0 0 2 100% 2 structor encourages me to develop new viewpoints.  0 0 0 0 0 0 2 2 100% 2 structor made the subject interesting and motivated me to learn.

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	

Course:	LAW - 7V93 501 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	2 / 7 (28.57%)

<u></u>	rse Evaluation Questions			С	heryl W	attley			
Coul	se Evaluation Questions			Responses (%)			Individu		
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	2 100%	0	0	2	3.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 100%	0	0	2	3.0	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	1 50%	0	2	3.5	
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 100%	0	0	2	3.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 100%	0	0	2	3.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5	
Q7	My instructor establishes a climate of respect for students.	0	0	2 100%	0	0	2	3.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	2 100%	0	0	2	3.0	
Q9	My instructor encourages me to do my best work.	0	0	1 50%	0	1 50%	2	4.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 50%	1 50%	0	2	3.5	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 100%	0	0	2	3.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 100%	0	0	2	3.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 50%	0	1 50%	2	4.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	1 50%	0	2	3.5	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7099 001 - Louis a. Bedford Jr. Mentorship Program	Department:	521260
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	39 / 61 (63.93%)

Cour	se Evaluation Questions		R	Ernest esponse	t Higginbo s (%)	otham	m Individual			
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	1 2.6%	1 2.6%	15 38.5%	13 33.3%	9 23.1%	39	3.7		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2.6%	0	13 33.3%	15 38.5%	10 25.6%	39	3.8		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 5.3%	3 7.9%	13 34.2%	12 31.6%	8 21.1%	38	3.6		
Q4	My instructor provides material that helps me do well on assignments.	2 5.3%	2 5.3%	13 34.2%	12 31.6%	9 23.7%	38	3.6		
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 2.6%	1 2.6%	10 26.3%	14 36.8%	12 31.6%	38	3.9		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 2.6%	2 5.3%	13 34.2%	11 28.9%	11 28.9%	38	3.8		
Q7	My instructor establishes a climate of respect for students.	1 2.7%	0	7 18.9%	14 37.8%	15 40.5%	37	4.1		
Q8	My instructor is available to me on matters pertaining to the course.	1 2.7%	2 5.4%	10 27%	13 35.1%	11 29.7%	37	3.8		
Q9	My instructor encourages me to do my best work.	1 2.6%	0	11 28.9%	14 36.8%	12 31.6%	38	3.9		
Q10	My instructor provides timely feedback to guide my progress.	1 2.6%	0	16 42.1%	13 34.2%	8 21.1%	38	3.7		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 2.7%	1 2.7%	9 24.3%	13 35.1%	13 35.1%	37	4.0		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.6%	0	14 36.8%	12 31.6%	11 28.9%	38	3.8		
Q13	My instructor encourages me to develop new viewpoints.	1 2.6%	0	11 28.9%	13 34.2%	13 34.2%	38	4.0		
Q14	My instructor made the subject interesting and motivated me to learn.	2 5.3%	0	11 28.9%	12 31.6%	13 34.2%	38	3.9		

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7099 002 - Louis a. Bedford Jr. Mentorship Program	Department:	521260
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	6 / 11 (54.55%)

Course	purse Evaluation Questions			Ernest Higginbotham									
	e evaluation questions		F	Respons	es (%)		Inc	dividual					
		SD	D	N	Α	SA	N	Mean					
Q1 N	My instructor explains difficult material clearly.	0	0	1 20%	1 20%	3 60%	5	4.4					
Q2 N	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q3 N	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q4 N	My instructor provides material that helps me do well on assignments.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q5 N	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q6 N	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q7 N	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q8 N	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q9 N	My instructor encourages me to do my best work.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q10 N	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q11 N	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q12 N	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q13 N	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q14 N	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3					

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7099 501 - Louis a. Bedford Jr. Mentorship Program	Department:	521260
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	26 / 43 (60.47%)

٥	Production Occupion			Erne	st Higginl	ootham		
Coui	se Evaluation Questions			Respons	esponses (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	12 46.2%	4 15.4%	10 38.5%	26	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	13 50%	4 15.4%	9 34.6%	26	3.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 7.7%	12 46.2%	3 11.5%	9 34.6%	26	3.7
Q4	My instructor provides material that helps me do well on assignments.	0	1 3.8%	13 50%	3 11.5%	9 34.6%	26	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	13 50%	3 11.5%	10 38.5%	26	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 3.8%	13 50%	3 11.5%	9 34.6%	26	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	6 23.1%	4 15.4%	16 61.5%	26	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	9 34.6%	4 15.4%	13 50%	26	4.2
Q9	My instructor encourages me to do my best work.	0	0	9 34.6%	5 19.2%	12 46.2%	26	4.1
Q10	My instructor provides timely feedback to guide my progress.	0	0	14 53.8%	4 15.4%	8 30.8%	26	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	8 30.8%	4 15.4%	14 53.8%	26	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 3.8%	11 42.3%	4 15.4%	10 38.5%	26	3.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	9 34.6%	5 19.2%	12 46.2%	26	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 7.7%	9 34.6%	5 19.2%	10 38.5%	26	3.9
Q14	My instructor made the subject interesting and motivated me to learn.  Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N		7.7%	34.6%	19.2%	38.5%		

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7099 502 - Louis a. Bedford Jr. Mentorship Program	Department:	521260
Responsible Faculty:	Ernest Higginbotham	Responses / Expected:	1 / 3 (33.33%)

Cour	se Evaluation Questions		Do	Ernest sponses	-	inbotham Individual			
			D	N	(%) A	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	1 100%	0	0	1	3.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 100%	0	0	1	3.0	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 100%	0	0	1	3.0	
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 100%	0	0	1	3.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 100%	0	0	1	3.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 100%	0	0	1	3.0	
Q7	My instructor establishes a climate of respect for students.	0	0	1 100%	0	0	1	3.0	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 100%	0	0	1	3.0	
Q9	My instructor encourages me to do my best work.	0	0	1 100%	0	0	1	3.0	
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 100%	0	0	1	3.0	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 100%	0	0	1	3.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 100%	0	0	1	3.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 100%	0	0	1	3.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 100%	0	0	1	3.0	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree o	r Disag	ree=	3 [ <b>A</b> ] Agre	e=4	[SA] :	Stron	gly Agree=	

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7101 501 - Principles of Accounting and Finance for Lawyers	Department:	LawSchool
Responsible Faculty:	Mark Sutherland	Responses / Expected:	17 / 26 (65.38%)

٥	Forbustion Occasions			Mark	Sutherla	nd		
Cou	se Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 11.8%	2 11.8%	2 11.8%	8 47.1%	3 17.6%	17	3.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.9%	1 5.9%	1 5.9%	9 52.9%	5 29.4%	17	3.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	1 5.9%	2 11.8%	11 64.7%	3 17.6%	17	3.9
Q4	My instructor provides material that helps me do well on assignments.	0	1 5.9%	1 5.9%	11 64.7%	4 23.5%	17	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 5.9%	2 11.8%	11 64.7%	3 17.6%	17	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 5.9%	4 23.5%	2 11.8%	7 41.2%	3 17.6%	17	3.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	12 70.6%	5 29.4%	17	4.3
Q8	My instructor is available to me on matters pertaining to the course.	2 11.8%	1 5.9%	1 5.9%	7 41.2%	6 35.3%	17	3.8
Q9	My instructor encourages me to do my best work.	0	0	1 6.3%	7 43.8%	8 50%	16	4.4
Q10	My instructor provides timely feedback to guide my progress.	4 23.5%	1 5.9%	3 17.6%	5 29.4%	4 23.5%	17	3.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 5.9%	8 47.1%	8 47.1%	17	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 11.8%	8 47.1%	7 41.2%	17	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	1 5.9%	3 17.6%	8 47.1%	5 29.4%	17	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.9%	3 17.6%	3 17.6%	6 35.3%	4 23.5%	17	3.5
•••	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N							

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7104 001 - Legal Methods	Department:	LawSchool
Responsible Faculty:	Preyal Shah	Responses / Expected:	40 / 61 (65.57%)

Com	se Evaluation Questions			Pr	eyal Shal	1		
Coui	se Evaluation duestions	Responses (%)				I		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 2.5%	13 32.5%	13 32.5%	13 32.5%	40	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 2.5%	8 20%	15 37.5%	16 40%	40	4.2
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 5%	11 27.5%	12 30%	15 37.5%	40	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	3 7.5%	11 27.5%	12 30%	14 35%	40	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 2.5%	11 27.5%	12 30%	16 40%	40	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	5 12.5%	9 22.5%	13 32.5%	13 32.5%	40	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	4 10%	13 32.5%	23 57.5%	40	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	5 12.5%	10 25%	25 62.5%	40	4.5
Q9	My instructor encourages me to do my best work.	0	0	5 12.8%	13 33.3%	21 53.8%	39	4.4
Q10	My instructor provides timely feedback to guide my progress.	1 2.6%	3 7.7%	11 28.2%	10 25.6%	14 35.9%	39	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	7 17.5%	16 40%	17 42.5%	40	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 2.5%	10 25%	13 32.5%	16 40%	40	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	1 2.5%	9 22.5%	15 37.5%	15 37.5%	40	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	4 10%	8 20%	11 27.5%	17 42.5%	40	4.0

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Cours	: LAW - 7104 501 - Legal Methods	Department:	LawSchool
Responsible Facult	: Jessica Haseltine	Responses / Expected:	26 / 43 (60.47%)

<b>^</b>	Forbustion Occupations			Jes	sica Has	eltine		
Cour	se Evaluation Questions	Responses (%)					Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	5 19.2%	9 34.6%	12 46.2%	26	4.3
2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 3.8%	5 19.2%	7 26.9%	13 50%	26	4.2
<b>)</b> 3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 7.7%	3 11.5%	8 30.8%	13 50%	26	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	2 8%	4 16%	7 28%	12 48%	25	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 3.8%	5 19.2%	8 30.8%	12 46.2%	26	4.2
26	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 3.8%	5 19.2%	7 26.9%	13 50%	26	4.2
<b>Q</b> 7	My instructor establishes a climate of respect for students.	0	0	1 3.8%	9 34.6%	16 61.5%	26	4.6
28	My instructor is available to me on matters pertaining to the course.	0	0	1 3.8%	9 34.6%	16 61.5%	26	4.6
29	My instructor encourages me to do my best work.	0	0	1 3.8%	9 34.6%	16 61.5%	26	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	1 3.8%	2 7.7%	9 34.6%	14 53.8%	26	4.4
211	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 7.7%	10 38.5%	14 53.8%	26	4.5
212	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	4 15.4%	9 34.6%	13 50%	26	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	6 23.1%	7 26.9%	13 50%	26	4.3
214	My instructor made the subject interesting and motivated me to learn.	0	2 7.7%	4 15.4%	6 23.1%	14 53.8%	26	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7109 001 - Academic Success Asst Pgm	Department:	LawSchool
Responsible Faculty:	Jessica Haseltine	Responses / Expected:	4 / 5 (80%)

Cou	rse Evaluation Questions		_		ica Hasel			
			Respoi			, ,		dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7109 501 - Academic Success Asst Pgm	Department:	LawSchool
Responsible Faculty:	Jessica Haseltine	Responses / Expected:	2 / 4 (50%)

Corr	Course Evaluation Questions			J	ica Hasel	eltine		
Oou	se Evaluation Questions	Respons			ses	, ,	Individual	
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
<b>Q</b> 7	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	

Соц	rse:	LAW - 7110 501 - Criminal Law Topics	Department:	LawSchool
Responsible Fac	ılty:	Ignacio Perez de la cruz	Responses / Expected:	10 / 17 (58.82%)

Ca	rse Evaluation Questions		I,	gnacio	Perez c	le la cru	IZ	
Cou	rse Evaluation Questions		Res	ponses	ક (%)			dividual
		SD	D	N	Α	SA	N	Mear
Q1	My instructor explains difficult material clearly.	2 20%	1 10%	0	2 20%	5 50%	10	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	0	2 20%	7 70%	10	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	2 20%	0	0	7 70%	10	4.0
Q4	My instructor provides material that helps me do well on assignments.	1 10%	1 10%	0	2 20%	6 60%	10	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	2 20%	0	0	2 20%	6 60%	10	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	1 10%	1 10%	2 20%	5 50%	10	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	1 10%	4 40%	5 50%	10	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	3 30%	6 60%	10	4.5
Q9	My instructor encourages me to do my best work.	1 10%	0	0	3 30%	6 60%	10	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 10%	1 10%	1 10%	7 70%	10	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 10%	2 20%	2 20%	5 50%	10	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	1 10%	2 20%	6 60%	10	4.2
Q13	My instructor encourages me to develop new viewpoints.	1 10%	1 10%	1 10%	1 10%	6 60%	10	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	2 20%	1 10%	0	1 10%	6 60%	10	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7115 501 - Family Law Topics	Department:	LawSchool
Responsible Faculty:	Roy Hance	Responses / Expected:	3 / 6 (50%)

Cour	se Evaluation Questions				R	oy Hance				
Cour	se evaluation questions	Response			ses	(%)	In	dividual		
		SD	D	N	Α	SA	N	Mean		
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0		
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0		
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0		
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0		
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0		
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0		
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0		
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0		
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0		
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0		
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0		
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0		
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0		
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7119 001 - Advocacy Skills Development	Department:	LawSchool
Responsible Faculty:	Clarence Cole	Responses / Expected:	4 / 6 (66.67%)

Cou	rse Evaluation Questions					nce Cole		
oou	or Pranting Automotive		ا	Response	s (%	)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	0	3 75%	4	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 25%	0	3 75%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	0	3 75%	4	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	1 25%	0	3 75%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	0	3 75%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	0	3 75%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	0	3 75%	4	4.5

COL LW1 6178 Fall 2017 Survey
6178 - Fall 2017 - LW1

Course:	LAW - 7127 501 - Law Practice Technology	Department:	LawSchool
Responsible Faculty:	Jennifer Wondracek	Responses / Expected:	5 / 8 (62.50%)

Cour	se Evaluation Questions					Wondracek			
			Responses (S			0.4		dividual	
Q1	My instructor explains difficult material clearly.	0	0	1	1 2000	<b>SA</b>	N 5	Mean 4.4	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	20%	20% 2 40%	60% 3 60%	5	4.6	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	1 20%	3 60%	5	4.4	
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8	
Q9	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6	
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 20%	1 20%	3 60%	5	4.4	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agre	e or Di	sagr	ee=3 [ <b>A</b> ]	Agree=	4 [ <b>SA</b> ] S	Strong	Jly Agree=5	

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Cours	: LAW - 7146 001 - Health Care Law I	Department:	LawSchool
Responsible Facult	: Loren Jacobson	Responses / Expected:	11 / 18 (61.11%)

Com	se Evaluation Questions				Loren .	Jacobson			
Cou	se Evaluation Questions			Res	ponses (%	5)	Inc	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	1 9.1%	10 90.9%	11	4.9	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 27.3%	8 72.7%	11	4.7	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 18.2%	9 81.8%	11	4.8	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 18.2%	9 81.8%	11	4.8	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 20%	8 80%	10	4.8	
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 9.1%	10 90.9%	11	4.9	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 18.2%	9 81.8%	11	4.8	
Q9	My instructor encourages me to do my best work.	0	0	0	1 9.1%	10 90.9%	11	4.9	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 18.2%	9 81.8%	11	4.8	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 9.1%	10 90.9%	11	4.9	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 18.2%	9 81.8%	11	4.8	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 9.1%	10 90.9%	11	4.9	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 9.1%	10 90.9%	11	4.9	

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7201 001 - Teaching Fellows	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	10 / 11 (90.91%)

Cou	se Evaluation Questions					an Bridge	_		
			_	·	onses (9			dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	0	1 10%	9 90%	10	4.9	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 10%	9 90%	10	4.9	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9	
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 10%	9 90%	10	4.9	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 10%	9 90%	10	4.9	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 10%	9 90%	10	4.9	
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 10%	9 90%	10	4.9	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 10%	9 90%	10	4.9	
Q9	My instructor encourages me to do my best work.	0	0	0	1 10%	9 90%	10	4.9	
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 10%	9 90%	10	4.9	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	10 100%	10	5.0	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	10 100%	10	5.0	
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	10 100%	10	5.0	
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 10%	9 90%	10	4.9	

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	

	Course:	LAW - 7205 501 - Texas Civil Procedure	Department:	LawSchool
Res	ponsible Faculty:	Christine Tamer	Responses / Expected:	56 / 68 (82.35%)

nstructor explains difficult material clearly.  Instructor provides facts, examples, and references that helped me learn the material.	SD 1 1.8%	D 2 3.6%	esponse N 1	s (%) A 16	SA	Ind N	lividual Mean
· · · · · · · · · · · · · · · · · · ·	1 1.8%	2	1		SA	N	Magr
· · · · · · · · · · · · · · · · · · ·	1.8%			16			wean
nstructor provides facts, examples, and references that helped me learn the material.	0		1.8%	28.6%	36 64.3%	56	4.5
	"	1 1.8%	1 1.8%	12 21.4%	42 75%	56	4.7
nstructor gives assignments that contribute to my understanding of the subject.	1 1.8%	1 1.8%	1 1.8%	16 28.6%	37 66.1%	56	4.6
nstructor provides material that helps me do well on assignments.	0	1 1.8%	4 7.3%	18 32.7%	32 58.2%	55	4.5
nstructor explains new ideas by relating them to familiar concepts.	0	0	2 3.6%	16 29.1%	37 67.3%	55	4.6
nstructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 5.5%	12 21.8%	40 72.7%	55	4.7
nstructor establishes a climate of respect for students.	0	0	0	18 32.1%	38 67.9%	56	4.7
nstructor is available to me on matters pertaining to the course.	0	0	1 1.8%	20 35.7%	35 62.5%	56	4.6
nstructor encourages me to do my best work.	1 1.8%	1 1.8%	1 1.8%	14 25.5%	38 69.1%	55	4.6
nstructor provides timely feedback to guide my progress.	0	1 1.8%	3 5.4%	17 30.4%	35 62.5%	56	4.5
nstructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 5.4%	17 30.4%	36 64.3%	56	4.6
nstructor encourages me to connect course topics to a wider understanding of the subject.	0	1 1.8%	4 7.1%	18 32.1%	33 58.9%	56	4.5
nstructor encourages me to develop new viewpoints.	0	1 1.9%	9 16.7%	15 27.8%	29 53.7%	54	4.3
nstructor made the subject interesting and motivated me to learn.	0	1 1.8%	4 7.1%	14 25%	37 66.1%	56	4.6
n n n n	Instructor explains new ideas by relating them to familiar concepts.  Instructor evaluates my work in ways that are helpful to my ability to learn.  Instructor establishes a climate of respect for students.  Instructor is available to me on matters pertaining to the course.  Instructor encourages me to do my best work.  Instructor provides timely feedback to guide my progress.  Instructor creates an atmosphere in which ideas can be exchanged freely.  Instructor encourages me to connect course topics to a wider understanding of the subject.  Instructor encourages me to develop new viewpoints.	Instructor explains new ideas by relating them to familiar concepts.  Instructor evaluates my work in ways that are helpful to my ability to learn.  Instructor establishes a climate of respect for students.  Instructor is available to me on matters pertaining to the course.  Instructor encourages me to do my best work.  Instructor provides timely feedback to guide my progress.  Instructor creates an atmosphere in which ideas can be exchanged freely.  Instructor encourages me to connect course topics to a wider understanding of the subject.  Instructor encourages me to develop new viewpoints.  Instructor made the subject interesting and motivated me to learn.	1.8% Instructor explains new ideas by relating them to familiar concepts.  1.8% Instructor explains new ideas by relating them to familiar concepts.  1.8% Instructor evaluates my work in ways that are helpful to my ability to learn.  1.8% Instructor establishes a climate of respect for students.  1.8% Instructor is available to me on matters pertaining to the course.  1.8% Instructor encourages me to do my best work.  1.8% Instructor provides timely feedback to guide my progress.  1.8% Instructor creates an atmosphere in which ideas can be exchanged freely.  1.8% Instructor encourages me to connect course topics to a wider understanding of the subject.  1.8% Instructor encourages me to develop new viewpoints.  1.8% Instructor made the subject interesting and motivated me to learn.  1.8% Instructor made the subject interesting and motivated me to learn.	Instructor explains new ideas by relating them to familiar concepts.  10 1.8% 7.3% astructor explains new ideas by relating them to familiar concepts.  10 0 0 2 3.6% astructor evaluates my work in ways that are helpful to my ability to learn.  10 0 0 3 5.5% astructor establishes a climate of respect for students.  10 0 0 0 1 1.8% astructor is available to me on matters pertaining to the course.  11 1 1 1.8% 1.8% 1.8% 1.8% instructor encourages me to do my best work.  11 1.8% 1.8% 1.8% 1.8% 1.8% instructor provides timely feedback to guide my progress.  12 1 1.8% 5.4% astructor creates an atmosphere in which ideas can be exchanged freely.  13 2 3 3 5.4% astructor encourages me to connect course topics to a wider understanding of the subject.  14 7.1% astructor encourages me to develop new viewpoints.  15 1 9 16.7% astructor made the subject interesting and motivated me to learn.	Instructor provides material that helps me do well on assignments.  10 1.8% 7.3% 32.7% astructor explains new ideas by relating them to familiar concepts.  10 0 0 2 3.6% 29.1% astructor evaluates my work in ways that are helpful to my ability to learn.  10 0 0 3.6% 29.1% astructor establishes a climate of respect for students.  10 0 0 0 18 32.1% astructor is available to me on matters pertaining to the course.  11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1.8%   7.3%   32.7%   58.2%	1.8% 7.3% 32.7% 58.2% 55 instructor explains new ideas by relating them to familiar concepts.  1.8% 7.3% 32.7% 58.2% 55 instructor explains new ideas by relating them to familiar concepts.  1.8% 7.3% 32.7% 58.2% 55 instructor explains new ideas by relating them to familiar concepts.  1.8% 7.3% 32.7% 58.2% 55 instructor explains new ideas by relating them to familiar concepts.  1.8% 3.6% 29.1% 67.3% 55 instructor explains new ideas by relating them to familiar concepts.  1.8% 3.5% 21.8% 27.7% 55 instructor establishes a climate of respect for students.  1.8% 3.1% 67.9% 56 instructor is available to me on matters pertaining to the course.  1.8% 1.8% 1.8% 1.8% 25.5% 62.5% 56 instructor encourages me to do my best work.  1.8% 1.8% 1.8% 1.8% 25.5% 60.1% 55 instructor provides timely feedback to guide my progress.  1.8% 1.8% 1.8% 1.8% 1.8% 1.8% 1.8% 5.4% 30.4% 62.5% 56 instructor creates an atmosphere in which ideas can be exchanged freely.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to connect course topics to a wider understanding of the subject.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to develop new viewpoints.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to develop new viewpoints.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to develop new viewpoints.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to develop new viewpoints.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to develop new viewpoints.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to develop new viewpoints.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to develop new viewpoints.  1.8% 7.1% 32.1% 58.9% 56 instructor encourages me to develop new viewpoints.

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7206 001 - Texas Criminal Procedure	Department:	LawSchool
Responsible Faculty:	Clarence Cole	Responses / Expected:	39 / 57 (68.42%)

<u></u>	se Evaluation Questions			С	larence C	ole		
Cour	se Evaluation Questions		R	esponse	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mear
Q1	My instructor explains difficult material clearly.	0	0	0	9 23.7%	29 76.3%	38	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 2.6%	7 18.4%	30 78.9%	38	4.8
<b>Q</b> 3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 5.3%	9 23.7%	27 71.1%	38	4.7
Q4	My instructor provides material that helps me do well on assignments.	1 2.6%	0	0	9 23.1%	29 74.4%	39	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	8 20.5%	31 79.5%	39	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	11 28.2%	28 71.8%	39	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	1 2.6%	5 12.8%	33 84.6%	39	4.8
28	My instructor is available to me on matters pertaining to the course.	0	1 2.6%	0	7 17.9%	31 79.5%	39	4.7
<b>Q</b> 9	My instructor encourages me to do my best work.	0	1 2.6%	1 2.6%	6 15.4%	31 79.5%	39	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 2.7%	6 16.2%	30 81.1%	37	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 2.6%	0	6 15.4%	32 82.1%	39	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 2.6%	8 20.5%	30 76.9%	39	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	1 2.6%	2 5.1%	5 12.8%	31 79.5%	39	4.7
214	My instructor made the subject interesting and motivated me to learn.	0	0	1 2.6%	7 17.9%	31 79.5%	39	4.8

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7212 001 - Immigration Law II	Department:	LawSchool
Responsible Faculty:	Danial Gividen	Responses / Expected:	15 / 20 (75%)

_					Danial G	iividen		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mear
Q1	My instructor explains difficult material clearly.	0	0	0	4 26.7%	11 73.3%	15	4.7
2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 20%	12 80%	15	4.8
23	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 13.3%	13 86.7%	15	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 14.3%	12 85.7%	14	4.9
25	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 13.3%	13 86.7%	15	4.9
26	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 26.7%	11 73.3%	15	4.7
27	My instructor establishes a climate of respect for students.	0	0	0	3 20%	12 80%	15	4.8
98	My instructor is available to me on matters pertaining to the course.	0	0	0	3 21.4%	11 78.6%	14	4.8
29	My instructor encourages me to do my best work.	0	0	0	2 13.3%	13 86.7%	15	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 6.7%	5 33.3%	9 60%	15	4.5
211	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 20%	12 80%	15	4.8
212	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 20%	12 80%	15	4.8
213	My instructor encourages me to develop new viewpoints.	0	0	1 6.7%	2 13.3%	12 80%	15	4.7
14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 13.3%	13 86.7%	15	4.9

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7212 501 - Immigration Law II	Department:	LawSchool
Responsible Faculty:	Danial Gividen	Responses / Expected:	3 / 5 (60%)

Cour	se Evaluation Questions		Danial Givide				en	
Ooui	SE LYAILUATION QUESTIONS		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[ <b>A</b> ]	Agre	e=4 [ <b>SA</b> ]	Stron	gly Agree=5

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7213 501 - Property I	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	39 / 52 (75%)

C	S Fusionation Quantinus			Jona	than Brid	ges		
Cours	se Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 2.6%	7 17.9%	2 5.1%	13 33.3%	16 41%	39	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2.6%	2 5.1%	2 5.1%	11 28.2%	23 59%	39	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 5.1%	4 10.3%	6 15.4%	10 25.6%	17 43.6%	39	3.9
Q4	My instructor provides material that helps me do well on assignments.	3 7.7%	4 10.3%	7 17.9%	7 17.9%	18 46.2%	39	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 2.6%	2 5.1%	3 7.7%	13 33.3%	20 51.3%	39	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 2.6%	4 10.3%	7 17.9%	12 30.8%	15 38.5%	39	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 7.7%	36 92.3%	39	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	1 2.6%	1 2.6%	6 15.8%	30 78.9%	38	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 2.6%	4 10.3%	34 87.2%	39	4.8
Q10	My instructor provides timely feedback to guide my progress.	1 2.6%	0	2 5.1%	12 30.8%	24 61.5%	39	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	9 23.1%	30 76.9%	39	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.7%	1 2.7%	3 8.1%	8 21.6%	24 64.9%	37	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	2 5.1%	3 7.7%	8 20.5%	26 66.7%	39	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	1 2.6%	1 2.6%	2 5.1%	7 17.9%	28 71.8%	39	4.5

COL LW1	6178 Fall 2017	7 Survey
6178 - Fa	ll 2017 - LW1	_

Course:	LAW - 7214 001 - Property II	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	49 / 67 (73.13%)

Cou	rse Evaluation Questions				nathan Br	idges		
				Respons	es (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	4 8.2%	4 8.2%	20 40.8%	21 42.9%	49	4.2
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 4.1%	4 8.2%	16 32.7%	27 55.1%	49	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 4.1%	5 10.2%	19 38.8%	23 46.9%	49	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 2%	10 20.4%	13 26.5%	25 51%	49	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 4.1%	4 8.2%	15 30.6%	28 57.1%	49	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	3 6.1%	6 12.2%	16 32.7%	24 49%	49	4.2
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 14.3%	42 85.7%	49	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 14.3%	42 85.7%	49	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	7 14.3%	42 85.7%	49	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 4.1%	10 20.4%	37 75.5%	49	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	9 18.4%	40 81.6%	49	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	11 22.4%	38 77.6%	49	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 4.2%	14 29.2%	32 66.7%	48	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	3 6.1%	15 30.6%	31 63.3%	49	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	

Course:	LAW - 7216 501 - Torts I	Department:	LawSchool
Responsible Faculty:	Everett Chambers	Responses / Expected:	23 / 43 (53.49%)

Cours	e Evaluation Questions			Evere	tt Chaml	oers		
oouis	e Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	3 13%	1 4.3%	9 39.1%	10 43.5%	23	4.1
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 4.3%	4 17.4%	6 26.1%	12 52.2%	23	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 4.3%	4 17.4%	7 30.4%	11 47.8%	23	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	2 8.7%	5 21.7%	5 21.7%	11 47.8%	23	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 4.3%	2 8.7%	7 30.4%	13 56.5%	23	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	5 21.7%	1 4.3%	6 26.1%	11 47.8%	23	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	6 26.1%	17 73.9%	23	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	6 26.1%	17 73.9%	23	4.7
Q9	My instructor encourages me to do my best work.	0	1 4.3%	0	7 30.4%	15 65.2%	23	4.6
Q10	My instructor provides timely feedback to guide my progress.	1 4.3%	2 8.7%	5 21.7%	4 17.4%	11 47.8%	23	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 26.1%	17 73.9%	23	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 8.7%	0	6 26.1%	15 65.2%	23	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	6 26.1%	17 73.9%	23	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 4.5%	0	5 22.7%	16 72.7%	22	4.6

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	

Course:	LAW - 7218 501 - First Amendment	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	18 / 45 (40%)

	Furthering Countries			Micha	el Maslar	nka		
Cou	rse Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 5.6%	2 11.1%	1 5.6%	8 44.4%	6 33.3%	18	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 5.6%	1 5.6%	2 11.1%	6 33.3%	8 44.4%	18	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	2 11.1%	2 11.1%	2 11.1%	5 27.8%	7 38.9%	18	3.7
Q4	My instructor provides material that helps me do well on assignments.	2 11.1%	2 11.1%	3 16.7%	6 33.3%	5 27.8%	18	3.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 5.6%	0	1 5.6%	7 38.9%	9 50%	18	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 11.1%	1 5.6%	2 11.1%	5 27.8%	8 44.4%	18	3.9
Q7	My instructor establishes a climate of respect for students.	1 5.6%	0	1 5.6%	2 11.1%	14 77.8%	18	4.6
Q8	My instructor is available to me on matters pertaining to the course.	1 5.6%	0	0	3 16.7%	14 77.8%	18	4.6
Q9	My instructor encourages me to do my best work.	1 5.6%	0	2 11.1%	2 11.1%	13 72.2%	18	4.4
Q10	My instructor provides timely feedback to guide my progress.	2 11.1%	2 11.1%	2 11.1%	3 16.7%	9 50%	18	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 5.6%	1 5.6%	0	3 16.7%	13 72.2%	18	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 5.9%	0	3 17.6%	2 11.8%	11 64.7%	17	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 5.6%	0	0	3 16.7%	14 77.8%	18	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	1 5.6%	2 11.1%	2 11.1%	3 16.7%	10 55.6%	18	4.1

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7221 001 - Effective Oral Communication	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	14 / 20 (70%)

Ca	rse Evaluation Questions			Mic	hael Mas	lanka		
Cou	se Evaluation Questions		R	esponse	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	14 100%	14	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 7.1%	13 92.9%	14	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.1%	0	0	0	13 92.9%	14	4.7
Q7	My instructor establishes a climate of respect for students.	0	1 7.1%	0	1 7.1%	12 85.7%	14	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6
Q9	My instructor encourages me to do my best work.	0	0	0	0	14 100%	14	5.0
Q10	My instructor provides timely feedback to guide my progress.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 7.1%	13 92.9%	14	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 7.1%	13 92.9%	14	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 7.1%	13 92.9%	14	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	14 100%	14	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7226 001 - Environmental Law II	Department:	LawSchool
Responsible Faculty:	Howard Gilberg	Responses / Expected:	3 / 6 (50%)

_					Howard G	ilberg		
Cou	rse Evaluation Questions			Respor	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3

COL LW1	6178 Fall 2017	7 Survey
6178 - Fa	ll 2017 - LW1	

Course:	LAW - 7295 001 - Capstone II	Department:	LawSchool
Responsible Faculty:	Preyal Shah	Responses / Expected:	38 / 72 (52.78%)

Ca	se Evaluation Questions			Pr	eyal Shal	h		
Coul	se evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 5.3%	7 18.4%	8 21.1%	14 36.8%	7 18.4%	38	3.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	2 5.3%	4 10.5%	6 15.8%	15 39.5%	11 28.9%	38	3.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 2.6%	4 10.5%	5 13.2%	11 28.9%	17 44.7%	38	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	6 15.8%	8 21.1%	8 21.1%	16 42.1%	38	3.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 7.9%	7 18.4%	7 18.4%	10 26.3%	11 28.9%	38	3.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 7.9%	5 13.2%	8 21.1%	8 21.1%	14 36.8%	38	3.7
Q7	My instructor establishes a climate of respect for students.	0	1 2.6%	4 10.5%	10 26.3%	23 60.5%	38	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	6 15.8%	8 21.1%	24 63.2%	38	4.5
Q9	My instructor encourages me to do my best work.	0	2 5.4%	5 13.5%	9 24.3%	21 56.8%	37	4.3
Q10	My instructor provides timely feedback to guide my progress.	1 2.6%	4 10.5%	5 13.2%	8 21.1%	20 52.6%	38	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 2.6%	5 13.2%	11 28.9%	21 55.3%	38	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.6%	3 7.9%	9 23.7%	7 18.4%	18 47.4%	38	4.0
Q13	My instructor encourages me to develop new viewpoints.	1 2.6%	4 10.5%	10 26.3%	6 15.8%	17 44.7%	38	3.9
Q14	My instructor made the subject interesting and motivated me to learn.	3 7.9%	4 10.5%	8 21.1%	6 15.8%	17 44.7%	38	3.8

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	

Course:	LAW - 7298 501 - Legal Analysis for the Texas Bar III	Department:	LawSchool
Responsible Faculty:	Everett Chambers	Responses / Expected:	13 / 21 (61.90%)

Cour	se Evaluation Questions				erett Cha	mbers		
oou.	oc Printerior Questions			Respons	ses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	7 58.3%	5 41.7%	12	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 8.3%	4 33.3%	7 58.3%	12	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	3 25%	1 8.3%	4 33.3%	4 33.3%	12	3.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 33.3%	8 66.7%	12	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	6 50%	6 50%	12	4.5

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7301 001 - Legal Writing I	Department:	LawSchool
Responsible Faculty:	Daniel Correa; Olivia Howe; Jonathan Perry; Norlynn Price; Melissa Shultz	Responses / Expected:	38 / 62 (61.29%)

or explains difficult material clearly.  For provides facts, examples, and references that helped me learn the material.	SD 3 7.9%	D 6 15.8%	N	(%) A		Ind	lividual
<u>'</u>	3	6		Α			
<u>'</u>			-		SA	N	Mean
or provides facts, examples, and references that helped me learn the material.		13.0%	6 15.8%	12 31.6%	11 28.9%	38	3.6
	0	6 15.8%	5 13.2%	13 34.2%	14 36.8%	38	3.9
or gives assignments that contribute to my understanding of the subject.	0	6 15.8%	8 21.1%	13 34.2%	11 28.9%	38	3.8
or provides material that helps me do well on assignments.	1 2.7%	6 16.2%	9 24.3%	13 35.1%	8 21.6%	37	3.6
or explains new ideas by relating them to familiar concepts.	0	5 13.2%	7 18.4%	15 39.5%	11 28.9%	38	3.8
or evaluates my work in ways that are helpful to my ability to learn.	1 2.7%	6 16.2%	6 16.2%	14 37.8%	10 27%	37	3.7
or establishes a climate of respect for students.	3 7.9%	6 15.8%	4 10.5%	11 28.9%	14 36.8%	38	3.7
or is available to me on matters pertaining to the course.	1 2.7%	2 5.4%	5 13.5%	15 40.5%	14 37.8%	37	4.1
or encourages me to do my best work.	1 2.6%	2 5.3%	8 21.1%	13 34.2%	14 36.8%	38	4.0
or provides timely feedback to guide my progress.	2 5.3%	2 5.3%	8 21.1%	14 36.8%	12 31.6%	38	3.8
or creates an atmosphere in which ideas can be exchanged freely.	1 2.6%	3 7.9%	6 15.8%	16 42.1%	12 31.6%	38	3.9
or encourages me to connect course topics to a wider understanding of the subject.	1 2.6%	3 7.9%	10 26.3%	14 36.8%	10 26.3%	38	3.8
or encourages me to develop new viewpoints.	2 5.3%	2 5.3%	12 31.6%	16 42.1%	6 15.8%	38	3.6
or made the subject interesting and motivated me to learn.	2 5.3%	4 10.5%	10 26.3%	13 34.2%	9 23.7%	38	3.6
or e	incourages me to develop new viewpoints.	concourages me to develop new viewpoints.  2 5.3%  2 2 5.3%	encourages me to develop new viewpoints.  2.0% 7.9%  2.0% 7.9%  2.5.3% 5.3%  2.5.3% 5.3%  2.5.3% 4.5.3%	ncourages me to develop new viewpoints.  2 2 2 12 5.3% 31.6% 2 4 10	2.0% 7.9% 26.3% 36.8% cncourages me to develop new viewpoints.  2 2 12 16 5.3% 5.3% 31.6% 42.1% 2 4 10 13	2.6% 7.9% 26.3% 36.8% 26.3% encourages me to develop new viewpoints.  2 2 12 16 6 42.1% 15.8% and the subject interesting and metivated me to learn.  2 4 10 13 9	2.0% 7.9% 26.3% 36.8% 26.3% 26

<b>COL LW1 61</b>	78 Fall 2017	Survey
6178 - Fall 2	017 - LW1	-

Course:	LAW - 7301 501 - Legal Writing I	Department:	LawSchool
Responsible Faculty:	John Barcus; Melissa Shultz; Johannes Walker; Cliffie Wesson	Responses / Expected:	24 / 43 (55.81%)

Cou	rse Evaluation Questions				issa Shul	tz			
			Re	esponses	(%)		Inc	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	3 12.5%	1 4.2%	13 54.2%	7 29.2%	24	4.0	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 8.3%	3 12.5%	10 41.7%	9 37.5%	24	4.1	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 4.2%	2 8.3%	11 45.8%	10 41.7%	24	4.3	
Q4	My instructor provides material that helps me do well on assignments.	1 4.2%	3 12.5%	1 4.2%	9 37.5%	10 41.7%	24	4.0	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	3 12.5%	3 12.5%	9 37.5%	9 37.5%	24	4.0	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 8.3%	2 8.3%	0	9 37.5%	11 45.8%	24	4.0	
Q7	My instructor establishes a climate of respect for students.	0	1 4.2%	2 8.3%	5 20.8%	16 66.7%	24	4.5	
Q8	My instructor is available to me on matters pertaining to the course.	1 4.2%	0	1 4.2%	4 16.7%	18 75%	24	4.6	
Q9	My instructor encourages me to do my best work.	0	0	3 12.5%	4 16.7%	17 70.8%	24	4.6	
Q10	My instructor provides timely feedback to guide my progress.	1 4.2%	1 4.2%	1 4.2%	8 33.3%	13 54.2%	24	4.3	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 4.2%	0	2 8.3%	3 12.5%	18 75%	24	4.5	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	5 20.8%	3 12.5%	16 66.7%	24	4.5	
Q13	My instructor encourages me to develop new viewpoints.	0	1 4.3%	2 8.7%	8 34.8%	12 52.2%	23	4.3	
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 8.3%	1 4.2%	8 33.3%	13 54.2%	24	4.3	

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7302 001 - Civil Procedure I	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	40 / 61 (65.57%)

Evaluation Questions	Thomas Perkins  ourse Evaluation Questions							
			Response	es (%)		Ind	lividual	
	SD	D	N	Α	SA	N	Mean	
ly instructor explains difficult material clearly.	0	1 2.5%	2 5%	13 32.5%	24 60%	40	4.5	
ly instructor provides facts, examples, and references that helped me learn the material.	0	2 5%	2 5%	10 25%	26 65%	40	4.5	
ly instructor gives assignments that contribute to my understanding of the subject.	0	1 2.6%	2 5.1%	12 30.8%	24 61.5%	39	4.5	
ly instructor provides material that helps me do well on assignments.	0	1 2.5%	3 7.5%	10 25%	26 65%	40	4.5	
ly instructor explains new ideas by relating them to familiar concepts.	0	0	3 7.5%	14 35%	23 57.5%	40	4.5	
ly instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	5 12.5%	11 27.5%	24 60%	40	4.5	
ly instructor establishes a climate of respect for students.	0	0	2 5%	6 15%	32 80%	40	4.8	
ly instructor is available to me on matters pertaining to the course.	0	1 2.5%	3 7.5%	12 30%	24 60%	40	4.5	
ly instructor encourages me to do my best work.	0	0	2 5.1%	13 33.3%	24 61.5%	39	4.6	
ly instructor provides timely feedback to guide my progress.	0	0	3 7.5%	14 35%	23 57.5%	40	4.5	
ly instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 5%	12 30%	26 65%	40	4.6	
ly instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	5 12.5%	15 37.5%	20 50%	40	4.4	
ly instructor encourages me to develop new viewpoints.	0	0	6 15%	12 30%	22 55%	40	4.4	
ly instructor made the subject interesting and motivated me to learn.	0	1 2.5%	4 10%	11 27.5%	24 60%	40	4.5	
1 1 1 1 1	Ity instructor explains difficult material clearly.  Ity instructor provides facts, examples, and references that helped me learn the material.  Ity instructor gives assignments that contribute to my understanding of the subject.  Ity instructor provides material that helps me do well on assignments.  Ity instructor explains new ideas by relating them to familiar concepts.  Ity instructor evaluates my work in ways that are helpful to my ability to learn.  Ity instructor establishes a climate of respect for students.  Ity instructor is available to me on matters pertaining to the course.  Ity instructor encourages me to do my best work.  Ity instructor provides timely feedback to guide my progress.  Ity instructor creates an atmosphere in which ideas can be exchanged freely.  Ity instructor encourages me to connect course topics to a wider understanding of the subject.  Ity instructor encourages me to develop new viewpoints.	ty instructor explains difficult material clearly.  1 ty instructor provides facts, examples, and references that helped me learn the material.  1 ty instructor gives assignments that contribute to my understanding of the subject.  1 ty instructor provides material that helps me do well on assignments.  1 ty instructor explains new ideas by relating them to familiar concepts.  1 ty instructor evaluates my work in ways that are helpful to my ability to learn.  1 ty instructor establishes a climate of respect for students.  1 ty instructor is available to me on matters pertaining to the course.  1 ty instructor encourages me to do my best work.  1 ty instructor provides timely feedback to guide my progress.  1 ty instructor creates an atmosphere in which ideas can be exchanged freely.  1 ty instructor encourages me to connect course topics to a wider understanding of the subject.  1 ty instructor encourages me to develop new viewpoints.	ty instructor explains difficult material clearly.  10 2.5% 11 2.5% 11 2.5% 12 2.5% 13 Instructor provides facts, examples, and references that helped me learn the material.  10 2 5 5% 14 Instructor gives assignments that contribute to my understanding of the subject.  10 1 2.6% 15 Instructor provides material that helps me do well on assignments.  10 2 1 2.5% 16 Instructor explains new ideas by relating them to familiar concepts.  10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	ty instructor explains difficult material clearly.  10				

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7302 501 - Civil Procedure I	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	23 / 43 (53.49%)

Cour	se Evaluation Questions			E	ric Porter	field		
Cour	Se Evaluation Questions		Responses (%)					lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 4.3%	7 30.4%	15 65.2%	23	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 27.3%	16 72.7%	22	4.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 8.7%	9 39.1%	12 52.2%	23	4.4
Q4	My instructor provides material that helps me do well on assignments.	0	0	2 8.7%	8 34.8%	13 56.5%	23	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	8 34.8%	15 65.2%	23	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 4.3%	2 8.7%	7 30.4%	13 56.5%	23	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 13%	20 87%	23	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 4.3%	6 26.1%	16 69.6%	23	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	8 34.8%	15 65.2%	23	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 13%	5 21.7%	15 65.2%	23	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 13%	20 87%	23	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 4.3%	6 26.1%	16 69.6%	23	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 4.3%	7 30.4%	15 65.2%	23	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 4.3%	1 4.3%	6 26.1%	15 65.2%	23	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neit	her Ag	ree or Dis	sagree=3	[A] Agree	=4 [ <b>SA</b> ] S	trongl	y Agree=5

COL LW1	6178 Fall 201	7 Survey
6178 - Fa	II 2017 - LW1	

Course:	LAW - 7310 501 - Criminal Law	Department:	LawSchool
Responsible Faculty:	Brian Owsley	Responses / Expected:	40 / 52 (76.92%)

٥				Bria	ın Owsley	,		
Cou	se Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	3 7.5%	4 10%	1 2.5%	14 35%	18 45%	40	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2.5%	4 10%	1 2.5%	12 30%	22 55%	40	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	2 5%	1 2.5%	12 30%	25 62.5%	40	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	3 7.5%	2 5%	10 25%	25 62.5%	40	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 7.7%	4 10.3%	3 7.7%	11 28.2%	18 46.2%	39	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	5 12.5%	3 7.5%	5 12.5%	8 20%	19 47.5%	40	3.8
Q7	My instructor establishes a climate of respect for students.	14 35%	4 10%	8 20%	4 10%	10 25%	40	2.8
Q8	My instructor is available to me on matters pertaining to the course.	3 7.5%	3 7.5%	4 10%	11 27.5%	19 47.5%	40	4.0
Q9	My instructor encourages me to do my best work.	3 7.5%	2 5%	4 10%	14 35%	17 42.5%	40	4.0
Q10	My instructor provides timely feedback to guide my progress.	2 5.1%	0	3 7.7%	11 28.2%	23 59%	39	4.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	7 17.9%	9 23.1%	4 10.3%	8 20.5%	11 28.2%	39	3.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.5%	6 15%	6 15%	14 35%	13 32.5%	40	3.8
Q13	My instructor encourages me to develop new viewpoints.	3 7.5%	5 12.5%	8 20%	9 22.5%	15 37.5%	40	3.7
Q14	My instructor made the subject interesting and motivated me to learn.	6 15%	3 7.5%	6 15%	8 20%	17 42.5%	40	3.7

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7312 501 - Practice Foundation I: Interviewing and Counseling	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	37 / 52 (71.15%)

Com	se Evaluation Questions			Cher	yl Wattle	у		
Coui	se Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 2.7%	2 5.4%	12 32.4%	10 27%	12 32.4%	37	3.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 5.4%	5 13.5%	16 43.2%	14 37.8%	37	4.1
Q3	My instructor gives assignments that contribute to my understanding of the subject.	3 8.1%	3 8.1%	6 16.2%	13 35.1%	12 32.4%	37	3.8
Q4	My instructor provides material that helps me do well on assignments.	2 5.4%	9 24.3%	10 27%	8 21.6%	8 21.6%	37	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	2 5.4%	9 24.3%	16 43.2%	10 27%	37	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	9 24.3%	9 24.3%	8 21.6%	4 10.8%	7 18.9%	37	2.8
Q7	My instructor establishes a climate of respect for students.	0	0	3 8.1%	17 45.9%	17 45.9%	37	4.4
Q8	My instructor is available to me on matters pertaining to the course.	4 10.8%	3 8.1%	9 24.3%	11 29.7%	10 27%	37	3.5
Q9	My instructor encourages me to do my best work.	0	1 2.8%	7 19.4%	14 38.9%	14 38.9%	36	4.1
Q10	My instructor provides timely feedback to guide my progress.	13 35.1%	10 27%	5 13.5%	4 10.8%	5 13.5%	37	2.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	4 11.1%	17 47.2%	15 41.7%	36	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 2.7%	7 18.9%	15 40.5%	14 37.8%	37	4.1
Q13	My instructor encourages me to develop new viewpoints.	1 2.8%	0	4 11.1%	15 41.7%	16 44.4%	36	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 2.7%	4 10.8%	8 21.6%	14 37.8%	10 27%	37	3.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	sagree=3 [	A] Agree=	4 [ <b>SA</b> ] St	rongly	/ Agree=5

Course: LAW - 7313 001 - Practice Foundation II: Negotiation and Conflict Resolution

Responsible Faculty: Angela Downes Responses / Expected: 54 / 68 (79.41%)

Com	se Evaluation Questions			Ange	ela Downe	es .		
Cou	se Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	16 29.6%	11 20.4%	10 18.5%	10 18.5%	7 13%	54	2.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	14 25.9%	13 24.1%	13 24.1%	8 14.8%	6 11.1%	54	2.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	13 24.5%	12 22.6%	8 15.1%	16 30.2%	4 7.5%	53	2.7
Q4	My instructor provides material that helps me do well on assignments.	18 33.3%	11 20.4%	12 22.2%	7 13%	6 11.1%	54	2.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	16 29.6%	8 14.8%	11 20.4%	13 24.1%	6 11.1%	54	2.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	19 35.8%	13 24.5%	10 18.9%	6 11.3%	5 9.4%	53	2.3
Q7	My instructor establishes a climate of respect for students.	5 9.3%	7 13%	16 29.6%	14 25.9%	12 22.2%	54	3.4
Q8	My instructor is available to me on matters pertaining to the course.	15 27.8%	10 18.5%	12 22.2%	9 16.7%	8 14.8%	54	2.7
Q9	My instructor encourages me to do my best work.	10 18.5%	3 5.6%	16 29.6%	17 31.5%	8 14.8%	54	3.2
Q10	My instructor provides timely feedback to guide my progress.	25 46.3%	11 20.4%	8 14.8%	4 7.4%	6 11.1%	54	2.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	7 13%	3 5.6%	13 24.1%	18 33.3%	13 24.1%	54	3.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	8 14.8%	8 14.8%	18 33.3%	13 24.1%	7 13%	54	3.1
Q13	My instructor encourages me to develop new viewpoints.	8 14.8%	4 7.4%	23 42.6%	8 14.8%	11 20.4%	54	3.2
Q14	My instructor made the subject interesting and motivated me to learn.	24 44.4%	12 22.2%	6 11.1%	5 9.3%	7 13%	54	2.2

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7315 501 - Family Law	Department:	LawSchool
Responsible Faculty:	Kevin Robinowich	Responses / Expected:	25 / 49 (51.02%)

Cou	rse Evaluation Questions					inowich			
	<del></del>		Responses (%)			Ind		ndividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	0	0	1 4%	10 40%	14 56%	25	4.5	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 4%	8 32%	16 64%	25	4.6	
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	9 36%	16 64%	25	4.6	
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 12%	8 32%	14 56%	25	4.4	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 4%	6 24%	18 72%	25	4.7	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 8%	9 36%	14 56%	25	4.5	
Q7	My instructor establishes a climate of respect for students.	0	0	0	6 24%	19 76%	25	4.8	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	7 28%	18 72%	25	4.7	
Q9	My instructor encourages me to do my best work.	0	0	1 4%	4 16%	20 80%	25	4.8	
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 8%	7 28%	16 64%	25	4.6	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 24%	19 76%	25	4.8	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	8 32%	17 68%	25	4.7	
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 8%	8 32%	15 60%	25	4.5	
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 8%	3 12%	7 28%	13 52%	25	4.2	

COL LW1 6178 Fall 2017 Survey
6178 - Fall 2017 - LW1

Course:	LAW - 7317 001 - Professional Responsibility	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	10 / 16 (62.50%)

Cou	rse Evaluation Questions				chael M	aslanka			
			Re	espons	es (%)		Inc	dividual	
		SD	D	N	Α	SA	N	Mean	
Q1	My instructor explains difficult material clearly.	1 10%	0	1 10%	0	8 80%	10	4.4	
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	1 10%	8 80%	10	4.7	
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	0	2 20%	7 70%	10	4.4	
Q4	My instructor provides material that helps me do well on assignments.	1 10%	0	0	1 10%	8 80%	10	4.5	
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	1 10%	8 80%	10	4.7	
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	0	0	1 10%	8 80%	10	4.5	
Q7	My instructor establishes a climate of respect for students.	0	0	2 20%	1 10%	7 70%	10	4.5	
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8	
Q9	My instructor encourages me to do my best work.	1 10%	0	0	1 10%	8 80%	10	4.5	
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 20%	1 10%	7 70%	10	4.5	
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 20%	8 80%	10	4.8	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	1 10%	8 80%	10	4.7	
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	1 10%	8 80%	10	4.7	
Q14	My instructor made the subject interesting and motivated me to learn.	1 10%	0	0	1 10%	8 80%	10	4.5	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7318 001 - Evidence	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	35 / 49 (71.43%)

Eric Porterfield								
Course Evaluation Questions Res		Responses (%)			Individua			
		SD	D	N	Α	SA	N	Mear
Q1	My instructor explains difficult material clearly.	0	2 5.7%	2 5.7%	7 20%	24 68.6%	35	4.5
2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 2.9%	2 5.7%	5 14.3%	27 77.1%	35	4.7
<b>Q</b> 3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	3 8.6%	7 20%	25 71.4%	35	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	1 2.9%	3 8.6%	7 20%	24 68.6%	35	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 8.6%	7 20%	25 71.4%	35	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	4 11.4%	6 17.1%	25 71.4%	35	4.6
<b>Q</b> 7	My instructor establishes a climate of respect for students.	0	0	1 2.9%	4 11.4%	30 85.7%	35	4.8
28	My instructor is available to me on matters pertaining to the course.	0	0	1 2.9%	4 11.4%	30 85.7%	35	4.8
<b>Q</b> 9	My instructor encourages me to do my best work.	0	0	1 2.9%	6 17.1%	28 80%	35	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	4 11.4%	4 11.4%	27 77.1%	35	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 5.9%	3 8.8%	29 85.3%	34	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 5.7%	5 14.3%	28 80%	35	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	3 8.6%	4 11.4%	28 80%	35	4.7
214	My instructor made the subject interesting and motivated me to learn.	1 2.9%	0	2 5.7%	5 14.3%	27 77.1%	35	4.6

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	

Course:		LAW - 7321 501 - Business Associations I	Department:	LawSchool
Responsible	Faculty:	Reynaldo Valencia	Responses / Expected:	35 / 67 (52.24%)

C	Reynaldo Valencia Course Evaluation Questions							
Cour	se evaluation questions	Responses (%)			Individual			
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 2.9%	1 2.9%	2 5.7%	10 28.6%	21 60%	35	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 2.9%	0	2 5.7%	6 17.1%	26 74.3%	35	4.6
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 2.9%	0	3 8.6%	11 31.4%	20 57.1%	35	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 2.9%	1 2.9%	7 20%	9 25.7%	17 48.6%	35	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 2.9%	1 2.9%	1 2.9%	11 31.4%	21 60%	35	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 5.7%	1 2.9%	7 20%	8 22.9%	17 48.6%	35	4.1
Q7	My instructor establishes a climate of respect for students.	1 2.9%	0	1 2.9%	7 20%	26 74.3%	35	4.6
Q8	My instructor is available to me on matters pertaining to the course.	2 5.7%	0	1 2.9%	7 20%	25 71.4%	35	4.5
Q9	My instructor encourages me to do my best work.	2 5.7%	0	2 5.7%	5 14.3%	26 74.3%	35	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 2.9%	1 2.9%	4 11.4%	8 22.9%	21 60%	35	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 2.9%	0	1 2.9%	6 17.1%	27 77.1%	35	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.9%	0	2 5.7%	8 22.9%	24 68.6%	35	4.5
Q13	My instructor encourages me to develop new viewpoints.	1 2.9%	0	2 5.7%	7 20%	25 71.4%	35	4.6
Q14	My instructor made the subject interesting and motivated me to learn.	3 8.8%	0	1 2.9%	9 26.5%	21 61.8%	34	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] I	Neither Ag	ree or Di	sagree=3	[A] Agree	=4 [ <b>SA</b> ] S	trongly	/ Agree=

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7322 501 - Commercial Law	Department:	LawSchool
Responsible Faculty:	Matthew Crockett	Responses / Expected:	33 / 65 (50.77%)

Matthew Crockett Course Evaluation Questions									
Jours	e Evaluation Questions		R	esponse	es (%)		Ind	Individual	
		SD	D	N	Α	SA	N	Mean	
Q1 N	My instructor explains difficult material clearly.	1 3.1%	2 6.3%	1 3.1%	9 28.1%	19 59.4%	32	4.3	
Q2 1	My instructor provides facts, examples, and references that helped me learn the material.	1 3.1%	1 3.1%	1 3.1%	7 21.9%	22 68.8%	32	4.5	
Q3 1	My instructor gives assignments that contribute to my understanding of the subject.	0	2 6.3%	0	12 37.5%	18 56.3%	32	4.4	
Q4 I	My instructor provides material that helps me do well on assignments.	0	2 6.3%	1 3.1%	9 28.1%	20 62.5%	32	4.5	
Q5 N	My instructor explains new ideas by relating them to familiar concepts.	0	1 3.2%	1 3.2%	9 29%	20 64.5%	31	4.5	
Q6 1	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 3.1%	1 3.1%	8 25%	22 68.8%	32	4.6	
Q7 I	My instructor establishes a climate of respect for students.	0	1 3.1%	0	7 21.9%	24 75%	32	4.7	
Q8 1	My instructor is available to me on matters pertaining to the course.	0	0	0	7 21.9%	25 78.1%	32	4.8	
Q9 1	My instructor encourages me to do my best work.	0	0	2 6.5%	6 19.4%	23 74.2%	31	4.7	
Q10 N	My instructor provides timely feedback to guide my progress.	0	0	0	8 25%	24 75%	32	4.8	
Q11 I	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	8 25%	24 75%	32	4.8	
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 6.3%	5 15.6%	25 78.1%	32	4.7	
Q13 1	My instructor encourages me to develop new viewpoints.	0	0	2 6.3%	7 21.9%	23 71.9%	32	4.7	
Q14 I	My instructor made the subject interesting and motivated me to learn.	0	1 3.2%	2 6.5%	3 9.7%	25 80.6%	31	4.7	

COL LW1 6178 Fall 2017 Survey	University of North Texas at Dallas
6178 - Fall 2017 - LW1	UNT-Dallas

Course:	LAW - 7323 001 - Constitutional Law II: Federal Criminal Procedure	Department:	LawSchool
Responsible Faculty:	Brian Owsley	Responses / Expected:	6 / 12 (50%)

instructor explains difficult material clearly.  instructor provides facts, examples, and references that helped me learn the material.	SD 0	<b>D</b>	Respor N	A	SA	In N	dividual Mean
			<b>N</b>			N	Mean
	0	0	1	0			
instructor provides facts, examples, and references that helped me learn the material.			16.7%	2 33.3%	3 50%	6	4.3
	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
instructor provides material that helps me do well on assignments.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5
instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7
instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8
instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7
instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5
instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
i i i i i i	nstructor explains new ideas by relating them to familiar concepts.  Instructor evaluates my work in ways that are helpful to my ability to learn.  Instructor establishes a climate of respect for students.  Instructor is available to me on matters pertaining to the course.  Instructor encourages me to do my best work.  Instructor provides timely feedback to guide my progress.  Instructor creates an atmosphere in which ideas can be exchanged freely.  Instructor encourages me to connect course topics to a wider understanding of the subject.  Instructor encourages me to develop new viewpoints.  Instructor made the subject interesting and motivated me to learn.	nstructor explains new ideas by relating them to familiar concepts.  nstructor evaluates my work in ways that are helpful to my ability to learn.  nstructor establishes a climate of respect for students.  nstructor is available to me on matters pertaining to the course.  nstructor encourages me to do my best work.  nstructor provides timely feedback to guide my progress.  nstructor creates an atmosphere in which ideas can be exchanged freely.  nstructor encourages me to connect course topics to a wider understanding of the subject.  nstructor encourages me to develop new viewpoints.  nstructor made the subject interesting and motivated me to learn.	nstructor explains new ideas by relating them to familiar concepts.  0 0  nstructor evaluates my work in ways that are helpful to my ability to learn.  0 0  nstructor establishes a climate of respect for students.  0 0  nstructor is available to me on matters pertaining to the course.  0 0  nstructor encourages me to do my best work.  0 0  nstructor provides timely feedback to guide my progress.  0 0  nstructor creates an atmosphere in which ideas can be exchanged freely.  0 0  nstructor encourages me to connect course topics to a wider understanding of the subject.  0 0  nstructor encourages me to develop new viewpoints.  0 0	nstructor provides material that helps me do well on assignments.  0 0 0 16.7%  Instructor explains new ideas by relating them to familiar concepts.  0 0 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nstructor provides material that helps me do well on assignments.  0 0 16.7% 16.7% nstructor explains new ideas by relating them to familiar concepts.  0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	nstructor provides material that helps me do well on assignments.  0 0 16.7% 16.7% 66.7% nstructor explains new ideas by relating them to familiar concepts.  0 0 0 0 3 50% 50% nstructor evaluates my work in ways that are helpful to my ability to learn.  0 0 1 1 16.7% 16.7% 66.7% nstructor establishes a climate of respect for students.  0 0 0 0 0 2 33.3% 66.7% nstructor is available to me on matters pertaining to the course.  0 0 0 0 1 1 5 83.3% nstructor encourages me to do my best work.  0 0 0 0 1 1 5 83.3% nstructor provides timely feedback to guide my progress.  0 0 0 0 1 16.7% 83.3% 66.7% nstructor creates an atmosphere in which ideas can be exchanged freely.  0 0 0 0 2 2 4 66.7% nstructor encourages me to connect course topics to a wider understanding of the subject.  0 0 0 0 3 33.3% 66.7% nstructor encourages me to develop new viewpoints.  0 0 0 0 1 1 16.7% 83.3% 16.7%	nstructor provides material that helps me do well on assignments.  0 0 16.7% 16.7% 66.7% 6  Instructor explains new ideas by relating them to familiar concepts.  0 0 0 0 3 50% 50% 6  Instructor evaluates my work in ways that are helpful to my ability to learn.  0 0 1 1 1 1 4 666.7% 6  Instructor establishes a climate of respect for students.  0 0 0 0 16.7% 16.7% 66.7% 6  Instructor establishes a climate of respect for students.  0 0 0 0 1 1 1 5 83.3% 6  Instructor is available to me on matters pertaining to the course.  0 0 0 0 1 1 5 83.3% 6  Instructor provides timely feedback to guide my progress.  0 0 0 0 1 1 5 66.7% 6  Instructor encourages me to do my best work.  0 0 0 0 2 33.3% 66.7% 6  Instructor creates an atmosphere in which ideas can be exchanged freely.  0 0 0 0 2 33.3% 66.7% 6  Instructor encourages me to connect course topics to a wider understanding of the subject.  0 0 0 0 3 33.3% 66.7% 6  Instructor encourages me to develop new viewpoints.  0 0 0 0 1 1 1 1 4 66.7% 66.7% 6  Instructor encourages me to develop new viewpoints.  0 0 0 0 1 1 1 1 4 66.7% 6  Instructor encourages me to develop new viewpoints.  0 0 0 0 1 1 1 1 4 66.7% 6  Instructor encourages me to develop new viewpoints.  0 0 0 0 1 1 1 1 1 4 66.7% 6  Instructor encourages me to develop new viewpoints.  0 0 0 0 1 1 1 1 1 4 66.7% 6  Instructor encourages me to develop new viewpoints.

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	

Course:	LAW - 7325 001 - Wills, Trusts and Estates	Department:	LawSchool
Responsible Faculty:	Samuel Long	Responses / Expected:	35 / 52 (67.31%)

Cour	se Evaluation Questions				Samuel L	ong		
Cour	se Evaluation Questions		ı	Respons	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	11 31.4%	24 68.6%	35	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	7 20%	28 80%	35	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	8 22.9%	27 77.1%	35	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	1 2.9%	1 2.9%	8 22.9%	25 71.4%	35	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 2.9%	9 25.7%	25 71.4%	35	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	13 38.2%	21 61.8%	34	4.6
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 20%	28 80%	35	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	2 5.7%	1 2.9%	7 20%	25 71.4%	35	4.6
Q9	My instructor encourages me to do my best work.	0	0	3 8.6%	8 22.9%	24 68.6%	35	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	2 5.7%	9 25.7%	24 68.6%	35	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	7 20%	28 80%	35	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	8 22.9%	27 77.1%	35	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 2.9%	9 25.7%	25 71.4%	35	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 5.9%	9 26.5%	23 67.6%	34	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neit	her Ag	ree or Dis	sagree=3	[A] Agree	=4 [ <b>SA</b> ] S	trongl	y Agree=

Course:	LAW - 7326 501 - Administrative Law	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	14 / 25 (56%)

۰	rse Evaluation Questions			Т	homas Pe	erkins		
Cou	se Evaluation Questions			Respons	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 7.1%	0	1 7.1%	5 35.7%	7 50%	14	4.2
Q4	My instructor provides material that helps me do well on assignments.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 8.3%	0	2 16.7%	1 8.3%	8 66.7%	12	4.3
Q7	My instructor establishes a climate of respect for students.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5
Q8	My instructor is available to me on matters pertaining to the course.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6
Q9	My instructor encourages me to do my best work.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6
Q10	My instructor provides timely feedback to guide my progress.	1 7.1%	0	2 14.3%	2 14.3%	9 64.3%	14	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.1%	0	2 14.3%	2 14.3%	9 64.3%	14	4.3
Q13	My instructor encourages me to develop new viewpoints.	1 7.1%	0	1 7.1%	3 21.4%	9 64.3%	14	4.4
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.1%	0	1 7.1%	2 14.3%	10 71.4%	14	4.4

COL LW1	6178 Fall 2017	7 Survey
6178 - Fa	ll 2017 - LW1	_

Course:	LAW - 7335 001 - Practice Foundation III: Business of Law	Department:	LawSchool
Responsible Faculty:	Lisa Davis	Responses / Expected:	45 / 79 (56.96%)

^-··	rse Evaluation Questions			Lis	sa Davis			
Coui	'se Evaluation Questions		Re	sponses	(%)		Inc	dividua
		SD	D	N	Α	SA	N	Mea
Q1	My instructor explains difficult material clearly.	1 2.2%	3 6.7%	16 35.6%	15 33.3%	10 22.2%	45	3.7
2	My instructor provides facts, examples, and references that helped me learn the material.	3 6.7%	1 2.2%	12 26.7%	15 33.3%	14 31.1%	45	3.8
<b>Q</b> 3	My instructor gives assignments that contribute to my understanding of the subject.	5 11.1%	4 8.9%	16 35.6%	9 20%	11 24.4%	45	3.4
Q4	My instructor provides material that helps me do well on assignments.	4 8.9%	5 11.1%	14 31.1%	11 24.4%	11 24.4%	45	3.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	3 6.7%	0	13 28.9%	15 33.3%	14 31.1%	45	3.8
26	My instructor evaluates my work in ways that are helpful to my ability to learn.	5 11.4%	4 9.1%	17 38.6%	8 18.2%	10 22.7%	44	3.3
Q7	My instructor establishes a climate of respect for students.	3 6.7%	3 6.7%	8 17.8%	15 33.3%	16 35.6%	45	3.8
28	My instructor is available to me on matters pertaining to the course.	1 2.3%	2 4.5%	13 29.5%	13 29.5%	15 34.1%	44	3.9
Q9	My instructor encourages me to do my best work.	1 2.3%	1 2.3%	13 29.5%	15 34.1%	14 31.8%	44	3.9
Q10	My instructor provides timely feedback to guide my progress.	3 6.7%	2 4.4%	17 37.8%	12 26.7%	11 24.4%	45	3.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 2.3%	2 4.5%	8 18.2%	15 34.1%	18 40.9%	44	4.1
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 4.5%	1 2.3%	11 25%	16 36.4%	14 31.8%	44	3.9
213	My instructor encourages me to develop new viewpoints.	4 8.9%	0	11 24.4%	16 35.6%	14 31.1%	45	3.8
214	My instructor made the subject interesting and motivated me to learn.	6 13.3%	4 8.9%	12 26.7%	11 24.4%	12 26.7%	45	3.4

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7388 001 - Externship Seminar	Department:	LawSchool
Responsible Faculty:	Angela Downes	Responses / Expected:	3 / 7 (42.86%)

Ca	se Evaluation Questions			An	gela Dowi	nes		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	2 66.7%	0	3	3.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 33.3%	0	2 66.7%	0	3	3.3
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q9	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	0	0	2 66.7%	3	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	2 66.7%	0	3	3.7

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	

Course:	LAW - 7401 001 - Torts	Department:	LawSchool
Responsible Faculty:	Ellen Pryor	Responses / Expected:	47 / 61 (77.05%)

<b>^</b>	rse Evaluation Questions			1	Ellen Pryo	r		
Cour	se Evaluation Questions			Response	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mear
Q1	My instructor explains difficult material clearly.	0	3 6.4%	7 14.9%	23 48.9%	14 29.8%	47	4.0
2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 4.3%	19 40.4%	26 55.3%	47	4.5
23	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 4.3%	13 27.7%	32 68.1%	47	4.6
Q4	My instructor provides material that helps me do well on assignments.	0	0	3 6.4%	13 27.7%	31 66%	47	4.6
)5	My instructor explains new ideas by relating them to familiar concepts.	0	2 4.3%	5 10.6%	19 40.4%	21 44.7%	47	4.3
)6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 4.3%	4 8.5%	16 34%	25 53.2%	47	4.4
27	My instructor establishes a climate of respect for students.	0	1 2.1%	2 4.3%	10 21.3%	34 72.3%	47	4.6
8	My instructor is available to me on matters pertaining to the course.	0	3 6.4%	8 17%	13 27.7%	23 48.9%	47	4.2
<b>Q</b> 9	My instructor encourages me to do my best work.	0	0	3 6.4%	14 29.8%	30 63.8%	47	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	5 10.6%	7 14.9%	17 36.2%	18 38.3%	47	4.0
211	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 6.5%	11 23.9%	32 69.6%	46	4.6
212	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	7 14.9%	15 31.9%	25 53.2%	47	4.4
213	My instructor encourages me to develop new viewpoints.	0	0	6 12.8%	21 44.7%	20 42.6%	47	4.3
14	My instructor made the subject interesting and motivated me to learn.	0	3 6.4%	3 6.4%	13 27.7%	28 59.6%	47	4.4

COL LW1	6178 Fall 2017	Survey
6178 - Fa	ll 2017 - LW1	-

Course:	LAW - 7407 001 - Contracts	Department:	LawSchool
Responsible Faculty:	Matthew Crockett	Responses / Expected:	46 / 61 (75.41%)

O	on Fundation Operations			Matt	hew Croc	kett		
Coui	se Evaluation Questions		R	esponse	s (%)		Inc	dividua
		SD	D	N	Α	SA	N	Mea
Q1	My instructor explains difficult material clearly.	0	3 6.5%	4 8.7%	13 28.3%	26 56.5%	46	4.3
2	My instructor provides facts, examples, and references that helped me learn the material.	0	3 6.5%	4 8.7%	8 17.4%	31 67.4%	46	4.5
)3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 4.3%	5 10.9%	17 37%	22 47.8%	46	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	4 8.9%	5 11.1%	13 28.9%	23 51.1%	45	4.2
)5	My instructor explains new ideas by relating them to familiar concepts.	0	2 4.3%	6 13%	11 23.9%	27 58.7%	46	4.4
)6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 4.3%	4 8.7%	14 30.4%	26 56.5%	46	4.4
27	My instructor establishes a climate of respect for students.	0	1 2.2%	2 4.3%	5 10.9%	38 82.6%	46	4.7
89	My instructor is available to me on matters pertaining to the course.	0	0	2 4.3%	10 21.7%	34 73.9%	46	4.7
29	My instructor encourages me to do my best work.	0	0	3 6.5%	6 13%	37 80.4%	46	4.7
Q10	My instructor provides timely feedback to guide my progress.	1 2.2%	0	3 6.5%	4 8.7%	38 82.6%	46	4.7
211	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 6.5%	7 15.2%	36 78.3%	46	4.7
212	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 6.5%	9 19.6%	34 73.9%	46	4.7
213	My instructor encourages me to develop new viewpoints.	0	0	5 10.9%	8 17.4%	33 71.7%	46	4.6
14	My instructor made the subject interesting and motivated me to learn.	0	1 2.2%	5 10.9%	5 10.9%	35 76.1%	46	4.6

COL LW1	6178 Fall 2017	Survey
6178 - Fa	II 2017 - LW1	-

Course:	LAW - 7414 001 - Constitutional Law	Department:	LawSchool
Responsible Faculty:	Loren Jacobson	Responses / Expected:	50 / 68 (73.53%)

Cour	rse Evaluation Questions					Jacobson		
				_	es (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 2%	6 12%	43 86%	50	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 6%	47 94%	50	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 6%	47 94%	50	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	4 8%	46 92%	50	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	10 20%	40 80%	50	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 10%	45 90%	50	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 6%	47 94%	50	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 4%	48 96%	50	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	1 2%	49 98%	50	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 4%	48 96%	50	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 2%	0	2 4%	47 94%	50	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 2%	3 6%	46 92%	50	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 2%	4 8%	45 90%	50	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 6%	47 94%	50	4.9

Course:	LAW - 7100 001 - Fundamentals of Being A Lawyer	Department:	LawSchool
Responsible Faculty:	Melissa Shultz	Responses / Expected:	57 / 61 (93.44%)

Cou	instructor provides facts, examples, and references that helped me learn the material.  instructor gives assignments that contribute to my understanding of the subject.  instructor provides material that helps me do well on assignments.  instructor explains new ideas by relating them to familiar concepts.  instructor evaluates my work in ways that are helpful to my ability to learn.  instructor establishes a climate of respect for students.  instructor is available to me on matters pertaining to the course.  instructor encourages me to do my best work.		_		issa Shul	tz		
				esponses	` ,	ı		lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 3.5%	10 17.5%	35 61.4%	10 17.5%	57	3.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 1.8%	1 1.8%	35 61.4%	20 35.1%	57	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	2 3.6%	3 5.4%	36 64.3%	15 26.8%	56	4.1
Q4	My instructor provides material that helps me do well on assignments.	0	3 5.3%	3 5.3%	35 61.4%	16 28.1%	57	4.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	1 1.8%	4 7.1%	37 66.1%	14 25%	56	4.1
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 1.8%	4 7%	16 28.1%	26 45.6%	10 17.5%	57	3.7
Q7	My instructor establishes a climate of respect for students.	0	0	3 5.5%	24 43.6%	28 50.9%	55	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	1 1.8%	6 10.7%	27 48.2%	22 39.3%	56	4.3
Q9	My instructor encourages me to do my best work.	0	0	3 5.5%	27 49.1%	25 45.5%	55	4.4
Q10	My instructor provides timely feedback to guide my progress.	1 1.8%	12 21.1%	14 24.6%	20 35.1%	10 17.5%	57	3.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	6 10.5%	27 47.4%	24 42.1%	57	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 1.8%	3 5.3%	30 52.6%	23 40.4%	57	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	6 10.7%	29 51.8%	21 37.5%	56	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 1.8%	5 8.8%	30 52.6%	21 36.8%	57	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				LAW	Survey Comparisons							
Labs and Online Learning Questions			R	esponses	(%)		С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	1 3.8%	6 23.1%	14 53.8%	5 19.2%	26	3.9	29	3.9	25	
Q16	The course topics are organized in a coherent fashion.	1 2.9%	4 11.4%	7 20%	19 54.3%	4 11.4%	35	3.6	44	3.7	25	

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)

Course:	LAW - 7100 501 - Fundamentals of Being A Lawyer	Department:	LawSchool
Responsible Faculty:	Melissa Shultz	Responses / Expected:	18 / 42 (42.86%)

	Forders Occasion				Melissa (	Shultz		
Coui	se Evaluation Questions			Respon	ıses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 5.6%	11 61.1%	6 33.3%	18	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 5.6%	10 55.6%	7 38.9%	18	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	12 66.7%	6 33.3%	18	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 5.6%	12 66.7%	5 27.8%	18	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 11.1%	8 44.4%	8 44.4%	18	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	5 27.8%	9 50%	4 22.2%	18	3.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	6 33.3%	12 66.7%	18	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 5.6%	6 33.3%	11 61.1%	18	4.6
Q9	My instructor encourages me to do my best work.	0	0	1 5.6%	6 33.3%	11 61.1%	18	4.6
Q10	My instructor provides timely feedback to guide my progress.	0	0	3 17.6%	9 52.9%	5 29.4%	17	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	8 44.4%	10 55.6%	18	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 11.1%	7 38.9%	9 50%	18	4.4
Q13	My instructor encourages me to develop new viewpoints.	0	0	4 22.2%	6 33.3%	8 44.4%	18	4.2
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 5.6%	8 44.4%	9 50%	18	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					LAW - 7	100 - 501	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	29	3.9	75
Q1	The course topics are organized in a coherent fashion.	0	0	0	7 77.8%	2 22.2%	9	4.2	44	3.7	75

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5
Pct Rnk: Percentile Rank (100 is best, calculated vs. precise Mean)